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Seat
No.

M.Com. (Semester — I) Examination, 2013
Advanced Accounting and Taxation
Special Paper — I
INCOME TAX
(Group — A)

(2008 Pattern)

Time : 3 Hours Max. Marks : 100

1.

Instructions: 1) All questions arecompulsory.

2) Figures to the right indicate full marks.
3) Read questions very carefully before attempting the same.
4) Use of calculator is allowed.

Answer any two of the following : 15

a) State any five special allowances exempt U/S 10(14).

b) What s the difference between capital expenditure and revenue expenditure ?

c) What are the provisions relating to Tax Audit U/S 44 AB ?

d) Deductions from Net Annual Value U/S 24.

2. Write short notes (any three) : 15

a) Previous year and assessment year

b) Assessee

c) Cost of improvement and indexed cost of improvement

d) Gross total income

e) Depreciation allowable U/S 32 of Income Tax Act, 1961.

P.T.O.



[4370] — 104 2- 00 O R

3. Mr. Z (age 58 years), an employee of a private sector transport company,
based at Pune and covered by the Payment of Gratuity Act, retires on
December 31, 2012 after service of 33 years and 7 months. 16
At the time of retirement, his employer pays Rs. 19,61,530 as gratuity and
Rs. 5,00,000 as accumulated balance of recognised provident fund. He is also
entitled for a monthly pension of Rs. 7,000. He gets 70% of pension commuted
for Rs. 2,10,000 on February 1, 2013. Determine the taxable income and tax
liability for the Assessment year 2013-14 with the help of the following information :
Basic salary Rs. 7,20,000 (Rs. 80,000%9)

Bonus Rs. 36,000

Special allowance Rs. 2,20,000

House rent allowance Rs. 1,17,000 (Rs. 13,000x9)

Rent paid by him Rs. 1,20,000 (Rs. 10,000x12)

Employer’s contribution towards RPF Rs. 1,10,000

Z's contribution towards RPF 1,20,000.

Payment of insurance premium on 315! March 2013 amounting to Rs. 11,000
Professional tax paid Rs. 2,000

Income from other sources Rs. 7,50,000

Salary and pension fall due on last day of each month. Z and his family members
can use deluxe buses operated by the employer company (value of the facility
enjoyed by X and family members during October, 2012 is Rs. 9,000 & a sum of
Rs. 3,000 is recovered from X).

4. Mr.Y (age : 40 years) is a businessman in Mumbai. Determine his net income
and tax liability on the following Profit & Loss Account for the year ending

March 31, 2013 : 16
Particulars Rs. Particulars Rs.
Opening stock 1,04,000 Sales 92,61,000
Purchases 80,07,750 Closing Stock 2,10,000
Salaries and wages 1,75,000

Rent and rates 1,31,000

Commission 21,500

Household expenses 22,000

Income Tax for 2012-13 36,100

Advertisement 5,000

Postage and telegram 4,000

Interest on own capital 85,000



Reserve for bad debts 3,400
Depreciation on furniture 18,000
Net profit 8,58,250

94,71,000

Other particulars :
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94,71,000

1) Closing stock & opening stock has consistently been valued at 10% below

cost price.

2) Depreciation on furniture as per tax provision is Rs. 17,200.

3) Household expenses include a contribution of Rs. 1,000 towards public

Provident Fund.

4) On September 20, 2012, Y has received a gift of Rs. 96,000 from a friend

settled in U.K.

5) He paid medical insurance of Rs. 10,000 by an account payee cheque.

5. S owns three houses, which are situated in three different cities. All the houses
are meant for self-occupation of the assessee. The particulars of the houses

are as under :

Particulars House A
4
Municipal valuation 1,50,000
Fair rent 2,10,000
Standard rent 1,95,000
Municipal taxes paid 45,000

Interest on money borrowed
for purchase of house 50,000
Ground rent 10,000

Land revenue due —

House B

4
1,80,000

2,25,000
2,40,000

30,000

30,000

10,000

House C

4
2,10,000

2,40,000
2,25,000

1,20,000

25,000

12,000

16

Compute the income under the head House Property by making assumption in
such a manner that the tax liability of R is minimum.
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6. A) R owns many properties in India. He sold some of these during the previous

B)

year 1-4-2012 to 31-3-2013: 10

1) House at New Delhi : Let out for residential purposes. It was inherited by
him in 1964. Sale price on 31-10-2012 Rs. 12,00,000. Fair market value
onl-4-1981Rs.1,20,000. Cost of improvement made during 1989-90
Rs. 40,000. Expenses on transfer are Rs. 30,000.

2) Self cultivated land in an urban area was sold for Rs. 10,50,000 on
4-1-2013 andits costin 1982-83 was Rs. 90,000. He purchased a new
piece of land for his own cultivation for Rs. 2,60,000 in June, 2013. From
the above particulars, compute total income assuming that he has no
other income except these. Cost inflation index are : 1982-83 — 109,
1989-90 - 172, 1996-97 — 305, 2012-13 — 850 (assumed).

The following are the particulars of income of M as determined by the
Assessing Officer. Compute his total income for the assessment year 2013-14.
Brought forward losses of the assessment year 2012-13 12
Rs.

Loss from speculation business 1,40,000
Unabsorbed depreciation 14,000
Details of income for A.Y. 2013-14

Profit from speculation in commodities 2,80,000
Loss of hardware business 38,000

Profit from business of paints (before charging depreciation of Rs. 1,50,000) 84,000
Profit from business of tyres 2,24,000
Income from house property 38,000

B/1/13/1960
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Seat
No.
M.Com. (Semester — I) Examination 2013
BUSINESS PRACTICES AND ENVIRONMENT
Special Paper — |
Organised Trade and Markets
(Group — C)
(2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions :1) Allquestions arecompulsory.
2) Figures to the right indicate full marks.
1. Explain the regulations and role of Securities Exchange Board of India (SEBI). 20
OR
1. Explain in detail the role and importance of service sector in India. 20

2. Define “Regulated Markets”. Explain the role and importance of Regulated Markets. 20
OR
2. Explainthe term “Business”. State and explain the nature and scope of Business
in the modern context. 20

3. Explain the concept of state trading. Explain in detail the Arguments for and

against state trading. 20
OR
3. What is co-operative marketing ? Explain the objectives and importance of
co-operative marketing. 20
4. Explain the meaning and importance of forward markets. 20
OR
4. Explainthe role of food corporation of India bringing out its importance. 20
5. Write short notes (any two) : 20

a) Credit policies of Business
b) Stock Exchanges in India
c) Working of co-operative marketing

d) Produce exchanges in India.
P.T.O.
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Seat
No.

M.Com. (Semester — I) Examination, 2013
Business Practices and Environment (Special Paper — Il) (Group — C)
BUSINESS ENVIRONMENT AND POLICY
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.
1. What s business environment ? Explain the nature and scope of environment.
OR
1. What is business environment ? Write a detail note on international business
environment.
2. What is an environment ? State the natural and social aspects of environment.
OR
2. Define the term environment. How does legal environment influence business
decisions ?
3. Explain in detail the business environment before independence in India.
OR
3. State profile and growth of Indian economy.

4. A) What is parallel economy ? Explain the features of parallel economy.

B) Define the term inflation. Explain the causes of inflation.

5. Write short notes (any two) :
a) Impact of globalization on business environment.
b) Causes of regional imbalance.
c) Various measures for controlling the water pollution.

d) Problems of pollution.

P.T.O.
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Seat
No.
M.Com. (Semester — I) Examination 2013
BUSINESS ADMINISTRATION
(Special Paper — I) (Group — D)
Production and Operations Management
(2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions :1) Allquestions arecompulsory.
2) All questions carry equal marks.

1. What do you mean by Production Management ? Discuss various types of
Production Systems.
OR
State the meaning and importance of Product Design. Explain the various factors
affecting on Product Design.
2. Define the term “Production Planning”. Explain the objectives and importance of
“Production Planning”.
OR
What is Materials Management ? Explain the scope and functions of Materials
Management in todays Globalization.
3. State the meaning, importance and scope of Logistic Management in Indian
Industries.
OR
Define the term “Productivity”. Explain its importance. State the role of the
“National Productivity Council”.
4. What is Inventory Control ? State its objectives and importance in Materials
Management.
OR
Write Notes :
a) Techniques of Product Development.
b) Quality Control in Materials Management.
5. Write short notes (any two) : 20
a) Plant Lay-out
b) Purchase Procedure
c) Factors affecting Production Control
d) Importance of Operations Management
e) Materials Handling
f) 1SO 9000.

P.T.O.



[4370] - 109 N E DA A

ST TUTR

AT : ¢) Td 7 GIslav HTavIes 378,
?) @& JIHIT THIT IO e,

9. IcqTe SYTEITIH TUIS i ¢ Icdted guredt=an fafaer ugdi=h ==t #u.
fera
FEGLEET 319 F HE |, FEgla-er TommeRm fafay e Tose .

N N

2. 3T TR I w=h STt . 3cted e 3fee STl Aewe T .
fFar
I SFTEIATIH T80 1T ¢ 3TST=AT STk [ 0TTd ST &= =Ted] o
HT T H.

3. IR ST AlSEdsh ST 31, Aew o ATl |7,
feRan
IqTEehd] Aehed-= STl W foe 7ewe Tve 0. UG IcTeehdl Heelr=
offtreRT .
¥, HTIT e U R ? ST SOt I Sl el 3fene 9 wew gL
femamn

ar fote

3) FEGforshrEre q5
&) ARl SR &Sl T

4, four faen (sroTeTE = m) R0
) azmta:n
|
) IcTed HeEueR gfungeRtm ek

) Tt
)
Z:,’) °h|<’»{‘4o,§\(‘ll °¢|°I{'¥{Ibl~'ll‘¢| Ho
)
)

3) 9HUl BdTesvit
F) I TH 37T Rooo.

B/1/13/1,230



VYO [4370] — 111

Seat
No.
M.Com. (Semester — I) Examination, 2013
COMMERCIAL LAWS AND PRACTICES
Special Paper — |
Information System and E-Commerce Practices
(Group — E)
(2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.
1. Define E-Commerce. State the scope and limitations of E-Commerce.
OR
1. What do you mean by Internet Advertising ? State the benefits and limitations of
Internet Advertising.
2. Whatis Global Information System ? State the benefits of Global Information System.
OR

2. What s Intranet ? Distinguish between Internet and Extranet.

3. Define Supply Chain Management. Explain value chains in E-Commerce.
OR

3. Define Portal. State the features of Portal.

4. Write notes on :
a) B2B Modules.
b) Electronic fund transfer.
OR

4. Write notes on :
a) Advantages of Proxy Gateways.

b) Electronic Certificate.
P.T.O.
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5. Write short notes on (any four) :
a) Technical limitations of E-Commerce.

b) Electronic catalogs.
c) Benefits of Electronic Data Inter change.
d) Components of Internet.
e) Electronic debit and credit cards.
f) EDI gateways.
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — 1) Examination, 2013
105 : OPERATING SYSTEMS

Time : 3 Hours Max. Marks : 80

Instructions : 1) Allquestions are compulsory.
2) Neat diagrams must be drawnwhenever necessary.

1. Attemptany four of the following : (4x4=16)
a) What is Scheduler ? Explain short-term Scheduler in details.

b) Give the diagrammatic representation of two-level directory. Also list out the
disadvantages of two-level directory structure.

c) Explain necessary condition of deadlock to occur.
d) Explain multilevel feedback queues algorithm.

e) List the advantages of multiprocessor system.

2. Attemptany four of the following : (4x4=16)
a) List the reasons to switch over CPU from old process to new process.
b) Explain Dinning philosopher’s problem of process synchronization.
c) Listthe methods of implementing the page table. Explain any one in detail.
d) Explain Belady’s Anomaly with example.

e) Explain free space management method.

3. Attemptany four of the following : (4%4=16)
a) Write the steps to calculate physical address from logical address.
b) Explainin detail M.V.T. Job Scheduling.

c) Explain Swapping of two processes using disk as a backing store with diagram.
P.T.O.
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d) Calculate Average Turn around Time and Average Waiting Time for all set of
processes using pre-emptive Priority and FCFS Algorithm.

Process Burst Time Arrival Time Priority
P, 5 3 3
P, 8 2 2
P, 3 0 4
P, 2 1 1(high)

e) Listadvantages and disadvantages of Contiguous allocation method.

4. Attemptany four of the following : (4%4=16)
a) Compare Pre-emptive and Non-pre-emptive Scheduling.
b) What will happen if all processes are I/O bound in system ?
c) What do you mean by Processor Share in case of Round-Robin Scheduling ?
d) Explain the concept of valid and invalid bit in a page table with diagram ?

e) Consider the following page reference string :
2,6,3,7,2,3,4,5,1,2,3,4,5,6

The number of frames is 3. Show page trace and calculate page faults for the
following page replacement schemes :

i) MFU
i) LRU
5. Attemptany four of the following : (4%4=16)
a) Explain Deadlock avoidance in detail.
b) List and explain different types of system call related Device Manipulation.

c) Explain DMA (Direct Memory Access) with the help of block diagram.
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d) Consider the following snapshot of a system :

Process Allocation Max Available

ABCD ABCD ABCD

Py 0012 0012 1100
P, 1420 1750
P, 1354 2356
P, 0632 0652
P, 0014 0656

Answer the following questions using Banker’s algorithms :
i) What is the content of Need Matrix ?
i) Is the system in a safe state ? If yes, give the safe sequence.
e) Explain the following terms :
i) Seek Time in Disk Scheduling
i) Race Condition
i) Interrupt
iv) Page Fault

B/1/13/590
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Seat
No.
M.Com. (Semester — II) Examination, 2013
ADVANCED ACCOUNTING AND TAXATION
(Special Paper — llI)
Specialised Areas in Accounting
(Group — A) (2008 Pattern)
Time : 3 Hours Max. Marks :100

Instructions: I) Allquestions arecompulsory.
[1) Figures to the right indicate full marks.

[1) Use of pocket calculator is allowed.

1. What do you mean by Service Tax ? Explain objectives and procedure for

payment of service tax as per Service Tax Act. 20
OR
Write short notes (any four) : 20

a) Value Added Tax (VAT)

b) Advance Payment of Income Tax
c) Hospital Accounting

d) Demerger

e) Mutual Funds

f) Excise Duty.

2. The following is the Trial Balance of Sudarshan Construction Company,
Mumbai, engaged on the execution of Contract No. 101, for the year

ended 315t Dec., 2012 20
Rs. Rs.
Contractees Account— Amt. Received — 3,00,000
Building 1,60,000 -
Creditors — 72,000
Bank Balance 35,000 —
Capital Account — 5,00,000
Materials 2,00,000 -
Wages 1,80,000 —
Expenses 47,000 —
Plant 2,50,000 -
Total 8,72,000 8,72,000

P.T.O.
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The work on Contract No.101 was commenced on 15t Jan., 2012, Material
costing Rs. 1,70,000/- were sent to the site of the contract but those of
Rs. 6,000/- were destroyed in an accident. Wages of Rs.1,80,000/- were paid
during the year, plant costing Rs. 50,000/- was used on the contract all through
the year, plant with a cost of Rs. 2,00,000/- was used from 15t January to 30
Sept., and was then returned to the stores. Materials of cost of Rs. 4,000/- were
at site on 315t December, 2012.

The contract was for Rs. 6,00,000/- and the contractee pays 75% of the work
certified. Work certified was 80% of the total contract work at the end of 2012.
Uncertified work was estimated at Rs. 15,000/- on 315t Dec., 2012.

Expenses are charged to the contract at 25% of wages. Plant is to be depreciated
at 10% for the entire year.

Prepare Contract No. 101 Account for the year 2012 and make out the Balance
Sheet as on 315t Dec., 2012 in the books of company.

3. Following is the Balance Sheet of Gajanan Ltd. as on 315t March, 2013. 20
Liabilities Amt. Rs. Assets Amt. Rs.
Share Capital : Goodwill 4,00,000
20,000 equity shares of Land and Building 15,60,000
Rs. 100/ each fully paid. 20,00,000 Plantand machinery 14,00,000
Reserve fund 5,00,000 Patentrights 3,50,000

Sinking fund 1,00,000 Stock 2,00,000
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Workmen’s Accident Sundry Debtors 4,00,000
Compensation fund Investments against
(Estimated Liab. Rs. 9,000/-) 50,000 sinking fund 1,00,000
Employees profit sharing fund  1,00,000 Cash at Bank 30,000
Staff provident fund 1,50,000
Sundry creditors 1,40,000
A’s Debentures 4,00,000
B’s Debentures 10,00,000
Total 44,40,000 Total 44,40,000

Laxmi Ltd, absorbed Gajanan Ltd. on the date of its above Balance Sheet, the
consideration being

a) The taking over of the liabilities.

b) The payment of cost of absorption (as part of purchase consideration) not
exceeding Rs. 8,000/-.

c) The repayment of ‘B’ Debentures at a premium of 5% in cash.

d) The discharge of A’'s Debentures at a premium of 10% by the issue of 6%
debentures in Laxmi Ltd. at par.

e) A payment of Rs. 15/- per share in cash.

f) Allotment of one 7% preference share of Rs. 100/- each fully paid and five
equity shares of Rs. 100/- each fully paid for every four equity shares in
Gajanan Ltd. The actual cost of absorption came to Rs. 10,000/-. Stock of
Gajanan Ltd. includes goods value at Rs. 56,000/- purchased from Laxmi Ltd.
which company invoices goods at cost plus 1623%. The creditors include
Rs. 80,000/- due by Gajanan Ltd. to Laxmi Ltd. The directors of Laxmi Ltd.
decided to create provision of 5% on Sundry Debtors against doubtful debts.
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You are required to :
1) Prepare
a) Realisation Account
b) Laxmi Ltd. A/c
c) Shareholders A/c
in the books of Gajanan Ltd. and

2) Pass Journal Entries in the books of Laxmi Ltd.

4. Following is the Trial Balance of Hotel Sagar, Pune, as on 315t Dec., 2012. You
are required to prepare the Profit and Loss Account for the year ended on
31-12-2012, and the Balance Sheet as on that date :

Trial Balance as on 315t Dec., 2012 20

Debit Balance Rs. Credit Balance Rs.
Stock 25,000 Capital 6,00,000
Sundry Debtors 25,000 Room charges 2,85,000
Cashin Hand 50,000 Food and Beverages 2,15,000
Kitchen appliances 60,000 DiscountReceived 5,000
Salary and Wages 50,000  Sundry Creditors 15,000
Utensils 1,10,000  Sundry Receipts 94,000
Purchases 1,75,000 Bank Interest 10,000
Repairs and Renewals 4,000

Telephone Bills 7,000

Furniture 1,75,000
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Printing and stationery 10,000

Power and Fuel 15,000
Advertisement 15,000
Drawings 25,000
Bad Debts 5,000
Buildings 1,70,000
Rates 3,000
Motor Car 2,00,000
Investments 1,00,000
Total 12,24,000 Total 12,24,000

Prepare the Final Accounts after considering the adjustments given below :

Adjustments::

1) A sum of Rs. 10,000/- representing room charges, Rs. 7,500/-, Food and
Beverages Rs. 2,500/- to be charged to proprietor of the hotel.

2) A Depreciation is to be provided on

Building @ 10%

Motor car @ 15%

Furniture @ 5% and

Kitchen appliances @ 20%.
3) Salaries and wages are outstanding Rs. 2,000/-.
4) The purchase of Rs. 5,000/- remained unrecorded.

5) Utensils of Rs. 5,000/- are to be written off.
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5. From the following Trial Balance and necessary information of Abhinav Education

Society as at 315t December, 2012, prepare an Income and Expenditure Account
and Balance Sheet as on that date : 20

Trial Balance

Name of the Account Debit Bal. Credit Bal.
Building 5,00,000 -
Furniture and fittings 2,00,000 -
Purchases of furniture on 1/7/2012 25,000 —
Library Books 50,000 -
Sundry Debtors and Creditors 25,000 20,000
Investments 1,00,000 -
Admission fees — 2,00,000
Exam. fees — 50,000
Certificate fees — 10,000
Subscriptions of journals 5,000 —
Printing and stationery 10,000 -
Rent of Society Hall 25,000
Examination expenses 10,000 -
Expenses of prizes awarded 25,000 -
Interest on investments - 10,000

Sundry Receipts - 15,000
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Staff salaries and wages 3,00,000 —
Taxes 25,000 -
Donations (to be capitalised) - 1,50,000
General Expenses 15,000 -
Capital Fund - 4,50,000
Subscriptions — 3,00,000
Govt. Grants - 1,00,000
Cash at Bank 30,000 —
CashinHand 10,000 —

Total 13,30,000 13,30,000

Additional information :

1) Subscription due Rs. 75,000/-

2) Subscription received in advance Rs. 25,000/-

3) Rent of society’s hall Rs. 10,000/- is yet to be received

4) Interest on investments due but not received yet Rs. 15,000/-

5) Provide depreciation on Building @ 10%, Furniture and Fitting @ 15% and
Library books @ 20%.

B/1/13/3,940
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Seat
No.
M.Com. (Semester — II) Examination, 2013
ADVANCED ACCOUNTING AND TAXATION
(Special Paper — llI)
Specialised Areas in Accounting
(Group — A) (2008 Pattern)
Time : 3 Hours Max. Marks :100

Instructions: I) Allquestions arecompulsory.
[1) Figures to the right indicate full marks.

[1) Use of pocket calculator is allowed.

1. What do you mean by Service Tax ? Explain objectives and procedure for

payment of service tax as per Service Tax Act. 20
OR
Write short notes (any four) : 20

a) Value Added Tax (VAT)

b) Advance Payment of Income Tax
c) Hospital Accounting

d) Demerger

e) Mutual Funds

f) Excise Duty.

2. The following is the Trial Balance of Sudarshan Construction Company,
Mumbai, engaged on the execution of Contract No. 101, for the year

ended 315t Dec., 2012 20
Rs. Rs.
Contractees Account— Amt. Received — 3,00,000
Building 1,60,000 -
Creditors — 72,000
Bank Balance 35,000 —
Capital Account — 5,00,000
Materials 2,00,000 -
Wages 1,80,000 —
Expenses 47,000 —
Plant 2,50,000 -
Total 8,72,000 8,72,000

P.T.O.
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The work on Contract No.101 was commenced on 15t Jan., 2012, Material
costing Rs. 1,70,000/- were sent to the site of the contract but those of
Rs. 6,000/- were destroyed in an accident. Wages of Rs.1,80,000/- were paid
during the year, plant costing Rs. 50,000/- was used on the contract all through
the year, plant with a cost of Rs. 2,00,000/- was used from 15t January to 30
Sept., and was then returned to the stores. Materials of cost of Rs. 4,000/- were
at site on 315t December, 2012.

The contract was for Rs. 6,00,000/- and the contractee pays 75% of the work
certified. Work certified was 80% of the total contract work at the end of 2012.
Uncertified work was estimated at Rs. 15,000/- on 315t Dec., 2012.

Expenses are charged to the contract at 25% of wages. Plant is to be depreciated
at 10% for the entire year.

Prepare Contract No. 101 Account for the year 2012 and make out the Balance
Sheet as on 315t Dec., 2012 in the books of company.

3. Following is the Balance Sheet of Gajanan Ltd. as on 315t March, 2013. 20
Liabilities Amt. Rs. Assets Amt. Rs.
Share Capital : Goodwill 4,00,000
20,000 equity shares of Land and Building 15,60,000
Rs. 100/ each fully paid. 20,00,000 Plantand machinery 14,00,000
Reserve fund 5,00,000 Patentrights 3,50,000

Sinking fund 1,00,000 Stock 2,00,000
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Workmen’s Accident Sundry Debtors 4,00,000
Compensation fund Investments against
(Estimated Liab. Rs. 9,000/-) 50,000 sinking fund 1,00,000
Employees profit sharing fund  1,00,000 Cash at Bank 30,000
Staff provident fund 1,50,000
Sundry creditors 1,40,000
A’s Debentures 4,00,000
B’s Debentures 10,00,000
Total 44,40,000 Total 44,40,000

Laxmi Ltd, absorbed Gajanan Ltd. on the date of its above Balance Sheet, the
consideration being

a) The taking over of the liabilities.

b) The payment of cost of absorption (as part of purchase consideration) not
exceeding Rs. 8,000/-.

c) The repayment of ‘B’ Debentures at a premium of 5% in cash.

d) The discharge of A’'s Debentures at a premium of 10% by the issue of 6%
debentures in Laxmi Ltd. at par.

e) A payment of Rs. 15/- per share in cash.

f) Allotment of one 7% preference share of Rs. 100/- each fully paid and five
equity shares of Rs. 100/- each fully paid for every four equity shares in
Gajanan Ltd. The actual cost of absorption came to Rs. 10,000/-. Stock of
Gajanan Ltd. includes goods value at Rs. 56,000/- purchased from Laxmi Ltd.
which company invoices goods at cost plus 1623%. The creditors include
Rs. 80,000/- due by Gajanan Ltd. to Laxmi Ltd. The directors of Laxmi Ltd.
decided to create provision of 5% on Sundry Debtors against doubtful debts.
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You are required to :
1) Prepare
a) Realisation Account
b) Laxmi Ltd. A/c
c) Shareholders A/c
in the books of Gajanan Ltd. and

2) Pass Journal Entries in the books of Laxmi Ltd.

4. Following is the Trial Balance of Hotel Sagar, Pune, as on 315t Dec., 2012. You
are required to prepare the Profit and Loss Account for the year ended on
31-12-2012, and the Balance Sheet as on that date :

Trial Balance as on 315t Dec., 2012 20

Debit Balance Rs. Credit Balance Rs.
Stock 25,000 Capital 6,00,000
Sundry Debtors 25,000 Room charges 2,85,000
Cashin Hand 50,000 Food and Beverages 2,15,000
Kitchen appliances 60,000 DiscountReceived 5,000
Salary and Wages 50,000  Sundry Creditors 15,000
Utensils 1,10,000  Sundry Receipts 94,000
Purchases 1,75,000 Bank Interest 10,000
Repairs and Renewals 4,000

Telephone Bills 7,000

Furniture 1,75,000
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Printing and stationery 10,000

Power and Fuel 15,000
Advertisement 15,000
Drawings 25,000
Bad Debts 5,000
Buildings 1,70,000
Rates 3,000
Motor Car 2,00,000
Investments 1,00,000
Total 12,24,000 Total 12,24,000

Prepare the Final Accounts after considering the adjustments given below :

Adjustments::

1) A sum of Rs. 10,000/- representing room charges, Rs. 7,500/-, Food and
Beverages Rs. 2,500/- to be charged to proprietor of the hotel.

2) A Depreciation is to be provided on

Building @ 10%

Motor car @ 15%

Furniture @ 5% and

Kitchen appliances @ 20%.
3) Salaries and wages are outstanding Rs. 2,000/-.
4) The purchase of Rs. 5,000/- remained unrecorded.

5) Utensils of Rs. 5,000/- are to be written off.
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5. From the following Trial Balance and necessary information of Abhinav Education

Society as at 315t December, 2012, prepare an Income and Expenditure Account
and Balance Sheet as on that date : 20

Trial Balance

Name of the Account Debit Bal. Credit Bal.
Building 5,00,000 -
Furniture and fittings 2,00,000 -
Purchases of furniture on 1/7/2012 25,000 —
Library Books 50,000 -
Sundry Debtors and Creditors 25,000 20,000
Investments 1,00,000 -
Admission fees — 2,00,000
Exam. fees — 50,000
Certificate fees — 10,000
Subscriptions of journals 5,000 —
Printing and stationery 10,000 -
Rent of Society Hall 25,000
Examination expenses 10,000 -
Expenses of prizes awarded 25,000 -
Interest on investments - 10,000

Sundry Receipts - 15,000
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Staff salaries and wages 3,00,000 —
Taxes 25,000 -
Donations (to be capitalised) - 1,50,000
General Expenses 15,000 -
Capital Fund - 4,50,000
Subscriptions — 3,00,000
Govt. Grants - 1,00,000
Cash at Bank 30,000 —
CashinHand 10,000 —

Total 13,30,000 13,30,000

Additional information :

1) Subscription due Rs. 75,000/-

2) Subscription received in advance Rs. 25,000/-

3) Rent of society’s hall Rs. 10,000/- is yet to be received

4) Interest on investments due but not received yet Rs. 15,000/-

5) Provide depreciation on Building @ 10%, Furniture and Fitting @ 15% and
Library books @ 20%.

B/1/13/3,940
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Seat
No.

M.Com. (Semester — II) Examination, 2013
CO-OPERATION AND RURAL DEVELOPMENT (Special Paper — V)
Management of Co-operative Business
(Group — F) (2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) Allquestions arecompulsory.
2) All questions carry equal marks.

Which parameters used for performance evaluation of co-operative business ?

OR
Explain the importance of economic and commercial viability of co-operative
institutions.

Describe the business policies followed by ‘Primary Agricultural Credit
Co-operative societies.

OR

Explain the role of District Central Co-operative Banks in agricultural development
of Maharashtra.

Explain advantages and limitations of Housing Co-operative Institutions.

OR
Describe the role of Marketing Co-operatives in the marketing of agricultural
products.

Briefly explain success story of Warana Co-operative Institutions, Warananagar.
OR

Explain the role of Pravara Co-operative Institutions in the development of
Pravara area.

Write short notes (any two) :

a) Problems of Dairy Co-operatives.

b) Role of Co-operative Department in the administration of Co-operative
Institutions.

c) Sugar Co-operative industries.
d) Industrial relations in Co-operative business.

P.T.O.
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Seat
No.
M.Com. (Semester — Il) Examination, 2013
RESEARCH METHODOLOGY FOR BUSINESS
(Old)
Time : 3 Hours Max. Marks : 100
Instructions: 1) Allquestions arecompulsory.
2) All questions carry equal marks.
1. Explain in detail the steps followed while formulating Research Plan.
OR
1. Explain the sources used for collecting business information and data, with its
suitable examples.
2. a) State the advantages and limitations of computerized information in Research
Process.
b) State in brief various statistical techniques used for analysis of data.
OR
2. Describe in brief the different types of Research.
3. Evaluate Case Study as a method of solution provider to business problems
and discuss the various types of cases.
OR
3. Explain in detail the structure of a Research Report.
4. Explain in detail the research problems in finance and manufacturing areas.
OR
4. a) State the advantages and limitations of ‘Questionnaire’ as a method of data

collection.

b) Describe the merits and demerits of secondary sources of data.
P.T.O.
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5. Write short notes (any four) :

a) Importance of Index

b) Purpose of Business Research

c) Role of Reference Library

d) Action Research

e) Total Business Planning

f) Dictionaries.
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — II) Examination, 2013
204 : ACCOUNTING FOR MANAGEMENT

Time : 3 Hours Max. Marks : 80

Instructions : 1) Allquestionsare compulsory.
2) All questions carry equal marks.
3) Use of calculator is allowed.

1. Define the term mangement accounting. State the advantages and limitations of
management accounting.
OR

1. What is financial statements ? Explain the various objectives of analysis of
financial statements.

2. From the information given below, calculate the following ratios :
a) Current Ratio
b) Quick Ratio
c) Stock Turnover Ratio
d) Debt-Equity Ratio
e) Return on Investment.

Information : Current Assets Rs. 5,00,000; Opening Stock Rs. 50,000; Closing
Stock Rs. 1,50,000; Cost of Goods Sold Rs. 12,00,000; Gross Profit Rs. 2,00,000;
Indirect Expenses Rs. 20,000; Equity Share Capital Rs. 7,00,000; 10% Preference
Share Capital Rs. 3,00,000; 12% Debentures Rs. 2,00,000; Current Liabilities
Rs. 2,00,000; General Reserve Rs. 1,00,000.

OR

2. What do you mean by ratio analysis ? State the advantages and limitations of

ratio analysis.
P.T.O.
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3. The following are the summarised of the Balance Sheet of SMS Limited for two

years.
31/03/2011 31-03-2012
Rs. Rs.

Share Capital 2,00,000 2,60,000
Profit and Loss Account 39,690 41,220
Reserves 50,000 50,000
Sundry Creditors 39,500 41,135
Bills Payable 33,780 11,525
Bank Overdraft 59,510 —
Provision for Taxation 40,000 50,000
Total Rs. 4,62,480 4,53,880
Goodwill - 20,000
Land and Building 1,13,450 1,16,200
Plant and Machinery 1,48,000 1,44,250
Stocks 1,11,040 97,370
Sundry Debtors 85,175 72,625
Bills Receivable 2,315 735
Cash 2,500 2,700
Total Rs. 4,62,480 4,53,880

You are required to prepare Statement of Changes on Working Capital, treating
provision for taxation as a current liability. Also prepare a Funds Flow Statement.

OR

3. Whatis fund flow statement ? Explain the difference between fund flow analysis
and cash flow analysis.

4. You are given the following data :
Year Sales Profit
2011 Rs. 1,20,000 Rs. 8,000
2012 Rs. 1,40,000 Rs. 13,000
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Find out :
a) P/V Ratio
b) B.E. Point
c) Profitwhen sales are Rs. 1,80,000
d) Sales required to earn a profit of Rs. 12,000
e) Margin of safety in year 2012.
OR

4. The following data relate to Noteshop Limited :

The financial manager has made the following sales forecasts for the first five
months of the coming year, commencing from 15t January, 2013 :

Month Sales (Rs.)
January 40,000
February 45,000
March 55,000
April 60,000
May 50,000

Other data :

a) Debtors’ and Creditors’ balance at the beginning of the year are Rs. 30,000
and Rs. 14,000 respectively. The balance of other relevant assets and liabilities

are:
Cash balance Rs. 7,500
Stock Rs. 51,000

Accrued Sales Commission Rs. 3,500
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b) 40% sales are on cash basis. Credit sales are collected in the month following
the sale.

c) Cost of sales in 60% on sales.

d) The only other variable cost is a 5% commission to sales agents. The sales
commission is paid in a month after it is earned.

e) Stock is kept equal to sales requirements for the next two month budgeted
sales.

f) Trade creditors are paid in the following month after purchases.
g) Fixed costs are Rs. 5,000 per month including Rs. 2,000 depreciation.

You are required to prepare a cash budget for the months of January, February
and March, 2013 respectively.

5. Write short notes (any two) :
a) Technigues of management accounting.
b) Trend analysis.
c) Application of marginal costing in decision-making.

d) Scope of budgetary control.

B/1/13/1,385
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M.C.A. (Commerce Faculty) (Semester — II) Examination, 2013

205 : NETWORKING OPERATIONS

Time : 3 Hours

1) Attempt the following (any four) :

a) Compare server Based LAN and Peer LAN.

Max. Marks : 80

(4x4=16)

b) Explain services provided by physical layer in ISO/OSI Model.

c) Explain Basic Service Set.
d) Explain working of Token Ring in detail.

e) Explain architecture of WWW.

2) Write short notes (any four) :

a) Radio waves

b) Modes of Communication

c) SAP

d) Looping problems in bridges

e) Portaddressing

3. Answer the following (any four) :

a) Explain co-axial cable in detail.

b) Define hub. Explain working of Hub.
c) Compare Bridge and Router.

d) Explain components of firewall.

e) What are the objectives of Wired LAN ?

(4x4=16)

(4x4=16)

P.T.O.
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4. Answer the following (any four) : (4%4=16)

a) What is Computer Network ? What are its goals ?
b) Explain electromagnetic spectrum for wireless communication.
c) Explain Ring Topology with advantages and disadvantages.

d) What is NIC ? Explain components of NIC.

e) Explain 3-layer and 5-layer switches.

5. Answer the following (any one): 16

a) i) Define the terms: 8
1) Connectionless service
2) Two layer switch
3) Modem
4) DHCP
i) Explain TCP/IP protocol in detail. 8
OR
b) i) Comment on “Connectionless Networks are not reliable”.
i) Explain applications of Bluetooth.
i) What is Ethernet ? Explain IEEE 802.5 Ethernet architecture.

B/1/13/1,385
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — Il) Examination, 2013
206 : OBJECT ORIENTED PROGRAMMING

Time : 3 Hours Max. Marks : 80

Instructions: 1) Allquestions arecompulsory.
2) Figures to the right indicate full marks.
3) All questions carry equal marks.
4) Assume suitable data ifnecessary.

1. Attemptany four: (4x4=16)

a) Explain difference between c & C++.

b) “Java is platform independence” Justify.

c) How can we define member functions in C++ ? Explain with examples.
d) What is major difference between interface and classes ?

e) Explain different types of constructor in C++.

2. Attemptany four : (4%4=16)

a) What is implicit and explicit casting ? Explain with the reference of java.
b) What is array ? How it is used in C++ and Java ? Explain the difference.
c) Write a note on : i) super ii) final.

d) Explain polymorphismin C++.

e) List at least 4 features of C++ that are removed from Java.

3. Attemptany four: (4x4=16)

a) What is a difference between inline function and a normal function ?
b) What is destructor explain with example.
c) What do you mean by scope of variable ? Give example using C++ and java.

d) List the operators that are not overloaded in C++. Give reason why of at
least 2 operator ?

e) Write a note on friend function.

P.T.O.
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4. Attemptany four: (4x4=16)
a) Write a c++ program to accept n numbers and count prime numbers.

b) Write a java program to accept 5 strings. If a digit is entered then an user
defined exception “Error::Enter valid string” is thrown.

c) Create aclass string. Use overloading operator == to compare two strings.

d) Create a class time having data members hours and minutes, also define
constructors to assign objects and create friend function sum to add two
objects. Display sum by using display member function.

e) Write a program in Java to accept 5 elements in an array and display them
in descending order.

5. A) Trace output : (Consider three is no syntax error in given code) : (2x4=8)
a) Class Test

Public static void main (String args|[])

{
intm = 100;
int n = 300;
while (++m<--n)
System.out.printin(m);
}

}

What value is printed out, when executed ? Explain why.

b) #include<iostream.h>
using namespace std;
bool test=false;
int main()

bool test=true;
cout<<"test="<<test<<"\n";
cout<<"test="<<::test<<"\n";
return O;

What value is printed out, when executed ? Explain Why.
B) Attemptany two: (4%2=8)
a) Write a java program that displays the number of vowels in a given word.

b) Create an abstract class shape which consist area(). Create two classes
circle and Cylinder. Write a java program to calculate area() of both classes.

c) Write a C++ program to calculate Fibonacci series of a given number.

B/1/13/1,385
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Seat
No.

M.Com. (Semester — IIl) Examination, 2013

RESEARCH METHODOLOGY FOR BUSINESS (Compulsory Paper )

(2012 Pattern)

Time : 3 Hours Max. Marks :

Instructions: 1) Allquestions arecompulsory.
2) All questions carry equal marks.

A) Explain steps in Research Design / Plan.
B) Explain the types of Research.
OR

What is_ Business Information ? Describe various sources of Business
Information.

Write short notes (any four) :

a) Types of data base

b) Types of Questionnaire

c) Merits of sampling

d) Importance of Business Research

e) Use of Computers in Data Analysis and Business
f) Skills required for Action Research.

What is survey method and case study method ? Explain the types of survey.
OR
Write a detailed note on Evaluation of secondary sources.

A) What are the features of cases in Business Research ?

B) Explain the types of cases in Business Research.
OR
Explain the following points in Business Research Project.
a) Structure
b) Organising Evidence Information Data.

Write short notes (any four) :

a) Index

b) Methods of Tabulation

c) Sources of raw data

d) Research problems in sales and marketing
e) Research paper

f) Statistical data.

100

P.T.O.
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Seat
No.

M.Com. (Semester — IIl) Examination, 2013
Group — A : ADVANCED ACCOUNTING AND TAXATION
(Special Paper — V)

Advanced Auditing
(2008 Pattern)

Time : 3 Hours Max. Marks :100

Instructions: 1) Allquestions arecompulsory.
2) All questions carry equal marks.

Define an ‘Audit’. State various objects of an Audit. 20
OR

Discuss relationship between the Internal and External Audit.

Define Internal control. Explain its objectives and importance. 20
OR

Write notes on Divisible profit of a company.

State the qualification and disqualification of a Company Auditor. 20
OR

State the procedure for collection of Audit Evidence.

Distinguish between vouching and verification. How would you verify ? 20
A) Cash and Bank Balances
B) Debtors and Creditors.

OR

What are the Audit risks associated with Audit in computerised environment.
Write notes (any two) : 20
a) Audit programme

b) Audit of E-commerce Transactions
c) Corporate Governance

d) Buy-back of shares.

B/1/13/1,565
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Seat
No.
M.Com. (Semester — IIl) Examination, 2013
BUSINESS ADMINISTRATION
Special Paper — VI
Organizational Behaviour
(Group — D)
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

N.B.: 1) Allquestions arecompulsory.
i) All questions carry equal marks.
1. A) Describe in brief various attributes of personality.

B) State characteristics of organizational culture.
OR

Explain various models of organizational behaviour.

2. Describe the process of creating and maintaining organizational culture.
OR

Explain various types of motives.

3. A) State importance of job satisfaction.

B) Describe in brief the process of Impression Management.
OR

Explain the causes and effects of ‘stress’ and ‘conflicts’.

4. Explain in brief Maslow’s theory and Herzberg’s theory of Motivation.
OR

A) State in brief types of groups.
B) Describe the role and importance of Emotional Intelligence in the work place.

5. Write short notes on (any 4) :
1) Team building
i) Group cohesiveness
iii) Role of information technology in organization
Iv) Goals of organizational behaviour
v) Attitude change
vi) Types of conflict.

P.T.O.
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Seat
No.
M.Com. (Semester — IlIl) Examination, 2013
CO-OPERATION AND RURAL DEVELOPMENT
(Special Paper — V)
Co-operative Credit System
(2008 Pattern) (Group-F)
Time : 3 Hours Max. Marks : 100
N.B.: i) Allquestions arecompulsory.
i) All questions carry equal marks.
1. Define the term Credit. State the importance of Agricultural Credit in India.
OR
Explain in detail the need for Integration of Short Term, Medium Term and Long
Term Credit.
2. Describe in detail the structure of Credit Co-operatives.
OR
Critically evaluate the progress of Urban Co-operative Societies.
3. Explain the role of Primary Agriculture Credit Co-operative Societies. What are
their problems ?
OR
State the objectives and problems of State Co-operative Banks.
4. State the sources of Finance and Prospect of Regional Rural Banks. Describe
the performance of Regional Rural Banks.
OR
Critically evaluate the working and progress of District Central Co-operative
Banks in Maharashtra. Describe its functions.
5. Write short notes on (any two) :

a) Importance of Salary Earners Co-operative Credit Societies
b) Federal Credit Co-operatives

c) Objectives of Regional Rural Banks

d) Features of Credit.

P.T.O.
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Seat
No.

M.Com. (Semester — IlIl) Examination, 2013
CO-OPERATION AND RURAL DEVELOPMENT

Special Paper — VI
Co-operative Banking Systems
(Group — F) (2008 Pattern)

Time : 3 Hours Max. Marks : 100
Instructions: 1) Allquestions arecompulsory.
2) Figures to the right indicate full marks.

1. Explain the various types of advances to the priority sector. 20

OR
Explain the simple and legal measures for recovery of overdues. 20

2. Evaluate the role of National Federation of Agriculture and Rural Development

Banks. 20
OR
Evaluate the role of National Federation of State Co-operative Banks. 20
3. Explain the functions of the Maharashtra State Co-operative Bank. 20
OR
Examine the role of Maharashtra State Co-operative Bank in the development
of Co-operative Movement. 20
4. Assess NABARD's role in agriculture refinance. 20
OR
Explain RBI’s functions. 20
5. Write short notes (any two) : 20

a) Priority sector
b) IRDP
c) Organization of NABARD

d) Long Term measures for recovery of overdues. PT.0
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Seat
No.

Time : 3 Hours

M.Com. (Semester — IlI) Examination, 2013
Advanced Banking and Finance
(Special Paper — V)

FOREIGN EXCHANGE
(Group — G) (2008 Pattern)

Instructions:1) All questions are compulsory.
2) All questions carry equal marks.

Explain in detail the structure of the foreign exchange market. Who are the
participants in the foreign exchange market ?

OR
What are the tools used by Corporates to minimize the risks linked with Foreign
exchange transactions ?

Explain in detail the provisions of the FEMA Act. What are its benefits ?

OR
Explain the function and working of a Letter of Credit. What are the different
types of letters of credit ?

. What s the meaning of spot and forward transactions ? How does it benefit the

trader ? Explain with the help of an example.

OR
What are the different types of exchange rate systems ? How is the value of the
rupee decided under flexible exchange rate system ?

What is the Duty Drawback Scheme ? How does it benefit the exporter in
international trade ?

OR
What is the relation between inflation and exchange rate value of the domestic
country ? Explain the effect.

Write short notes (answer any two) :

a) Pre Shipment and Post Shipment Credit
b) Purchasing Power Parity

c) Supply of Foreign Exchange

d) Swap rate

e) Pegged Exchange Rate.

P.T.O.
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Seat
No.
M.Com. (Semester — Ill) Examination, 2013
ADVANCED BANKING AND FINANCE
Special Paper — VI
(Group — G) International Finance
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions : 1 Allquestions are compulsory.
2) All questions carry equal marks.

1. i) What are the reasons for International Banking ?
i) What are types of International Banking Offices ?
OR

1) i) What are Eurodollars ?

i) Explain its instruments of International Money Market.

2. Explain the following :
i) International debt and equity markets.
if) Euro Bonds and Floating Rate Notes.
OR

Write an explanatory note on :
1) American Depository Receipts

i) Global Depository Receipts.

3. i) What are the features of Gold Standard ?
i) Whatis Currency Pegging ?
OR

3. i) What are the features of Bretton Woods System ?

i) Explain the Floating Rate System of Exchange Rate. PTO.
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4. Explain the structure and operations of International Bank for Reconstruction
and Development (IBRD).

OR
4. i) What are the objectives of International Monetary Fund (IMF) ?
i) What are the functions of Bank for International Settlements (BIS) ?
5. Write notes (any two) :
a) Exchange Rate
b) Currency Convertibility
c) MIGA (Multilateral Investment Guarantee Agency)
d) Special Drawing Rights (SDRs).
TS ®UTR
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Seat
No.
M.Com. (Semester — Ill) Examination, 2013
INDUSTRIAL ECONOMICS (Old)
Time : 3 Hours Max. Marks : 100
N.B. : 1) All questions carry equal marks.
II) Allquestions are compulsory.
[1) Figures to the rightindicate full marks.
1. State and explain scope and importance of industrial economics. 20
OR
State and explain inter-relationship between industrial development and economic
development. 20
2. State and explain factors influencing on location of industries. 20
OR
What is industrial productivity ? Explain factors affecting industrial productivity.
20
3. State and explain progress and problems of small scale industries. 20
OR
State and explain role and problems of SpeciaL Economic Zone (SEZ). 20
4. State and explain causes of industrial imbalance in India. 20
OR
State and explain problems of public sector enterprises. 20
5. Write short notes (any two) : 20

a) Weber’s theory of Location.

b) Impact of industrialisation on Urbanisation.

¢) Impact of industrialisation on Empowerment.
d) Impact of industrialisation on Global Warming.

P.T.O.
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Seat
No.
M.Com. (Semester — Ill) Examination, 2013
BUSINESS STATISTICS (Old)
Time : 3 Hours Max. Marks : 100
N.B. : 1) Allquestions arecompulsory.
2) Figures to the right indicate full marks.
3) Use of statistical tables and calculator is allowed.
4) Symbols have theirusual meanings.
1. Attemptany four of the following : 20

a) Define the following terms :
a) Level of significance
b) Binomial distribution
c) Poisson distribution
d) Test of hypothesis
e) Probability distribution of discrete random variable

b) Explain the procedure of large sample test of population mean.
c) State inter-relationship between Binomial, Poisson and Normal Distribution.
d) Arandom variable X has following probability distribution :

X 0 1 2 3 4 5

P(X=x) 0.1 0.1 0.2 0.3 0.2 0.1

Find mean and variance of X.

e) The average number of trucks arriving on a day at a truck depot is known to
be 12. What is the probability that on a given day fewer than 9 trucks arrive
at this depot ? (Given e~ 12 = 0.0000086).

f) Arandom sample of 18 pairs of observations from a normal population gives
a correlation of 0.46. Is it likely that the variables in the population are
uncorrelated ?

(Use 5% L.O.S., given t; = 2.12, t,; = 2.11, t;g = 2.10).

P.T.O.
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2. Attemptany four of the following : 20

a) What do you mean by random variable ? Explain the difference between
discrete and continuous random variable with an illustration.

b) Arandom variable X has following probability distribution :

X 0 1 2 3 4 5
P(X=x) K 4K 5K 7K 2K K
Find
i) K
i) Pl<X<3)
i) P(X>2).

c) Explain process control and product control.

d) A group of 50 men and 60 women was asked to indicate their preference
between two brands of perfume revealed the following results :

Attribute Brand A | Brand B
Men 20 30
Women 10 50

Test the hypothesis that the performance for particular brand of perfume is
not related to sex, at 5% L.O.S.

2 2 2
Given X1 =3.81 x> =5.99, x3 =7.81,

e) A production department of a company knows from the past experience that
there is 30% chance of finding defect. If 10 units of the product are examined,
find probability that not more than 1 defective product is found.

f) Explain the concept of acceptance sampling.



VY 3 [4370] — 320

3. Attemptany four of the following :

a) The ability of breaks of two new types of cars was tested by driving the new
cars at the speed of 60 miles per hour and then applying the breaks. The
distances (in inches) required to stop the cars were noted. The result were

as follows :

Type of the car I Il

No. of cars tested 12 15
Mean distance (in inches) 7.8 9.6
S.D. of distance 2.2 35

Is the difference in their average distance significant ? Use 5% level of
significance.

(Given t,c = 2.06, t,5 = 2.056, t,, = 2.052)
b) Explain method of moving averages to measure trend in time series.
c) Explain the procedure of x? test for goodness of fit.
d) Find 5-yearly moving average for the following data on sales.

Year |2000 |01 |02 |03 |04 |05 06 [O7 |08 |09

Sales | 50 82 |65 |86 |70 |52 90 |65 |87 43

e) Explain working of single sampling plan.

f) Fit a trend line to the following data by least square method. Also obtain
production for the year 2005.

Year 1998 1999 2000 2001 2002

Production 12 20 28 32 50

4. Attemptany two of the following :
a) If X — N (100, 82), find
1) P (X>108)
i) P(X<110)
i) P (88 <X<108)
E (Y) and Var (Y), where Y =3X + 5.

b) 1)Suppose X — B (n, p)
i) IfE(X) =6, Var (X) =4.2,findnand p
i) If E(X) =10, n = 25, find p, Var (x) and SD of X.

20

20
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Iv) A coin is tossed till head appears.

v) Weight of student.

c) The following data relates to weights of 10 persons before joining a health
club and after 6 months from joining it. Test whether there is a significant
change in the weights after 6 months from joining the club. (Use 1% l.o.c..
given tg = 3.25, t; = 3.16)

-4-

II) Classify the following random variable as discrete or continuous :
1) Number of two wheelers passing through bridge during 9 a.m.to 11. a.m.
i) Life of an electric bulb.
lii) Number of students presentin a class on a day.

Participant No. 1 2 3 4 5 6 7 8 9 10
Weight before 120 | 125|115 | 130 | 123 | 119 | 122 | 127 | 128 | 118
joining club

Weight after 6 111 | 114|107 | 120 | 115 | 112 | 112 | 120 | 119 | 112
months

5. Attemptany two of the following :
a) Draw P chart for following data of number of defectives in 10 samples of

size 50 each and comment on the result.

8’ 6’ 51 7’ 2’ 51 3’ 8’ 41 4’
b) What do you mean by time series ? Explain different components of time

series.

20

c) Below are given the means and ranges of 10 samples of size 5 each taken

from a certain production process at regular intervals.

X 14.2

13.9

155

12.1

141

13.2

12.9

135

13.1

12.8

R 2.0

25

2.8

2.5

3.0

1.9

21

3.9

31

2.1

Givenn=5,D5=0,D,=2.115, A, =0.577, Draw X chart, R chart and

comment.

B/1/13/1,145
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Seat
No.

M.Com. (Semester — IV) Examination, 2013

ADVANCED ACCOUNTING AND TAXATION

( Special Paper — VII)
Recent Advances in Accounting, Taxation and Auditing
(Group — A)
(2008 Pattern)

Time : 3 Hours Max. Marks :100

Instructions : 1) Attemptall questions.
2) All questions carry equal marks.
3) Figures to the right indicate full marks.

1. What is meant by Management discussion and analysis ? Explain the provision
in the clause 49 of listing agreement in respect of Audit Committee. 20

OR

Define the term Corporate Governance. Discuss the framework of Corporate
Governance. 20

2. What is meant by Carbon Credit and Trading of Carbon Credit ? Explain the
Accounting, Taxation aspect of Carbon Trading. 20
OR

Explain in contest of AS and IFRS :
a) Recent Trends in Discloser of Accounting Policies. 10
b) Areas in which different accounting policies are encountered. 10
3. Explain the different valuation approaches you may suggest for valuing intellectual
property for its inclusion in Balance Sheet. 20
OR

What do you mean by, “Transfer pricing” ? State different methods of Transfer
pricing and explain the benefits and limitation of Market Price Method. 20

P.T.O.
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4. What is meant by Environmental Accounting ? Explain advantages and limitations
of Environmental Accounting. 20

OR

Define Human Resources Accounting. Explain Historical Developments of Human
Resources Accounting. 20

5. Write short notes on (any four) : 20
a) Need and role of Forensic Accounting
b) Accounting for derivatives
c) Strategic Management Accounting
d) XBRL (Extensive Business Reporting Language)
e) Accounting for Retirement benefits as per AS-15
f) Accounting for KPO (Knowledge Process Outsourcing)

g) ESO (Employees Stock Option) Accounting.

B/1/13/3,805
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Seat
No.

M.Com. (Semester — IV) Examination, 2013
(Group — B) : ADVANCED COST ACCOUNTING AND COST SYSTEMS
(Special Paper — VIII)
Case Studies in Advanced Cost Accounting And Cost System
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: a) Attemptany four questions.
b) Each question carries 25 marks.
c) Use of non-programmable calculator isallowed.
d) Marks are awarded not to the length, but to the content of your
answer.

1. A pharmaceutical company has developed a new drug by total investment of
Rs. 2.5 crs. during last 3 accounting years. The commercial production is going
to commence from June 2013. Write an exhaustive note giving details of cost
accounting treatment of R & D expenses. Make logical assumptions in support
of your note.

2. Company produces 30000 units of products A and 20000 units of product B per
annum. The sales value and costs of the two products are as follows :

Sales value Rs. 7,60,000
Direct material Rs. 1,40,000
Direct labour Rs. 1,90,000
Factory overheads Rs. 1,90,000
Administrative and selling overheads Rs. 1,20,000

50% of factory overheads are variable and 50% of administrative and selling
overheads are fixed. The selling price of Ais R. 12 per unit and selling price of B
is Rs. 20 per unit.

The direct material and labour cost ratio for product A is 2 : 3 and the same for
product B is 4 : 5. For both the products the selling price is 40% of direct labour.
The factory overheads are charged in the ratio of direct labour and administrative
and selling overheads are recovered at a flat rate of Rs. 2 per unit of Aand Rs. 3

per unit of B.
P.T.O.
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Due to fall in demand of the above products the company has a plan to diverse
and make product C using 40% capacity. Itis estimated that for product C, direct
material and direct labour will be Rs. 2.5 and Rs. 3 per unit respectively. Other
variable costs will be the same as applicable to product A. The selling price of
product C is Rs. 14 per unit and production will be 30000 units.

Assuming that 60% capacity is used for manufacturing A and B calculate :
a) Present cost and profit
b) Costs and profit after diversification, and

c) Give your recommendation as to whether to diversify or not.

3. Explain with examples the following concepts :
a) Target costing
b) Modern techniques of inventory control
c) Transfer pricing
d) Value analysis
e) Evaluation of capital expenditure proposals.

4. A hotel has three types of rooms viz. A, B and C. You are to suggest what rent
should be charged for each type of room on the basis of the following information :

i) The rent of B type room is to be fixed at 1.5 times of the C type of room and
that of A as twice of the C type of room.

i) There are 20 A type rooms, 30 B type rooms and 100 C type rooms in the
hotel.

iif) Normally 60% of A type rooms, 80% of B type rooms and 90% of C type
rooms are occupied in summer, and in winter 20% of A type rooms, 20% of B
type rooms and 50% of C type of rooms are occupied.
Iv) Actual expenses are as follows :
a) Staff salary Rs. 22,00,000 per annum.
b) Room Attendants’ salary (when occupied) :
Room Type Summer (Rs. per day) Winter (Rs. per day)
A 40 60
B 30 45
C 20 30
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c) Lighting per month if occupied for full month for both summer and winter
are :

A type room Rs. 800
B type room Rs. 600
C type room Rs. 400
d) Repairs and maintenance Rs. 4,20,000 per annum.
e) Advertisement and other expenses Rs. 50,000 per annum.
f) Sundry expenses Rs. 80,000 per annum.
g) Depreciate Building at 10% (Value of the building is 1.4 crore)
Depreciate Furniture at 20% (Value of the furniture is Rs. 30 lakhs).

h) Assume Summer of 7 months and Winter of 5 months. Each month is
average to have 30 days.

1) Profitis fixed at 25% on the total cost.

5. *Activity Based Costing technique tries to minimize the distortion in cost
ascertainment’. Do you agree ? Explain with numerical examples how this distortion
is avoided by the use of ABC vis-a-vis the traditional methods of overhead
accounting.

6. Explain various forms necessary for accounting of and control of material cost in
any manufacturing company. Answer the question with reference to Cost
Accounting Standard No. 6 issued by The Institute of Cost Accountants of India.

B/1/13/1,415






Seat
No.

Time : 3 Hours

1.

M.Com. (Semester — IV) Examination, 2013
Group — G : ADVANCED BANKING AND FINANCE
Spl. Paper — VIl : Case Studies in Adv. Banking and Finance
(2008 Pattern) (New)

Instructions: 1) All cases carry equal marks.
2) Solve any 5 cases from the following.

Give your comments in the following situations :

a) Mr. Kulkarni is a Trader. His current account is in H.D.F.C. Bank. His
current account balance as on 30t April, 2012 was Rs. 1,50,000/- Mr. Kulkarni
drew a cheque on his current account of Rs. 1,49,500/- on 2nd May, 2012.

Is H.D.F.C. Bank accepting this cheque for payment ?

b) Mr. Ajay is a farmer. On 15t April, 2011, Bank of India provided crop loan to
Mr. Ajay of Rs. 15,000/- Mr. Ajay did not repay the loan instalment up to
15t July, 2011. Is it treated as N.P.A. Account ?

c) Mr. Anil has a Saving Account in Bank of Maharashtra. His saving account
balance was Rs. 10,000/- on 15t August, 2011. Bank of Maharashtra had
advanced loan to Mr. Anil and loan was overdue on 15t August, 2011 of
Rs. 9,000/-. Can Bank of Maharashtra use the Saving Account balance to
recover the overdue loan ?

d) Mr. Sunil writes to Dena Bank that he has lost his Fixed Deposit Receipt. He
requests the Bank to issue a duplicate Fixed Deposit Receipt. Will the Bank
issue a duplicate Fixed Deposit Receipt to Mr. Sunil ? Explain the procedure.

Mr. Sharma is a Sole Trader. He has two accounts with ABC Bank. One is a
Current Account and another is a Saving Account. The Saving Account is in the
name of Mr. Sharma. The current account is in the name of his Business unit.
i.e. Sharma Trader.

The Bank has given overdraft facility of Rs. 5,00,000/- for Current Account in
the name of Sharma Trader.

The facility was fully utilised. The amount of overdraft was not repaid even after
the expiry of the overdraft facility.

Mr. Sharma’s Saving Account has credit balance of Rs. 6,00,000/-

Can the balance in this account be used for recovery of overdraft by ABC Bank ?
Give answer with reasons.

[4370] — 417

Max. Marks : 100

20

P.T.O.
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3. Suppose you are a branch manager of a bank. How will you deal with the
following cases ?

1) Mr. Dinesh presents for encashment on uncrossed cheque payable to him
or bearer but does not endorse the cheque.

2) Adrawer persistently issues cheques without sufficient balance.

3) A customer deposits a cheque dated 1-2-2012 on 15-5-2012.

4) A cheque dated 1-5-2012 is presented for payment on 15-4-2012.

o1 o1 o1 O1

4. Mr. Nitin hires a safe deposit locker provided by Bank of India.
In this regard, answer the following questions.
1) What is a Safe Deposit Locker ?
2) What s the procedure followed regarding safe deposit locker transaction ?
3) Can Mr. Nitin hire the locker even if he does not have a savings bank account
with Bank of India ?
4) Can a Locker be hired in joint names ? 5

[$20N¢)]

(62}

5. Mr. Amar is an account holder in ICICI Bank. The Bank issues him a Debit
Card. Mr. Amar uses his debit card for his transactions. In the context of Debit
Card, give your comments and explanation on the following :

1) Explain the procedure of issuing Debit Card.

2) Are there any transactions limits for Mr. Amar’s Debit Card ?
3) How does Debit Card work ?

4) What is the difference between a Credit Card and Debit Card ?

o1 o1 01 O1

6. Mr. Kumar is a businessman. He maintains an account with Canara Bank. In
this context, the relationship between Mr. Kumar and Canara Bank is that of
creditor and debtor. After five years the relationship between customer and
bank is terminate. With reference to closure of account of the customer, explain
the following situations.

1) What do you mean by creditor and debtor relationship ?

2) When the bank decides to close the account, what should it do ?
3) Canara Bank gets information about insanity of Mr. Kumar.

4) Canara Bank gets information about Mr. Kumar’s insolvency.

o1 o1 01 U1

7. Mr. Sadanand approaches Punjab National Bank for Opening Saving Bank
Account. Give your comments in the following situations.

a) Is Punjab National Bank allowed to open Saving Bank Account ?
b) Whatis K.Y.C. norms ? 5
c) Isitnecessary for Punjab National Bank to follow K.Y.C. norms while opening
Savings Bank Account ? 5
d) Which precautions should be taken by the bank while opening Hindu
Undivided Family Saving Account ? 5
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Seat
No.
M.Com. (Semester — IV) Examination, 2013
ADVANCED MARKETING
Special Paper — VI
Recent Advances in Marketing
(Group — H)
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) Allquestions arecompulsory.
2) All questions carry equal marks.

1. What do you mean by Retail Management ? Explain importance of Retail
Management in India Vs Global Scenario.
OR
1. Define concept of Strategic Service Management. Explain sustainable competitive
advantages of Strategic Service Management.
2. Explain in detail the role of Marketing Services.
OR
2. Howwill you evaluate Marketing Communication Programmes ? Explain with examples.
3. Explain ethics and social responsibilities in Integrated Marketing Communication
Campaigns.
OR

3. Explain role and importance of Strategic Marketing in the present Indian context.

4. Explain the role of I.T. in Relationship Marketing.
OR

4. What is meant by Channel Management ? Explain the importance of Channel
Management.

P.T.O.
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5. Write short notes (any four) :

a) Data Base Marketing.
b) Role of I.T. in retailing.
c) Relationship Management in Industrial and Consumer Products.
d) Floor Ready Merchandise.
e) Event Management Services.
f) Government Services.
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Seat
No.

M.Com. (Semester — IV) Examination, 2013
(Group — H) ADVANCED MARKETING
(Special Paper — VIII)

Case Studies in Advanced Marketing
(2008 Pattern) (New)

Time : 3 Hours Max. Marks :100

N.B. : i) Part—1 carry 25 marks. Part — Il carry 75 marks.
i) Figures to the right indicate full marks.

PART —|

1) Explain various steps in solving case study. 10
OR
Write a note on ‘case study as a tool of marketing research’. 10

2. Describe with various reasons, how case study method is useful in decision

making process of marketing ? 15
OR
State purpose and types of cases. 15
PART —II
(Case Study)

Attemptany 3 cases from the following :
3. Case No. 1: 25

‘Paitaan’ is a big brand name in the leather footwear industry. It is a creation of
a company based in Kolhapur. This city in Maharashtra has tradition of leather
crafts. ‘Paitaan’ has even made an entry in American footwear market. However,
it is facing a stiff competition from the various brands of Hawai, the rubber
slippers. These are synthetic in nature and not recommended for prolonged
use. However, being mass manufactured they are low in price and available
even in remotest parts of the nation. As against, this the hand crafted footwear
from ‘Paitaan’. Though good for daily use but relatively more expensive and
less readily available in some parts of the nation.

The marketing manager of ‘Paitaan’ seeks your advice on competitive marketing

strategy with a particular reference to the product positioning. 51O
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4. Case No.2: 25

Construct an effective marketing strategy profile for each of the following with
reasoning behind the same :

a) Air-conditioning machine
b) Soft-drinks

c) Lap-top

d) Toothpaste

e) School and air bags.

5. Case No. 3: 25

You are recently appointed as a marketing executive by a company manufacturing
Auyervedic cream/tooth paste. A company want to know their market position
in Maharashtra State.

You are expected to carryout market survey. How will you proceed ? Give your
plan.

6. Case No. 4 : 25
The Global Bank

The Global Bank has two senior marketing executives with widely different
views as to future. Mr. Parag believes that a bank is basically ‘a retail outlet’.
He says you go to cloth shop to buy cloth as you go to bank to buy financial
services.

On the other hand his colleague Mrs. Lara believes that, approach of Parag is
futile and pointless. The essence of successful marketing is — she says
‘the relationship’ we build up with the customers.

In your opinion whose view point is appropriate ? Why so ?
Dose it mean that other view point is wrong ?

TSt ®UTHR
AT : §) YT\, 24 T 378 T 9P\ 187 64 0T STed.
?) Swatemster s1Hyul T Fiaara.
3) Geyiarst g STt FeTTAET 9ETE.
0T - |
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — IV) Examination, 2013
402 : DATA CENTER TECHNOLOGY

Time : 3 Hours Max. Marks : 80

Note : 1) Allquestions arecompulsory.
2) Figures to right indicate full marks.
3) Give illustrationswherever necessary.

1. Solve any four questions : 16
a) Explain briefly Physical and Logical security of Data Center.
b) Explain briefly Data Centre prerequisites.
c) Explain briefly any four common automation tools.
d) Explain the cost of Downtime.

e) What are the various phases of Capacity Planning ?

2. Solve any four questions : 16

a) “The functional requirement of a data center is to provide a safe and secure

place for servers, storage, and networking equipment”. Opine.

b) Write a short note on :
1) Linpack Benchmark

i) TPC Benchmark
c) Explain in brief Many to One failover model.
d) Write a short note on load balancing.

e) What is the need for Energy-Efficient HVAC systems ?

P.T.O.
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3. Solve any four questions : 16
a) What do you understand by In-Band and Out-Band Monitoring ?
b) What is a Benchmark ?

c) Explain briefly the following terms
a) Generators
b) Power Conditioning

d) What is the ISP Netwrok Infrastructure ?

e) Define Server Administration. State best practices for System Administration.

4. Solve any four questions : 16
a) State the causes of Planned and Unplanned Downtime
b) What do you understand by Data Centre ?

c) Explain briefly the best practices that one must be followed to ease
configuration and maintenance of Network cabling.

d) Explain the Modular Cabling Design.
e) Explainin brief Symmetric Two-Node Clusters.

5. Write short notes on the following (any four) : 16
a) SPEC Benchmark
b) Advantages of load balancing
c) Failover cluster
d) Shared Disk
e) UPS.

B/1/13/1,455
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — IV) Examination, 2013
406 : KNOWLEDGE MANAGEMENT FOR BUSINESS

Time : 3 Hours Max. Marks : 80

Instructions : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.
3) All questions carry equal marks.
4) Assume suitable dataif necessary.

1. Attemptany four: (4x4=16)
a) Listthe ways that organizational culture can impact on knowledge management
efforts.

b) Compare numeric and symbolic processing techniques.

c) Discuss the major task performed by knowledge engineers.
d) What is K-representation ?

e) Explain Model-base reasoning.

2. Attemptany four: (4x4=16)
a) Explain requirements needed for ES development.
b) Describe the knowledge management success factors.
c) Explain Cyclic model of knowledge management.
d) Discuss difficulties faced in knowledge acquisition.
e) Give an example that illustrates the difference between propositional logic
and predicate calculus.
3. Attemptany four: (4x4=16)
a) Define Frame. What are the contents of Frame ?
b) Explain backward chaining with example.
c) Differentiate between Artificial intelligence and Natural intelligence.
d) Explain the major Al technologies.

e) Describe the process of automated rule induction.
P.T.O.
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4. Write short notes any four : (4%4=16)
a) Knowledge Repository.
b) Knowledge Engineering Process.
c) Semantic Network.
d) PostImplementation

e) Meta Knowledge.

5. Attemptany two: (8x2=16)
a) Explain structure of ES.

b) Who is CKO ? Explain the role of the CKO in developing a knowledge
management system. What major responsibilities does he or she have ?

c) What is project initialization ?

B/1/13/1,505
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Seat
No.
M.Com. (Semester — |I) Examination, 2013
MANAGEMENT ACCOUNTING
(2008 Pattern) (Compulsory Paper)
Time : 3 Hours Max. Marks : 100

Instruction : Allquestions are compulsory and carry equal marks.

1. Explain the term Management Accounting. Distinguish between Management
Accounting and other forms of accounting.
OR
1. What do you mean by analysis of financial statements ? Explain the methods
and significance of analysis.

2. Following are the Balance Sheets of RPG Limited as on 31 March, 2011 and 31*
March, 2012.

Liabilities 31-3-11  31-3-12 Assets 31-3-11  31-3-12
Equity share Capital 3,00,000 4,50,000 Goodwill 1,15,000 90,000
9% Redeemable Land and Building 2,00,000 1,70,000
Preference share Plant 80,000 2,00,000
Capital 1,50,000 1,00,000 Stock 75,000 1,09,000
General Reserve 40,000 70,000 Sundry Debtors 1,80,000 2,20,000

Profit and Loss A/c 30,000 48,000 Bills Receivable 20,000 30,000

Sundry creditors 55,000 33,000 Cashinhand 15,000 10,000
Bills payable 20,000 16,000 Investments

(short term) 10,000 8,000
Provision for doubtful
debts 18,000 20,000

Proposed Dividend 42,000 50,000
Provision for Taxation 40,000 50,000

6,95,000 8,37,000 6,95,000 8,37,000
P.T.O.
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You are required to prepare Fund Flow Statement with necessary working after
considering the following information.

1) Rs. 45,000/- was provided for tax during the year.

2) Depreciation charged on plant Rs.10,000/- and on Land and Building
Rs. 20,000/-.

3) Plant purchased during the year was paid partly by issuing fully paid equity
shares of Rs. 1,00,000/- and the balance was paid in cash.

4) An Interim Dividend of Rs. 20,000/- was paid during the year.
5) 9% Redeemable preference shares were redeemed at a premium of 5%.

6) A piece of land was sold at a profit of Rs. 8,000/-

3. A company having a net working capital of Rs. 2,80,000/- as on 30" June 2012
indicates the following Financial ratios and performance figures.

Currentratio 2.4
Liquid ratio 1.6
Inventory turnover 8
Gross profit 20%

Average debt collection period 1.5 months

The company’s fixed assets are equivalent to 90% of its net worth while reserves
amounted to 40% of share capital.

Prepare the Balance Sheet of company as on 30" June, 2012 showing step by
step calculations.

OR

3. Whatis working capital ? Enumerate the various factors which affect the demand
of working capital in modern business.

4. A proforma cost sheet of a company provides the following particulars.
The expected ratios of cost to selling price are

Material 40%
Directwages 20%
Overheads 20%
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Following further information is available.
1) Level of activity 2,00,000 units.
2) Selling price per unitis Rs. 12/-

3) Raw materials are expected to remain in stores for an average period of one
month.

4) Materials will be in process, on an average half a month.

5) Finished Goods are required to be in stock for an average period of one
month.

6) Credit allowed to customers is two months.

7) Credit allowed by suppliers is one month.

8) Lag in payment of overheads is one month.

9) Lag in payment of wages is half a month.

You may assume that production and sales follow a consistent pattern.

Findout the working capital assuming a 10% margin for contingencies.
OR

4. What do you understand by Responsibility Accounting ? Explain its structure,
objectives and advantages in the modern business.

5. Write detailed notes on any two of the following :
1) Scope of Management Accounting.
2) Limitations of Ratio Analysis.

3) Cash Flow Statement.

B/1/13/7,790
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Seat
No.

M.Com. (Semester — ) (Compulsory Paper) Examination, 2013
STRATEGIC MANAGEMENT
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions arecompulsory.
2) All questions carry equal marks.

1. Explain the concepts ‘Strategy’ and ‘Strategic Management’. Explain the nature
of Strategic Management.

OR
A) Explain the major elements of strategic management process.

B) State the meaning and nature of Management Ethics.

2. State the meaning of External Environment Analysis. Explain the major
components are to be analyzed in external environment analysis.

OR

2. List the various stakeholders of a company and explain its social responsibility
towards different stakeholders.

3. Explain the meaning and types of Stability Strategy. Distinguish between Stability
and Expansion Strategies.

OR

3. What do you mean by Strategic Implementation ? Explain the key issues in
Strategic Implementation.

4. What is Strategic Evaluation ? Explain the quantitative and qualitative criteria
used in the process of Strategic Evaluation.

OR
P.T.O.
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4. A) Explain the issues in the formulation of Production Strategy.

B) Explainthe need and significance of Marketing Strategy.

5. Write short notes (any four) :
a) Distinction between Vision and Mission.

b) Strategic issues in joint venture decision.

c) Advantages of Matrix Organization structure.
d) Advantages of Strategic Planning.

e) Business Process Re-engineering.

f) Six Sigma.
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Seat
No.
M.Com. (Semester — ) Examination, 2013
ADVANCED ACCOUNTING AND TAXATION
Special (Paper — 1) (Group A)
Advanced Accounting (2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions:1) All questions arecompulsory.
2) Give working noteswherever necessary.
3) Use of pocket calculator is allowed.

4) All questions carry equal marks.

1. What is meant by “Leasing contract” ? State the difference between “Lease” and

“Hire Purchase”.

OR
Write short notes on (any two) :
a) Accounting principles (any five)
b) Classification of Branches.

c) Need for accounting standards.

d) Role of Accounting Theory.

P.T.O.
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2. From the Balance Sheet and information given below, prepare consolidated Balance

Sheet of M. Ltd. and its subsidiaries on 31t March, 2012.

Balance Sheet as on 315tMarch, 2012

(Rs. in lakhs)
Particulars M. Ltd. N. Ltd. P. Ltd.
Liabilities :
Equity shares capital (Rs. 100 fully paid) 150 100 20
Reserve and Surplus 125 45 —
Secured loans 200 100 10

Unsecured loans
1) From M Ltd. - 40 15

i) From others

Current liabilities and provisions : 75 25 —
i) Due to others 220 125 30
Total 770 435 75
Assets :
Net fixed assets 280 175 25
60,000 shares in N Ltd. 90 - —
20,000 shares of P Ltd. - 10 -
Current assets :
Due from subsidiaries 55 5 —
Other sundry assets 345 245 45
Profit and Loss account - — 5

Total 770 435 75
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a) M Ltd. acquired the sharesof N Ltd. as on 315t March, 2009 when the Reserves
and Surplus of the latter stood at Rs. 25 lakhs.

b) The shares of P Ltd. were acquired by N Ltd. on 15! April 2012, when the
Profit and Loss A/c was Rs. 15 lakhs (debit balance).

c) Sundry assets of N Ltd. include a portion of stock in-trade-purchases
from P Ltd. for Rs. 9 lakhs. Goods supplied by P Ltd. to its holding company

were invoiced at cost plus 12.5 percent there on.

d) Aremittance of Rs. 5 lakhs, by N Ltd. to its subsidiary, remained unaccounted
in the books of the latter, since the same had not been realised by its bankers

till the close of accounting year.

e) The provision made by M Ltd. and N Ltd. include an amount of Rs. 15 lakhs
and Rs. 11 lakhs respectively for proposed dividend (tax implications may be

ignored).

3. Following are the details regarding Fine Ltd., which went into voluntary liquidation as

on 31tMarch, 2012

Rs.
3,000 Equity shares of Rs. 100 each Rs. 80 called and paid up 2,40,000
6 percent 1,000 Preference shares of Rs. 100 each fully
called up less calls in arrears (expected to realise in full)  1,00,000
—5,000 95,000
5 percent debenture having a floating charge on the assets 1,00,000
(Interest paid upto 30" Sept. 2011)

Mortgage on land and buildings 80,000
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Trade creditors 2,65,500
Wages outstanding 20,000
Secretary’s salary @ Rs. 500 p.m. outstanding 3,000
Managing director’s salary @ Rs. 1,500 p.m. outstanding 6,000
Assets Estimated to Produce Book value
Rs. Rs.

Land and Buildings 1,30,000 1,20,000

Plant 2,30,000 2,00,000

Tools 4,000 20,000

Patents 30,000 50,000

Stock 74,000 87,000

Accounts receivable 60,000 90,000

Investments (Pledged with bank
for an overdraft
of Rs. 1,90,000) 1,70,000 1,80,000

On 31 March 2007 the Balance-sheet of the company showed a general reserve
of Rs. 40,000 accompanied by a debit balance Rs. 25,000 in the Profit and Loss
Account. In 2007-08 the company made a Profit of Rs. 40,000 and declared a
dividend of 10 percent on equity shares. The company suffered a total loss of
Rs. 1,09,000 besides loss of stock due to fire Rs. 40,000 during 2008—-09 to
2011-12. For 2012 accounts were not made.

The cost of winding up is expected to be Rs. 15,000.

You are required to prepare the Statement of Affairs and Deficiency Account of
the company as on 315 March, 2012.
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4. Mr. Rajkumar Ltd.’s books of accounts showed following information
Balance Sheet as on 31t March 2012
Liabilities Rs. Assets Rs.

5,000 Equity shares of

Rs. 100 each 5,00,000 Machinery 2,40,000
Share premium 1,00,000 Furniture 1,00,000
General reserve 2,39,400 Stock 6,20,000
Profit and Loss Alc 1,57,600 Debtors 2,06,000
Sundry creditors 409,400 Cashinhand 3,400
Provision for taxation 1,97,000 Cash atbank 4.,34,000
Total 16,03,400 Total 16,03,400

The company transfers 20% of its Profits (after tax) to General Reserve. Net

Profit before taxation of the last three years have been as follows :

Year ended 31st March, 2010 — 3,35,000

Year ended 31st March, 2011 - 3,66,000
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Year ended 31st March, 2012 — 3,94,000

Machinery is valued at Rs. 3,20,000. Average yield in this type of business is

20%. The rate of tax is 50%.

Calculate the value of one equity share on the basis of

1) Intrinsic worth method

i) Yield worth method.

5. Following is the trial balance on March 31, 2012 of Delhi Branch of an Foreign

Firm having Head office in London.

Particulars

Stock on 15t April, 2011

Purchases and sales

Debtors and creditors

Bills receivable and bills payable

Salary and wages

Rent, rates and taxes

Furniture

Rs.

46,500

92,000

1,29,600

44,550

32,000

34,000

31,200

Rs.

2,40,000

1,45,800

56,700
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Cash at bank 1,13,400 —
London account — 80,750

5,23,250 5,23,250

On March, 31" 2012 the stock was valued at Rs. 2,02,500. The debit balance of

the branch account in London books.

On March 31%, 2012 was £ 1230 and furniture account appeared at £ 400. On
March 31%, 2012, there was cash in transit from Mumbai to London amounting to
Rs. 16,200/-. The rate of exchange on 31°*March, 2011 was Rs. 75/- per£ and on
31t March, 2012 was Rs. 81 per £. Average rate was Rs. 80 £.

Prepare Branch Profit and Loss Account and Balance Sheet in the Head Office
books as on 315 March, 2012.

B/1/13/2,915
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Seat
No.

M.Com. (Semester I) Examination, 2013
Advanced Cost Accounting and Cost Systems
Special Paper — |
ADVANCED COST ACCOUNTING
(Group — B)

(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) Attemptall questions.
2) Figures to the right indicate full marks.
3) Use of Calculatoris allowed.

1. A) Fill in the blanks : (5)
1) Overhead is an aggregate of and and

2) In contract costing the cost unitis

3) Operating costing is a variation of category of costing method.

4) When actual loss in a process is less than the anticipated loss, the
difference between the two is considered to be

5) The process of physical verification of stores throughout the year is termed
as

B) State whether the following statements are true or false : (5)

1) The perpetual inventory system enables management to ascertain stock
without physical verification.

2) The difference between the time clocked and time booked is termed as
idle time.

3) The concept of economic batch quatity is similar to that of economic order
guantity.
4) Service costing is applied in canteens.

5) The output of one process may be transferred to another process at cost
or at market price.

P.T.O.
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2. Explain the concept of material control ? Discuss the different stages involved in

the purchase procedure.

OR

(15)

What are the essential features of a good wage system ? Compare and contrast
time rate and peace rate systems of wage payment.

3. Write short notes (any 3) :
a) Characteristics of product life cycle.

b) Farm Costing.
c) Job Evaluation.

d) Under-Absorption and Over-Absorption of overheads.
e) Objectives of Inventory Control.

(15)

4. Following particulars have been extracted from the books of Reliable Company : (20)

Indirect materials
Shop No. 1

Shop No. 2

Shop No. 3

Tool room

Stores

Factory Office
Factory Rent
Insurance
Depreciation 10%
Power

Light and Heat

Rs.
12,000
18,000

6,000
3,600
4,800
1,800
30,000
6,000
30,000
27,000

12,000

Indirect Wages
Shop No. 1
Shop No. 2
Shop No. 3
Tool room
Stores

Factory Office

Rs.
12,600
17,700
16,000
11,100

4,500
6,600
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Further information regarding the operations are given below :

Book Value of . . Labour .
' (Rs.) o (Rs.)
Production
Shop No. 1 1000 75,000 90 3,00,000 | 90,000 | 1,60,000
Shop No. 2 750 1,35,000 90 3,00,000 | 60,000 | 2,40,000
Shop No. 3 1,500 30,000 - 2,00,000 | 50,000 -
Senvce :
Tool room 500 45,000 20 - 50,000 -
Stores 750 7,500 - - - -
F;;tsg 500 7,500 i i i i

You are required to prepare an overhead analysis sheet for the departments of
Reliable Co. for the year showing the basis of apportionment.

5. The following information relate to Contract No. 135. You are required to prepare
the Contract A/c and the Contractee’s A/c assuming that the amount due from

the contractee was duly received : (20)
Rs.

Direct materials 41,500

Direct wages 32,000

Stores issued 22,000

Loose tools 5,800

Tractor expenses :

Running materials 5,600

Wages of drivers 7,000 12,600
Other direct charges 6,300
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The contract price was Rs. 1,90,000 and the contract took 13 weeks in its
completion. The value of loose tools and stores returned at the end of the period
was Rs. 500 and Rs. 7,000 respectively. The plant was also returned at a value
of Rs. 32,000 after charging depreciation at 20%. The value of the tractor was
Rs. 42,000 and depreciation was to be charged on the contract @15% p.a. The
administration and office expenses are to be provided at 10% on works cost.

6. The following figures show the cost of two processes of manufacture. The

production from process Il is passed to finished stock account : (20)
Process | Processli

Rs. Rs.
Direct materials 2,000 3,020
Direct wages 3,500 4,226
Production overheads 1,500 2,000
1,000 units are introduced at a cost of Rs. 5 per unit. Other information is as
follows:

Normal Loss Actual Loss

Process | 10% of input 920 units
Process |l 5% of input 870 units

The wastage realizes Rs. 3 per unitin Process | and Rs. 5 per unitin Process Il.
Prepare process accounts.

B/1/13/1,100
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Seat
No.

M.Com. (Semester — ) Examination, 2013
ADVANCED COST ACCOUNTING AND COST SYSTEMS (Group — B)
Special Paper — I
Costing Techniques and Responsibility Accounting
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) Figures to the rightindicate full marks.
3) Use of calculator is allowed.

1. A) Fillin the blanks. 5
1) The principal budget factor for consumer goods manufacturer is normally

2) Opening stock of material 13,000 kg, budgeted consumption during the
year 1,08,000 kg and estimated stock at the end of year 10,000 kg. Then
guantity of material to be purchased will be kg.

3) Standard price of material per kg. Rs. 20, standard consumption per unit
of production is 5 kg; then standard material cost for producing 100 units
is Rs.

4) Uniform costing is the adoption of the same costing and
by different units in the same industry.

5 A centre is a segment of organisation for which both revenue
and costs are accumulated.
B) State whether the following statements are True or False : 5

1) Master Budget takes the form of profit and loss account and balance-
sheet as at the end of the budget period.

2) Material cost variance is an aggregate of material price variance and
material usage variance.

3) Interfirm comparison is not beneficial to different firms in the industry.
4) Anincrease in production means an increase in the productivity.
5) Production budget will always show a constant quantity of output every

month. P.T.O.
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C) Write short notes on (any two) : 10
1) Research and Development cost budget.
2) Procedure of establishing standard costs.
3) Application of uniform costing.
4) Requirements of an inter firm comparison.

2. What are the preliminaries for adoption of budgetary control system ? Describe
the objectives of budgetary control. 20
OR

2. Explain the concept of Responsibility Accounting. Describe various types of
Responsibility centres. 20

3. A) Following particulars are obtained from the books of Amar Engineers, Pune.

Particulars Quarter| Quarter Il Quarter lll Quarter IV
Rs. Rs. Rs. Rs.

Opening cash balance 10,000 — - -
Collection from 1,25,000 1,50,000 1,60,000 2,21,000
Customers

Payments

Purchase of material 20,000 35,000 35,000 54,200
Other expenses 25,000 20,000 20,000 17,000
Salary & Wages 90,000 95,000 95,000 1,09,000
Income Tax 5,000 — — -

Purchase of machinery — — — 20,000



N RED YA AR 3 [4370] — 106

The firm desires to maintain a cash balance of Rs. 15,000 at the end of each
guarter. Cash can be borrowed or repaid in multiples of Rs. 500 at an interest
of 10% per annum. Management does not want to borrow cash more than
what is necessary and wants to repay as early as possible. In any event,
loans can not be extended beyond four quarters. Interest is computed and
paid when the principal is repaid. Assume that borrowing takes place at the
beginning and payments are made at the end of the quarters.

You are required to prepare a cash budget. 10
B) Explain the concept of uniform costing. State advantages of uniform costing. 10

4. The expenses for the production of 5000 units at 50% capacity in Andhra
Chemicals Ltd., Hyderabad are given as follows -

Particulars Unit cost (Rs.)
Material 50
Labour 20
Variable overheads 15
Fixed overheads (Rs. 50,000) 10
Administrative Expenses 10
(5% Variable)
Selling Expenses 06

(20% Fixed)

Distribution Expenses 05
(10% Fixed)

Total cost of sales 116

You are required to prepare a budget for 70% and 90% production capacity,
assuming that at 90% capacity, cost of material will increase by 10% whereas
labour cost will decrease by 5%. 20
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5. In Global Engineers, Poladpur, the budgeted labour force employed in machine
shop is as follows —

Unskilled labour force :
200 workers @ Rs. 50 per hour for 40 hours.
Semi-skilled labour force :

300 workers at Rs. 60 per hour for 50 hours.
The actual labour force during a particular period was as follows -

Unskilled labour force :

210 workers @ Rs. 40 per hour for 45 hours.
Semi-skilled labour force :

290 workers @ Rs. 70 per hour for 45 hours.

You are required to compute :
a) Labour cost variance
b) Labour rate variance

c) Labour efficiency variance

for both unskilled and semi-skilled workers. 20

B/1/13/1,105
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Seat
No.
M.Com. (Semester — ) Examination, 2013
BUSINESS ADMINISTRATION
Special Paper — I
Financial Management
(Group — D) (2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.
3) Use of calculator is allowed.

1. What s financial management ? Explain the role of finance manager in financial
management.
OR
1. Whatis capital budgeting ? Explain the various techniques of capital budgeting.

2. What is financial analysis ? State the various techniques of financial analysis.
OR
2. What is working capital ? Explain the nature and significance of working capital.

3. Describe the problems of managing cash and strategies of cash management.
OR
3. A) Write a detail note on financial markets in India.
B) Explain the process of capital budgeting.

4. Using the following data, you are required to complete the Balance Sheet given

below :

Gross Profit: 20% of Sales Rs. 60,000
Shareholders’ Funds Rs. 50,000

Credit Sales 80% of Total Sales
Total Assets to Turnover Ratio 3 Times

Inventory Turnover to Cost of Sales 8 Times

Average collection period (360 Days a year) 18 Days

Current Ratio 16:1

Long term Debt to Equity 40%

P.T.O.
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Balance Sheet

Liabilities Amt. Rs. Assets Amt. Rs.
Shareholders Equity ? Fixed Assets ?
Long-Term Debt ? Cash ?
Creditors ? Inventory ?
Debtors ?
Total ? Total ?
OR

4. The following are summarised Trading Account and Profit and Loss Account for
the year ending 315 March, 2008 and the Balance Sheet as on that date of Mcom
Limited, Pune.

Trading Account and Profit and Loss Account

For the year ended 31%t March, 2012

Particulars Amt.Rs. Particulars Amt. Rs.
To Opening Stock 10,000 By Sales 1,00,000
To Purchases 55,000 By Closing Stock 15,000
To Gross Profit C/D 50,000

Total 1,15,000 Total 1,15,000
To Administrative Expenses 15,000 By Gross Profit B/D 50,000
To Interest 3,000
To Selling Expenses 12,000
To Net Profit 20,000

Total 50,000 Total 50,000



Balance Sheet

As on 31-03-2012

Liabilities Amt. Rs.
Share Capital (Rs. 10 each) 1,00,000
Profit and Loss Account 20,000
Creditors 25,000
Bills Payable 15,000
Total 1,60,000
Additional information :
Average Debtors Rs. 12,500
Credit Purchases Rs. 40,000
Credit Sales Rs. 80,000

Assets
Land and Building
Plant and Machinery
Furniture
Stock
Debtors
Bills Receivable
Cash and Bank Balances
Total

[4370] — 110

Amt. Rs.
50,000
30,000
15,000
15,000
12,500
17,500
20,000

1,60,000

You are required to calculate any Five Ratios from the list of ratios given below
after considering the above statement of accounts :

1) Stock Turnover Ratio

3) Creditors Turnover Ratio
5) Sales to Capital Employed
7) Gross Profit Ratio

9) Earning Per Share

5. Write short notes (any two) :
A) Types of financial analysis
B) Liquidity ratios
C) Collection policy

D) Receivables management.

2) Debtors Turnover Ratio

4) Working Capital Turnover Ratio

6) Return on Shareholders Funds
8) Net Profit Ratio

10) Operating Ratio
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Seat
No.
M.Com. (Semester — |I) Examination, 2013
Commercial Laws and Practices (Special Paper — II)
INTELLECTUAL PROPERTY LAWS
(2008 Pattern) (Group — E)
Time : 3 Hours Max. Marks : 100
Instructions : i) Question No.1is compulsory.
i) Solve any 4 from the remaining.
iii) Figures to right indicate full marks.
1. Write short notes (any 4) : 20

1) Commercial exploitation of Intellectual property.

2) Meaning and forms of Intellectual Property Rights.

3) Historical overview of Patent Law.

4) Assignment and Transmission of Registered Trade Marks.
5) Concept of benefit sharing-obligations of the Government.
6) State Biodiversity Authority.

2. Throw alight on different concepts of Intellectual Property Laws and discuss the

functions of World Court. 20
3. Explain the meaning and purpose of Patent. Elaborate the different types of

applications for patent. 20
4. Discuss in detail unfair practices in Intellectual Property Laws. 20

5. Enumerate different forms protecting Trade Mark and Goodwill with suitable
examples. 20

6. Write a detailed note on-Biological Diversity Act 2002. 20

7. What are advantages of Patent to inventor ? Distinguish between Patentable and
Non-Patentable Inventors. 20

P.T.O.
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Seat
No.
M.Com. (Semester — |) Examination, 2013
CO-OPERATION AND RURAL DEVELOPMENT
Special Paper — |
Co-operative Movement in India
(Group — F)
(2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. Critically evaluate post independence co-operative movement in India. 20
OR

Explain the amendment made by Government in Maharashtra State Co-operative
Societies Act, 1960 regarding the provisions of management of co-operatives. 20

2. Describe the deficiencies in legal control over co-operatives in India. Suggest

the remedies to eliminate them. 20
OR

Comment on findings of All India Rural Credit Survey Committee, 1954. 20

3. Explain the role of NABARD in Agricultural Credit since 1991. 20
OR

Describe governments legal control over co-operatives in India. State
deficiencies of legal control in India. 20

4. Give abrief report on role of Maharashtra Rajya Sahakari Bank in Strengthening
co-operative credit mechanism in Maharashtra since 1991. 20

OR

State the background of Vaidyanathan Committee. Explain the recommendations
of Vaidyanathan Committee. 20

P.T.O.
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5. Write short notes (any four) : 20
1) Co-operative movementin India since 1991.

2) Provisions in Maharashtra Co-operative Societies Act, 1960 regarding
properties and funds of cooperatives.

3) Co-operative Administration in Maharashtra.
4) Mirdha Committee report.
5) Indian planning and co-operatives.

6) Causes of Liquidation of co-operatives.
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Seat
No.

M.Com. (Semester — I) Examination, 2013

CO-OPERATION & RURAL DEVELOPMENT
Special Paper — I
Organisation of Co-Operative Business
(Group — F) (2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. Explain the need of Integrating Principles of Management with the principles of
Co-operation. How it will improve the performance of cooperatives ? (20)

OR

Discuss the concept of Professionalisation of Management, and how it can be
applied in Co-operative management ? (20)

2. Explain the problems of communication and leadership in Co-operative

organisation in India. (20)
OR
Discuss the need and problems of Co-operative education and training in India.
(20)
3. Evaluate the performance of Dairy Co-operatives in India. Suggest the remedies
to improve the performance of dairy co-operatives. (20)
OR
Comment on the working of Co-operative agricultural processing business in
India. (20)
4. Discuss the problems of non-agricultural credit societies in India. Suggest the
remedies to solve their problems. (20)
OR

Give a brief report on role of Vaikunthbhai Mehata National Co-operative Institute
in Co-operative education. (20)

P.T.O.
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5. Write short notes (any four) :
a) Merits of Federal structure of credit co-operatives.
b) District Co-operative union and co-operative training.
c) Need for effective co-operative audit.
d) Problems of housing Co-operatives in Maharashtra.
e) Role of sugar co-operatives in rural development.
f) Organisational structure of co-operatives in Maharashtra.
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Seat
No.
M.Com. (Semester — ) Examination, 2013
ADVANCED BANKING AND FINANCE
Special Paper — |
Legal Framework of Banking
(Group — G) (2008 Pattern)
Time : 3 Hours Max. Marks :
Instructions: 1) Allquestions are compulsory.
2) All questions carry equal marks.
1. Explain in detail the functions performed by the banking companies as laid

down under the Banking Regulation Act, 1949.
OR

Explain in detail the following definitions as given under the Banking Regulation
Act, 1949.

a) Banking

b) Branch or branch office
c) Banking policy

d) Secured loan or advance

Explain in detail the provisions of the Negotiable Instruments Act, 1881 pertaining
to

a) Holderin due course
b) Paymentin due course
c) Promissory note

d) Endorsementin blank and full
OR

What do you understand by dishonour of a Cheque ? What is the punishment for
dishonour of a cheque under the Negotiable Instruments Act, 1881 ? Do you
think an “I owe you” condition must be satisfied to recover the money from the
dishonoured cheque ?

15

100

P.T.O.
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3. What do you understand by ‘Local Boards’ of the RBI ? How many local boards
can be constituted as per the RBI Act, 1934 ? Explain the provisions of the
RBI Act, 1934 pertaining to

a) Local Boards of the RBI, their constitution and functions.

b) Disqualification of Directors and members of the local boards.
OR

Explain in detail the Central Banking Functions as spelt out in the RBI Act, 1934.

4. Explainin detail the provisions of the Foreign Exchange Management Act, 1999
dealing with Regulation and Management of Foreign Exchange.

OR

Explain in detail the provisions of Foreign Exchange Management Act, 1999
pertaining to adjudication and appeals with reference to

a) Composition of Appellate Tribunal

b) Qualification of the members of the Appellate Tribunal and their term of
office.

c) Procedure and powers of the Appellate Tribunal and Special Director (Appeals)
5. Write notes on (any two) :

a) Powers of the RBI under Banking Regulation Act, 1949

b) Dissimilarities between cheque and bill of exchange.

c) Enforcement of Security interest as per the Securitisation Act, 2002.

d) Measures that an Asset Reconstruction company can provide for
reconstruction of assets under the Securitisation Act, 2002.
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Seat
No.
M.Com. (Semester — I) Examination, 2013
(Group — G) ADVANCED BANKING AND FINANCE
Special Paper — lI
Central Banking (2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.

1. Explain in detail the evolution of central banking in India.
OR
1. “Imperial Bank of India could have continued to be the central bank of India”. Do
you support this or not ? Explain in detail.
2. Explainin detail RBI as -
a) Banker to the Central Government
b) Banker to the State Governments.

OR

2. Detail out the following
a) Prerequisites to issue bank notes
b) Currency Chests.
3. Explainin detail how the RBI manages the public debt with reference to some of
the innovative debt instruments ?
OR
Spell out in detail the regulatory framework for the Non Bank Finance Companies

in India.
P.T.O.
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4. Explain in detail RBI's regulation of commercial banks with reference to Bank
and Branch licensing.

OR
Explain in detail the supervision of commercial banks by the RBI with reference
to the following prudential norms :
a) Income recognition and asset classification

b) Capital adequacy.

5. Write notes on (any 2) :
a) Need and rationale of a central bank
b) Regulation of foreign banks in India
c) Creditinformation Bureau of India Limited.

d) Regulation of Indian commercial banks with respect to Reserve fund and
Reserve Ratios.
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Seat
No.
M.Com. (Semester — [) Examination, 2013
Group — H : ADVANCED MARKETING
Marketing Techniques
Special Paper — |
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.

1. Define the term ‘Rural Marketing’'. Explain the features and importance of rural
marketing.

OR
1. Define the term E-marketing. State importance and limitations of e-marketing.

2. What is meant by sales budgeting ? What are its purposes ? Explain advantages
and disadvantages of sales budgeting.

OR
2. Define sales forecasting. State the objectives and importance of sales forecasting.

3. What s the procedure to be adopted for conducting test marketing a new product
? What are the types of new product ?

OR

3. What are factors to be considered by company ? While taking decision regarding
choice of channels of distribution. State types of channels of distribution.

4. Define the term Sales Promotion. State various methods of sales promotions.
OR

4. What is packaging ? State its objectives, functions and advantages.
P.T.O.
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5. Write short notes (any four) :
a) Significance of Marketing Organisation.
b) Factors affecting on Marketing environment.
c) Producttesting.
d) Features of salesmanship.
e) Responsibilities of sales manager.
f) New techniques of sales promotion.
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Seat
No.
M.Com. (Semester — |) Examination, 2013
Group — H : ADVANCED MARKETING
Special Paper — lI
Consumer Behaviour
(2008 Pattern)
Time : 3 Hours Max. Marks : 100

N.B.: i) All questions arecompulsory.
i) All questions carry equal marks.

1. Explain the changing role of product, marketer and consumer in modern marketing.

OR
Describe with suitable examples the consumer perceptions in service sector.

2. Define the term ‘Attitude’. State its importance and scope in consumer behaviour.

OR

2. a) Write a note on secondary data.

b) Negative motivation.

3. Explain various learning theories.

OR
Explain Maslows Theory of Hierarchy of Needs.

4. Write a detail explanatory note on consumer protection and role of Govt.
OR

State the influence of family on consumer decision making process.

P.T.O.
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5. Write short notes on (any four) :
a) Women consumer
b) Rural consumer
c) Ethics in business
d) Role of mediain consumer protection
e) Attitude behaviour relationship

f) Testing of data.
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — I) Examination, 2013
102 : SYSTEMS ORGANISATION AND MANAGEMENT

Time : 3 Hours Max. Marks : 80

1. Explain the following terms (any four) : 16
a) Job enlargement
b) Organisation
c) Enterprise Resource Planning
d) Motivation
e) Financial Policies

f) Management.

2. Answer the following (any four) : 16
a) Distinguish between formal and informal organization.
b) Explain the process of Recruitment.
c) State the advantages of Decision Support System.

d) Determine the Information Requirements of a Personnel Manager in a
manufacturing industry.

e) Explain the role of internet in management of a business.
3. Answer the following (any four) : 16
a) Discuss the latest developments taking place in Hardware and Software.
b) State the various sources of information.
c) What do you mean by Weakness of Business Organization ?
d) Explainthe concept of Customer Relationship Management.

e) Discuss the significance of managementin an IT Sector.

P.T.O.
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4. Answer the following (any four) : 16
a) Explain the need of forecasting in planning.
b) Explain the steps in controlling.
c) Explain McGregor’s theory Xand Y.
d) Explain the functions of middle level management.
e) State the advantages of management information system.
5. Write short notes (any four) : 16
a) Behavioural approach of information system
b) Mission statement
c) Types of plans
d) Unity of command
e) Expert system

f) Supply chain management.

B/1/13/455
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — I) Examination, 2013
103 : PROGRAMMING FUNDAMENTALS
(‘C’ Programming)

Time : 3 Hours Max. Marks : 80
Instructions : 1) Allquestions are compulsory.

2) All questions carry equal marks.
3) Assume suitable data, ifnecessary.

1. Attemptany four : (4x4=16)
a) Explain any four types of variables with example.
b) Explain structure of ‘C’ program.
c) Explain keywords and identifiers with proper example.
d) What is header file ? Can user create its own header file ?
e) Explain goto and exit statements in ‘C’ language.
2. Attemptany four : (4x4=16)

a) Write a ‘C’ program to find the number of and sum of all integers greater than
100 and less than 200 that are divisible by 5.

b) Write a ‘C’ program to print the following output using for loop.

1

o »~r w N
a b~ w N
SN
SN

P.T.O.
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c) Write a ‘C’ program to calculate multiplication of array of n x n matrix.

d) Write a ‘C’ program to copy one string to another and count the number of
characters copied.

e) Write a‘C’ program which would print the alphabet set‘a’to ‘z’and ‘A’to ‘Z’ in
decimal and character form.

3. Attemptany four : (4%4=16)

a) Which are the different parameter passing techniques to function in
‘C’language ?

b) Write a note on Multi Dimensional array.
c) What is string ? Explain strlen() and strcat() function with proper syntax.
d) Whatis nested structure ? Explain with suitable example.

e) Write a note on ‘Bit Wise Operators’.

4. Trace the output (any four) : (4%4=16)
a) main()
{
inti=3;
switch(i)
{

default:printf(“*zero”);
case 1 : printf(*one”);
break;

case 2:printf(“two”);
break;

case 3: printf(“three”);
break;



YO 3

b)

c)

d)

main()
{
char *p;
printf(“%d %d”,sizeof(*p),sizeof(p));
}
main()
{
int i=5;

printf(“%d%d%d%ded  i++,i— —,++i,——i,i);

}

#define square(x) x*x
main()

{

inti:

I = 64/square(4);
printf(“%d”,i);

}

#include<stdio.h>
#define a 10
main()

{

#define a 50
printf(*%d”,a);

}

[4370] — 163
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5. Attemptany four : (4%4=16)

a) Write a ‘C’ Program to create book structure having fields bookno, bookname,
quantity, price, edition. Arrange the records in descending order of price.

b) Write a C program to accept two strings as command line arguments and
display union of both the strings.

c) Write a ‘C’ program to calculate sum of the elements of upper triangle of
n x n matrix using dynamic memory allocation.

d) Write a‘C’ Program to copy one file to another file while doing so replace all
lower case character to their equivalent upper case character.

e) Write a ‘C’ Program to accept a string from user, delete all vowels from that
string and display the result.

B/1/13/845
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M.C.A. (Commerce Faculty) (Semester — I) Examination, 2013
104 . STATISTICAL AND NUMERICAL METHODS

Time : 3 Hours

N.B. :

1) All questions arecompulsory.
2) Figures to the rightindicate full marks.

Max. Marks : 80

3) Use of statistical tables and calculator is allowed.
4) Symbols have their usual meanings.

1. Attemptany three of the following :

15

a) Construct the forward difference table for the following values of X and Y.

X

5

10

15

20

25

Y=f(X)

10

13

17

23

31

b) Use Newton Raphson’s Methods to find roots of the equation X3—6X + 4 =0.

c) Evaluate /18 using bisection method. (Up to itertions).

d) State : (i) Trapezoidal rule (ii) Simpson (1/3)" rule.

e) Define different difference operators. Also state relation between them.

2. Attempt any three of the following :

a) State and explain Runge Kutta fourth order formula.

15

b) Construct a backward difference table from the following values of X and Y.

10

20

30

40

50

45

65

80

92

100

P.T.O.
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c) Using Newton’s backward interpolation formula find the value of |1 {43). Where
the values of X and Y are as given below :

X

60

75

90

105

120

Y=F(x)

28.3

38.2

43.2

40.9

37.7

d) Explain Picard’s method of successive approximation.
e) State and explain Euler’'s and modified Euler’'s method.

. Attemptany three of the following :

15

a) What do you mean by time series ? Explain additive and multiplicative models
of time series.

b) Explain the terms :

1) Statistical hypothesis

i) Two types of errors

lii) Level of significance.

c) Let X ->N(3, 2°), find P(X < 5), P(3 < X < 6).

d) Two sample polls of votes for two candidates A and B for a public office are
taken from among 2000 voters of Rural and Urban area revealed the following

results :
Area/candidates A B Total
Rural 620 380 1000
Urban 550 450 1000
Total 1170 830 2000

Is the film directors claim supported by the data.

Given 2 =3.81, %5 =5.99, x5 =7.81 at 5% L.O.S.

e) Astenographer claims that she can take dictation at the rate of 120 words/minute
on an average. In 100 trials, she demonstrated an average rate of 116 words
with SD 15 words. Can we accept her at 5% level of significance ?
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4. Attemptany three of the following : 15

a) Explain X2 test of goodness of fit.

b) Explain the concept of autoregressive model of first order.

c) Let X >N (10, 2%),Y - N (12, 3%) be independent normal variables. Obtain
mean and variance of Z where (i) Z=2X+ Y (ii) Z = 3X - 2Y.

d) A company wants to decide which of the two types of tyres should be used for
their trucks. Company determined the following information regarding their

lives in miles.
Brand I Il
Mean 20000 25000
Population s.d 4000 2800
Sample size 100 100

Is the difference in their average life significance ? Use 5% level of significance.

e) Find 4-yearly centered moving average for the following data on sales.

Year (2000 |01 |02 |03 04 |05 |06 |07 |08 |09 |10 |11

Sales | 68 62 |61 |63 |65 58 |66 |61 |68 |63 |63 |67

5. Attemptany two of the following : 20

a) Fita straight line trend to the following data :

Year 1998 | 1999 | 2000 | 2001 | 2002

Production 35 56 79 80 40

Also obtain trend estimate for the year 2007.
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b) AnIQ testwas administered to 5 persons before and after they were trained.
The result are given below :

Candidates A B C D E

IQ before training 110 120 123 132 125

IQ after training 120 118 125 136 121

Test whether there is change in IQ before and after the training programme
(take oo =0.05).

c) Find first and second order derivative of the function tabulated below at the
point x = 1.5 using Newton'’s forward interpolation formula.

f(x) 3.375 7.000 | 13.625 | 24.000 | 38.875 | 59.000

1
d) Evaluate szdx by Simpson 1/3 rule. (Take h = 0.1).
0

B/1/13/700
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — 1) Examination, 2013
106 : SOFTWARE ENGINEERING

Time : 3 Hours Max. Marks : 80

Instructions: 1) All questions arecompulsory.
2) Figures to the rightindicate full marks.
3) Draw diagramswherever necessary.

1. Solve the following case study :

In well reputed college, there is a very heavy rush during admission procedure.
Management faces the problems of giving admission to the students. If the system
iIs manual, minimum 15 min will be required for the clerk to verify the form,
prepare fee receipt and collect cash from the student. Due to that other students
in the queue have to wait long time, because of that management want to minimize
the time required for the admission procedure. For this purpose it is necessary
to plan and automated admission system where job of preparing merit list, fee
receipt, ... etc. Due to automated system it is also possible to give timely
admission status to the student and answer to all queries raised by student.

As student information is stored by this system, it is also possible to use that
data for preparing various certificate like leaving certificate, Transfer certificate,
character certificate, etc.

a) Draw E-R diagram for the above case.
b) Draw context level DFD and break it till fist level.

c) Design input and output screen for above system.

2. Answer the following (any four) :
a) What is system ? Explain its types.
b) Explain structure chart with example.
c) Explain ISO standards in detail.
d) Explain Implantation Strategies in detail.
e) Draw a Decision tree.

16

16

P.T.O.
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ABC Co. Itd decides to give Diwali bonus to all employees for which the
management has divided the employees into three categories namely
Administrative Staff (AS), Office Staff (OS), Workers (W) and considered the
following rules.

1) If the employee is permanent and in the as category the bounds amount is
three months salary.

i) If the employee is permanent and in the OS category the bonus amount is two
salaries.

i) If the employee is permanent and in the W category the bonus amount is one
month’s salary.

Iv) If the employee is temporary then half of the amount is given to them as per
the permanent employee’s bonus amount.
3. Answer the following (any four): 16
a) What is System Maintenance ? Explain its types in detalil.
b) Explain Prototyping Model in details.
c) Compare alpha with Beta testing ?
d) Why feasibility study is needed ? Explain its types in brief.
e) Explain Test Data Generators in detalil.

4. Answer the following (any four) : 16
a) What are the advantages of decision table over decision tree ?
b) Explain the controlling Factors of Maintenance.
c) Explain CMM in details.
d) Explain SDLC in details.
e) Compare Reverse engineering with Re-engineering.

5. Answer the following (any four): 16
a) Explain Tuning and Optimization in details.
b) Explain fact finding techniques in detalils.
c) Whatis Testing ? What are the objectives of Testing ?

d) Comment on : “System Analyst acts like a bridge between customer and
software development team”.

e) Distinguish between Open and Closed System.

B/1/13/470
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Seat
No.
M.Com. (Semester — II) Examination, 2013
FINANCIAL ANALYSIS AND CONTROL
(2008 Pattern) (Compulsory Paper)
Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. An Enterprise having the following two proposals of investment.

Particulars Proposal | Proposal
A B
Cost of Investments (Rs.)| 20,000 28,000
Life of the Assets 4 c
(Years)
Scrap Value Nil Nil

Net income after depreciation and tax.

Year Rs. Rs.
Proposal 'A' | Proposal 'B’
2008 500 Nil
2009 2,000 3,400
2010 3,500 3,400
2011 2,500 3,400
2012 - 3,400

P.T.O.
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It is estimated that each of the project will require an additional working capital of
Rs. 2,000 which will be received back in full after the expiry of each project life.

Depreciation is to be provided under straight line method.

The present value of Re.1 to be received at the end of each year at 10% per
annum is given below.

Present value
Year

Rs.
1 0.91
2 0.83
3 0.75
4 0.68
5 0.62

You are required to assess the profitability of the projects on the basis of the
following methods.

1) Returnon Investment

2) Payback period

3) Discounted payback period

4) Profitability index. (20)
2. Explain how the cost is determined in respect of the following ?

1) Cost of preference shares

2) Cost of equity shares

3) Cost of debentures. (20)
OR
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A factory is currently working at 60% capacity and produces 1,200 units, at a
cost of Rs. 250 per unit as per details given below :

Particulars Per Unit Rs.

Direct material 100

Dircet labour 60

Variable overheads 30
Fixed overheads 20
Variable Exp. (Direct) 10
Selling Expenses (20% fixed) 15
Administration Exp. (90% fixed) 10
Distribution Exp. (80% variable) 5

Total 250

The current selling price is Rs. 300 per unit. At 70% capacity working, material
cost per unit increases by 2% and selling price per unit falls by 2%. At 90%
capacity working, material cost per unit increases by 5% and selling price per
unit falls by 5%. Estimate profits of the factory at 70% and 90% working

capacity.

(20)

3. What is break even analysis ? What are its assumptions and limitations ? (20)

OR

The sales and profit during two years were :

Year

Sales Rs.

Profit Rs.

2011

1,50,000

20,000

2012

1,70,000

25,000

You are required to calculate :
i) Break even point
i) P/V Ratio

i) Sales required to earn profit of Rs. 40,000.

iv) The profit made when sales are Rs. 2,50,000.
v) Variable costs of the two periods.

vi) Margin of safety in 2012.

(20)
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4. Define budget and budgetary control. State its objects and advantages. (20)
OR

The standard material cost to produce a tonne of chemical ‘X’ is :

300 kg. of material ‘A’ at Rs. 10 per kg.

400 kg. of material ‘B’ at Rs. 5 per kg.

500 kg. of material ‘C’ at Rs. 6 per kg.

During the period, 100 tones of chemical X were produced from the usage of :

35 tonnes of material ‘A’ at a cost of Rs. 9,000 per tonne.

42 tonnes of material ‘B’ at a cost of Rs. 6,000 per tonne.

53 tonnes of material ‘C’ at a cost of Rs. 7,000 per tonne.

Calculate price, usage and mix variances. (20)
5. Write short notes (any four) :

1) Limitations of capital investment appraisal.

2) Types of labour cost variance.

3) Sales budget.

4) Profit volume ratio.

5) Explict and implict cost.

6) Profitability index. (20)

B/1/13/16,520
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Seat
No.
M.Com. (Semester — II) Examination, 2013
INDUSTRIAL ECONOMICS (2012 Pattern)
(Compulsory Paper)
Time : 3 Hours Max. Marks : 100
N.B. : i) All questions are compulsory.
i) All questions carry equal marks.
1. State and explain scope of Industrial Economics. 20
OR
State and explain inter-relationship between industrial development and economic
development. 20
2. State and explain factors influencing on Location of industries. 20
OR
What is Industrial Productivity ? Explain factors influencing on Location of
industries. 20
3. State and explain role and problems of public sector in India. 20
OR
State and explain role and problems of small scale industries in India. 20
4. State and explain causes of Regional industrial imbalance in India. 20
OR
Explain Weber’s theory of industrial location. 20
5. Write notes on (any two) : 20

1) Significance of Industrial Economics.

2) Sargent ‘Florence’s theory of location of industries.
3) Role of private sector industries in India.

4) Importance of Industrial Regional Development.

P.T.O.
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Time : 3 Hours

N.B. : 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

[4370] — 203

M.Com. (Semester — II) Examination, 2013
BUSINESS STATISTICS (Compulsory Paper)

(2008 Pattern) (New)

Max. Marks : 100

3) Use of statistical tables and calculator is allowed.

4) Symbols have theirusual meanings.

1. Attempt any four of the following :

a) Define the following terms :

b) Explain the concept of acceptance sampling.

c) Arandom variable X has following probability distribution :

a) Random variable
b) Probability distribution of discrete random variable
c) Statistics

d) P-value
e) Test of hypothesis.

X o|1]12]3]| 4|65
PX=x) | K | 4K | 5K | 7K | 2K | K
Find :

i) K i) P(1<X<3)

i) P(X>2).

20

d) Inan industrial complex the average number of fatal accidents per month is 0.5.

1) Without an accident ?

ii) With one fatal accident ? (Given e9-> = 0.606531)

The number of accidents follows Poisson distribution. What is the probability
that a month will pass ?

P.T.O.



[4370] — 203

e) Inan health survey on the relation between condition of mother and her child,
revealed the following results :

N Condition of
Condition of child
mother J«

Clean | Dirty
Clean 12 26
Dirty 16 06

Does there exist any relation between condition of mother and her child, at

5% L.0.S.?

Given y,? = 3.81,y,” =5.99, x,° = 7.81.

f) Arandom sample of 18 pairs of observations from a normal population gives
a correlation of 0.46. Is it likely that the variables in the population are

uncorrelated ? (Use 5% L.O.S., Given't,,

2. Attemptany four of the following :
a) State inter-relationship between Binomial, Poisson and Normal distribution.

b) Explain process control and product control.
c) Arandom variable X has following probability distribution :

P(X=x) |0.1]0.1

0.20.3

0.2

0.1

Find mean and variance of X.
d) State properties of normal distribution.

= 2.10)
20

e) A production department of a company knows from the past experience that
there is 30% chance of finding defect. If 10 units of the product are examined,
find probability that not more than 1 defective product is found.

f) Explain working of single sampling plan.
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3. Attemptany four of the following : 20

a) Define the following terms :
i) AQL i) LTPD lii) Producers Risk
Iv) Consumers Risk v) Control Limits.

b) Explain the procedure of % test for goodness of fit.

c) The mean life of sample of 10 electric bulbs was found to be 1456 hours with
standard deviation 423 hours. A second sample of 17 bulbs chosen from a
different batch showed a mean life of 1280 hours with standard deviation of
398 hours. Is there a significant difference between the means of two batches ?
Use 5% level of significance.
(Givent, =2.06, t,,= 2.056, t

' 726 127

=2.052)
d) Explain method of moving averages to measure trend in time series.
e) Find 5-yearly moving average for the following data on sales :

Year [2002| 03 | 04 | 05 |06 | O7 | 08 | 09 | 10

Sales | 23 | 26 | 18 | 32 | 20 | 12 12 | 10 | 09

f) Fit a trend line to the following data by least square method. Also obtain
production for the year 2005 :

Year 2000 | 2001 | 2002 | 2003 | 2004

Production 18 22 28 42 70

4. Attemptany two of the following : 20

a) 1) Suppose X —B(n, p)
i) If E(X) =16, Var (X) = 3.2, find n and p.
i) If E(X) =20, n =30, find p, Var (x) and SD of X.

II) Classify the following random variable as discrete or continuous :
i) Number of two wheelers passing through bridge during 9a.m.to 11 a.m.
i) Life of an electric bulb
i) Number of students present in a class on a day
iv) A coin is tossed till head appears
v) Weight of student.
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b) If X —N(20,10%), find

i) P (X > 40)

iii) P (15 < X < 40)

ii) P (X <32.5)

iv) E (Y)and Var (Y), where Y =3 X + 5.

c) Below are given the means and ranges of 10 samples of size 5 each taken

from a certain production process at regular intervals

43 | 49

37

44

45

37

51

46

43

47

R| 5|6

5

7

7

4

8

6

4

6

Givenn =5, D, =0, D, = 2.115, A, = 0.58. Draw X chart, R chart and

comment.

5. Attemptany two of the following :

20

a) Draw P chart for following data of number of defectives in 10 samples of size
50 each and comment on the result.
8,6,57,2,53,8,4,4

b) What do you mean by time series ? Explain different components of time

series.

c) The following data relates to weights of 10 persons before joining a health
club and after 6 months from joining it. Test whether there is a significant
change in the weights after 6 months from joining the club. (Use 1% l.o.s.

givent, =3.25,t = 3.16)
Participant No. 2 3 5 6 7 8 9 10
Weight before
120 | 125 | 115 | 130 123 119 | 122 | 127 | 128 | 118
joining club
Weight after
111 | 114 | 107 | 120 | 115 @ 112 | 112 | 120 | 119 | 112
6 months

B/1/13/1,940
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Seat]
No.

M.Com. (Semester — II) Examination, 2013
Group — A : Advanced Accounting and Taxation (Special Paper — IV)
BUSINESS TAX ASSESSMENT AND PLANNING
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 100

Instructions: 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.
3) Readall the questions very carefully before attempting
the questions.

1. Write short notes on any four of the following : 16
a) Income Tax Authorities.
b) Assessment of local authority.
c) Exemptions U/S 11 (Charitable Trust).
d) Deduction of Tax atSource.
e) Assets under Wealth Tax Act.
f) Merits and Demerits of VAT.
2. Answerany two of the following. 14
a) Offences and prosecutions under Income Tax Act.
b) Taxable services under Service Tax Act.
c) Tax Planning considerations in relation to business.

d) Registration procedure under M.VAT.

P.T.O.
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3. Mr. Amol, Mr. Bharat and Mr. Chetan are the partners in a firm sharing profit
and losses in the ratio of 4 : 3: 3. The following is the profit and loss account of
the firm for the year ending 31-03-2013.

Particulars T Particulars T

To Salaries 3,50,000 By Gross Profit 24,00,000
To Rent 50,000 By Profit on Sale of Car 2,10,000
To Mis. Expenses 1,00,000 By Bad debts recovered

To Car Expenses 60,000 (Previously taxed) 50,000
To Advertisement 50,000 By Interest on Bank Deposits 50,000
To Income Tax 3,80,000 By Dividend from Indian Com.  1,00,000
To Donations 20,000

To Commission to

partner Mr. Amol 2,00,000
To Salary to partners

Mr. Bharat 3,00,000

Mr. Chetan 1,50,000 4,50,000

To Interest on Capital
Mr. Amol 60,000
Mr. Bharat 37,500

Mr. Chetan 52,500 1,50,000
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To Depreciation 2,00,000
To Net Profit Transferred

Mr. Amol  3,20,000

Mr. Bharat 2,40,000

Mr. Chetan 2,40,000 8,00,000

28,10,000 28,10,000

Additional information :

a) Miscellaneous expenses paid include the private expenses of partner
Mr. Bharat Rs. 50,000.

b) Advertisementincludes % 20,000 which is not related to business.
C) }é of Car expenses relate to personal use of the partners.

d) Donations are paid to Municipal Corporation for promoting family planning.
e) Depreciation allowable as per the rules is% 1,50,000 (for business).

f) Rate of interest charged on capital is at 15% p.a.

g) Mr. Amol and Mr. Bharat were the working partners.

h) The Car purchased on 1-2-1998 forz 2,20,000 was sold on 31-12-2012 for
X 1,22,000 and its written down value as on 1-4-2012 was X 80,000 and it

was the only asset in that block of assets.

Compute the total income of the firm for A.Y. 2013-14. 20
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4. ABC Ltd. is a company carrying on business in the construction and sale of
residential flats. It furnishes the following data and request you to compile wealth
tax return and determine the tax payable for assessment year 2013-14.

Particulars Market Value
Ed

1. Land in rural area (it is within 5 kilometer of Pune,

construction is permissible; land was purchased in 1991) 62,78,600
2. Landin Urban area (Construction is not permitted

as per Municipal Laws) 30,00,000

3. Motor cars (one of them is imported X 5,00,000 ;

none of them is held as stock in trade) 12,60,000
4. Jewellery (not being held as stock in trade) 20,00,000
5. BankBalance 3,75,000
6. Cashinhand as per cash book 1,90,000

7. Guest house and land appurtenant thereto situated in rural area  8,00,000
8. Residential flats of identical size provided to 6 employees
for their use near factory which is situated in rural area
(salary of two of them exceeds % 5,00,000) 15,00,000
9. Residence provided to Managing Director
(Salary exceedsz 5,00,000) 10,00,000
10. Flats constructed and remaining unsold
(not being held as stock in trade) 30,00,000
11. Residence provided to a wholetime Director (Salary

% 4,20,000, the director owns 25% equity share capital) 19,00,000



O A A 5 [4370] — 205

12. Three let out residential houses given on rent (value of each being
¥ 50 lakh one of them is let out for only 50 days during 2012-13)

The company has taken a loan of% 6,00,000,% 50,000 and X 90,000 for
acquiring property number 4, 10 and 11 respectively. Find out the wealth tax
liability of the company for the A.Y. 2013-14. 10

5. Rohitas Co-operative Society Ltd. furnishes the following particulars of its
income for the previous year ending on 31 March 2013.

%

i) Interest on government securities 10,000
i) Profit from banking business 2,50,000
i) Income from purchase and sale of agricultural

implement and seeds to its members 1,50,000
Iv) Income from marketing of agricultural produce
of its members 2,00,000
v) Profits and gains of business 1,20,000
vi) Income from cottage industry 2,20,000
vii) Interest and dividends (gross) from other co-operative
societies 30,000

Compute total income of the society and calculate the tax payable by it for the
assessment year 2013-14. 20

6. Given below is the Profit and Loss Account of Bharat Mills Ltd; for the year
ended 315t March, 2013.

Particulars £4 Particulars £4
To Cotton 1,14,18,000 By Yarn Account 1,08,11,000

Stores 18,36,000 Cotton Account 96,25,000



[4370] — 205

Mills’ salaries & wages

General expenses

Donations

Municipal Tax & Insurance

Brokerage
Office expenses
Directors fees
Audit fees
Depreciation
Law charges
Repairs

Workmen's Welfare

Expenditure
Contribution to Staff
Provident Fund
Outstanding custom
Duty
Managing Agents
Commission
Income Tax

Net Profit

38,32,000

29,000

10,000
40,000
7,000
2,41,000
9,000
5,000
3,35,000
5,000

8,000

55,000

75,000

1,00,000

2,00,000

4,00,000

20,50,000

2,06,55,000

6 O A

Waste Account 1,21,000
Transfer Fees 8,000
Rent of Bungalows

and Chawls 58,000

Dividend from

Maharashtra Fertilisers Ltd. 32,000

2,06,55,000
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Additional Information :

1) ¥ 3,600 of brokerage was paid for cotton and stores purchases and balance
was in respect of loan for companies business.

2) Municipal Tax.X 7,000, insurancez 5,000 and repairs of ¥ 5,000 were
in respect of bungalows and chawils let out to employees.

3) Legal charges amounting to ¥ 4,000 were incurred in connection with the
purchase of additional buildings.

4) The staff provident fund was recognised one.

5) The amount of depreciation allowable u/s 32 of I.T. Rules isX 4,25,000.
6) Company has distributed dividend of Rs. 10 lakhs to its shareholders.

7) The company wants to claim a deduction ofX 1,00,000 under section
80 IB as per the provisions of I-Tax Act.

8) The company wants to set off brought forward loss of% 3,25,000 pertaining to
year 2007-08.

9) Donations were paid to Prime Minister’s National Relief Fund.

Ascertain the taxable income of the company for A.Y. 2013-14. 20

B/1/13/4,055
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Seat
No.

M.Com. (Semester — II) Examination, 2013
ADVANCED COST ACCOUNTING AND COST SYSTEMS
Special Paper — I
Application of Cost Accounting
(Group — B) (2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions : 1) Attemptall questions.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.

1. A) Fill'in the blanks : 5

a) The activity level which smooths out highs and lows of production is called
capacity.

b) Abnormal waste part of cost of production.

c) Capital losses shown in financial accounts are while reconciling
costing profit with financial profits.

d) is the result of combined input of variety of factors e.g.
materials, labour, capital, machines and management.

: - output
e) Machine productivity (measurement) = OUpwt

B) State whether the following statements are True or False : 5
a) Spoilage is not rectifiable.
b) Research and Development cost is a deferred revenue expenditure.

c) The value chain analysis describes the activities the organisation performs
and links them to the organisation competitive position.

d) Rent on owned building is not included in cost accounts.

e) Higher productivity reduces cost of production and improves the quality of
goods at lower rates to customers.

P.T.O.
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2. What do you mean by ‘value chain analysis’, and how is it useful in assessing

competitive advantage ?

3. Write short notes on any four :
a) Idle capacity
b) Amortization of interest on capital
c) Productivity vs. Efficiency
d) Human aspect of productivity
e) Defectives
f) Spoilage

4. Poona Ltd. provides you the following information as per cost books and financial
books. Prepare Reconciliation Statement. Cost accounts showed a profit of

Rs. 1,00,000.

Opening stock of Raw-Materials
Closing stock of Raw-Materials
Opening stock of W-I-P

Closing stock of W-I-P

Opening stock of Finished Goods
Closing stock of Finished Goods
Factory overhead

Office and Admn. OHS

Selling and Dist. OHS

Interest on Investment
Bad-debts written-off
Preliminary Exp. written-off
Rent (credit)

Transfer fees received

Legal charges

As per cost books

®.)
50,000
60,000
70,000
80,000
90,000
1,00,000
1,00,000
1,10,000
1,20,000

)
45,000
54,000
80,000
90,000
95,000

1,06,000
1,20,000
1,00,000
1,00,000
10,000
5,000
10,000
5,000
5,000
5,000

20
20

20

As per financial books
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5. The performance data of a steel plant indicate the following for the year
2011 -2012.

i) Steel output =4 million tonnes valued atX. 4,000 per Ton.

i) Raw-Material consumed = 6 million tonnes.
i) Average employment = 20,000. Each employee costX. 4,500 p.m.
iv) Energy consumed = 2 million M.W.Hrs.

v) Average capital employed =X. 20,000 millions.

20

Compute the factor productivities of man power, material, energy and capital

employed. Also compute the total factor productivity.

6. From the following data prepare a Reconciliation Statement.

Profit as per cost account %. 1,45,500
Works overheads under-recovered R 9,500
Administrative overheads under-recovered 2. 22,750
Selling overheads over recovered . 19,500
Over valuation of opening stock in cost a/c . 15,000
Over valuation of closing stock in cost a/c 2. 7,500
Interest earned during the year R, 3,750
Rent received during the year X. 27,000
Bad-debts written off R. 9,000
Prel. Expenses written-off . 18,000

10

B/1/13/2,970
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Seat
No.
M.Com. (Semester — II) Examination, 2013
Gr.B : Advanced Cost Accounting and Cost Systems
(Special Paper — V)
COST CONTROL AND COST SYSTEM
(New) (2008 Pattern)
Time : 3 Hours Max. Marks : 100
Instructions: 1) All questions arecompulsory.
2) Figures to the right indicate full marks.
3) Use of Calculator is allowed.
1. A) Fillin the blanks : (5)
a) Graphic representation of cost-volume-profit is known as
b) provides timely and meaningful information to managers and
supervisors at various levels to discharge their function.
C) is a corrective function.
d) In costing, managerial decisions are guided by contribution
margin than profit.
e) Marginal costingis a of cost accounting.
B) State whether the following statements are true or false (5)

a) Value analysis is a systematic identification of unnecessary costs.

b) Cost reduction seeks adherence to standards whereas cost control is a
challenge to the standards themselves.

c) There will be loss in marginal costing when there is production but no
sales.

d) A fixed cost is fixed per unit.

e) Activity based costing (ABC) aims at rectifying the inaccurate cost
information.

P.T.O.
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2. Discuss the followings : (20)
a) Value Analysis and Value Engineering

b) Activity Based costing

OR

Outline the steps involved in installing a cost system in a manufacturing unit,

what are the essentials of an effective costing system ? (20)

3. Write short notes (any four) : (20)
a) Difference between cost reduction and cost control
b) Justin time
c) Features of differential costing
d) Cost plus pricing
e) Cost profit volume analysis
f) Paretianalysis.

4. The following particulars are obtained from records of a company engaged in

manufacturing two products A and B from a contain raw material. (25)
Product A Product B
(Per Unit) (Per Unit)
% 04
Sales 100 200
Material Cost (X. 10 per kg.) 20 50
Direct Wages . 6 per Hour) 30 60
Variable Overhead 10 20

Total Fixed overhead . 10,000.
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Comment on the profitability on each product when

a) Total sales potential in units is limited (Key factor).

b) Total sales potential in value is limited.

c) Raw-material is in short supply.

d) Labour is the limiting factor.

e) When total availability of raw material is 4000 kgs. and maximum sales potential
of each product is 1000 units, find the product mix to yield optimum profit.

5. Bindra Ltd. is running its plant at present at 50% of capacity. The management

has supplied you the following details. (25)
Particulars Cost of production
per UnitX
Direct Materials 4
Direct Labour 2
Variable overheads 6
Fixed OHS (fully absorbed) 4
16
Production per month 40,000 Units
Total cost of production
(40,000 Units xX 16) ¥6,40,000
Sales price
(40,000 Units xX 14) ¥5,60,000
-80,000

An exporter offers to purchase 10,000 Units per month @ Rs. 13 per Unit and the
company is hesitating in accepting the offer due to fear that it would increase its
already large operating losses.

Advise whether the company should accept or decline this offer.

OR
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5. A, Band C are three similar plants under the same management who want

them to be merged for better operation. The details are as under : (25)
Plant A B C
Capacity operated 100% 70% 50%

) ) )

(inlakhs) (inlakhs) (in lakhs)

Turnover 300 280 150
Variable cost 200 210 75
Fixed cost 70 50 62
Find out :

1) The capacity of the merged plant for break-even and what is P/V ratio of
merged plant.

i) The profit at 75% capacity of the merged plant.

lii) The turnover from the merged plant to give a profit of Rs. 28 lakhs.

B/1/13/2,935
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Seat
No.
M.Com. (Semester — II) Examination, 2013
BUSINESS PRACTICES AND ENVIRONMENT
Special Paper — I

Modern Business Practices

(Group — C) (2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions : 1) Allquestions are compulsory.
2) All questions carry equal marks.

1. Explain the organisation structure and functions of Maharashtra Chamber of
Commerce.

OR

1. Explain the functions of Federation of Indian Chamber of Commerce and
Industries.

2. Explain the organisation, objectives and functions of Maratha Chamber of
Commerce.

OR

2. Describe organisation, functions and policies of Public Enterprises in India.

3. Explain Government policies, problems and prospects of Agricultural Business
in India.

OR

3. Explain nature and characteristics of Agricultural Business in India.

4. What is ‘Agricultural By-product ? Explain in detail the nature and disposal of
Agricultural By-product.

OR

4. Explain the impact of WTO (World Trade Organisation) on Agri-business practices.

5. Write short notes (any four) :
a) Indian Merchants Chamber
b) Confederation of Indian Industries
c) Efficiency of Public Enterprises
d) Agricultural Taxation Policy
e) Dairy Business in India

f) Farm Waste.

P.T.O.
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Seat
No.
M.Com. (Semester — II) Examination, 2013
Group — C : Business Practices and Environment
Special Paper — IV (2008 Pattern)
BUSINESS ENVIRONMENT ANALYSIS
Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. “Foreign Investment and Technology plays vital role in industrial growth”
Discuss. 20

OR
Write detail note on, “ Role of small and cottage industries in industrial growth.”

2. Explain the role of Money Market and capital market in Financial Environment

of Business. 20
OR

A) Explain the role of Private Banks in Financial Environment of Business. 10

B) State the techniques of environmental analysis. 10

3. A) What is Social Injustice ? How it affects on Growth of Business ? 10

B) What is Inflation ? Describe its effects on growth of business. 10
OR

A) Define unemployment. State remedies to solve the problem of unemployment. 10
B) Explain competition analysis-Threat of New Entrants. 10

4. What is Global Environment ? Explain the impact of natural and cultural

environment on world trade. 20
OR
A) State the importance of Global Environment in business point of view. 10

B) Write detail note on “Effects of regional imbalance on growth of business”. 10

P.T.O.
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5. Write notes (any two) : 20

1) Role of public sector in industrial environment.

2) Bargaining power of Supplier and Buyers.

3) Limitations of Techniques of Analysis.

4) Demographic Environment

5) Reasons of poverty.

TS FATR
e : §) T T AV TR,
?) @& JHTT GHIT T 377E.
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Seat
No.
M.Com. (Semester — II) Examination, 2013
BUSINESS ADMINISTRATION
Special Paper — lll (Group — D)
Marketing Management
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

What is Marketing Management ? Give explanation about various functions of
Marketing Management.

OR
Describe various steps taken for improving and the measures taken for
overcoming difficulties in Rural Marketing.
Define and explain market information system. Describe its importance and
functions.

OR
Describe various theories or models of Biased behaviour.

Explain the buying behaviour of Indian Consumer.
OR
Define Marketing Ethics. Explain its characteristics and need for marketing ethics.

Explain in brief various difficulties in customer relationship management.
OR
What is marketing communications ? Explain its importance.

Write short notes on (any four) :

a) Marketing management

b) E-Commerce

c¢) Limitations of marketing planning

d) Marketing communication
e) New trends in marketing communications

f) CRM.

P.T.O.
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Seat
No.

M.Com. (Semester — II) Examination, 2013
BUSINESS ADMINISTRATION (Special Paper — IV) (Group — D)
Financial Policies and Practices
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. What is break even analysis ? Explain the uses and limitations of break-even
analysis.

OR
1. Whatis break-even point ? Explain the various graphs of break-even analysis.

2. Whatis dividend ? State the various variables influencing dividend policy.
OR

2. What do you mean by over and under capitalization ? Discuss the implications
of over and under capitalization.

3. Explain the role of balance sheet and cash flow statement in framing financial
policy.
OR

What is business combination ? Explain in detail the forms of mergers.
A) Define venture capital. Explain in brief the functions of venture capital.

B) What is derivative market ? Explain the types of derivative market.

a > b~

Write short notes (any two) :

a) International parity relationship

b) Features of World Monetary System
¢) Nature of lease financing

d) Commercial papers.
P.T.O.
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Seat
No.
M.Com. (Semester — II) Examination, 2013
Group-E : Commercial Laws and Practices
Special Paper — 1l (2008 Pattern)
E-SECURITY AND CYBER LAWS (New)
Time : 3 Hours Max. Marks : 100

N.B. : Allguestions are compulsory and carry equal marks.

1. Whatis Internet security ? Explain the major types of problems in Internet security.
OR
1. What is Electronics security ? Explain the various Electronics security tools.

2. What is Front Page Editor ? Explain various features of Front Page Editor.
OR
2. Write note on :

a) E-Governance
b) Cyber Regulation Advisory Committee.

3. What is retention of electronic records ? Explain the duties of subscriber as per
Information Technology Act, 2002.

OR

3. Explain the various miscellaneous provisions under section 80 to 94 as per
Information Technology Act, 2002.

4. What is E-Commerce and E-security ? Explain the types of computer crimes.
OR
4. What is Cyber laws ? Explain the role of Internet Service Provider (ISP).

5. Write short notes on (any four) :
a) XML
b) Privacy on the Internet
¢) Information useful to Intruders
d) Front page explorer
e) Internet

f) Information Technology Act, 2002 (I.T. Act, 2002).
P.T.O.
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Seat
No.
M.Com. (Semester — II) Examination, 2013
Group E : Commercial Laws and Practices
Special Paper — IV
LAWS RELATING TO COPYRIGHTS AND DESIGNS
(2008 Pattern) (New)
Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.

1. Explain the need of Copyright Society. State the function and rights of Copyright
Society.
OR

What is meant by Copyright ? Explain the procedure of application for registration
of copyright.

2. What s a “Design” ? Which designs are registrable under the Designs Act, 2000
? State the rights of the proprietor of registered design.

OR

Define the term “New Plant Variety”. Describe the rights of farmer under the
protection of Plant Varieties and Farmers’ Rights Act, 2001. Also explain the
rights of communities.

3. State the provision of Layout Design Act, 2000 with reference of Piracy of
Registered Design and its remedies.

OR

State the Composition of Layout Design Appellate Board. What are the
gualifications for appointment as a Chairman of the Board ? Describe the
procedures and powers of the Appellate Board.

P.T.O.
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4. Answer the following questions in brief (Any two) :

1) What facts a plaintiff has to establish to prove piracy of a design under the
Designs Act, 2000 ?

ii) State the Plant Varieties which can be and cannot be registered under
Protection of Plant Varieties and Farmers’ Rights Act, 2001.

lii) State the rights conferred by the registration of ‘Geographical Indication’.

iv) Explain “Certificate of Validity” under the Geographical Indications of Goods
(Registration and Protection) Act—1999.

5. Short notes (any four) :
1) Subject matters of Copyright.
i) Industrial design.
iii) Plant Varieties Protection Appellate Tribunal.
iv) Offences under the Copyright.

v) Revocation and Cancellation of Certificate under Plant Varieties and Farmers’
Right Act, 2001.

vi) Powers of Central Government as per the Geographical Indications of Goods
(Registration and Protection) Act, 1999.
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Seat
No.
M.Com. (Semester — II) Examination, 2013
Co-Operation and Rural Development (Special Paper — l1ll)
INTERNATIONAL CO-OPERATIVE MOVEMENT (Group — F)
(2008 Pattern)
Time : 3 Hours Max. Marks : 100
Instructions : 1) All questions arecompulsory.
2) Figures to the rightindicate full marks.
1. Critically examine the development of Co-operative movement in the world. 20
OR
Explain the development of Co-operative movement in Great Britain after the
Industrial Revolution. 20
2. “Co-operative is both a system and a sector”-Discuss. 20
OR
Explain the role of Co-operative philosophy in Co-operative movement. 20
3. Explain the role of Co-operatives in USA. 20
OR
How is the development of China dependent on Co-operatives ? 20
4. Explain the future of co-operatives in the post globalised world. 20
OR
Explain the economics of Co-operation. 20
5. Write short notes (any two) : 20

a) Concept of Co-operation.

b) International Co-operative Alliance
c) Co-operative movement in Israel
d) Modern Principles of Co-operation.

P.T.O.
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Seat
No.

M.Com. (Semester — II) Examination, 2013
ADVANCED BANKING AND FINANCE (Special Paper — IlI)
Group (G) Banking Law and Practices
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions are compulsory.

2) All guestions carry equal marks.

1. Who would be found guilty of the offence of money laundering as per the
Prevention of Money Laundering Act, 2002 ? How do you think would the Know
Your Customer guidelines of the RBI help keep money laundering under check ?
Answer your question with respect to the RBI guidelines on money laundering.

OR

Explain provisions of the Prevention of Money Laundering Act, 2002 pertaining
to attachment, adjudication and confiscation.

2. “The principal relationship that a banker shares with his customer is that of a
debtor and creditor and the remaining relations stem out of this.” Comment.

OR

Explain in detail the applicability of the law of limitation to different bank
transactions.

3. What do you understand by an asset and a liability ? What are important assets
and liabilities on the balance sheet of a bank ? What could be the prominent
reasons on account of which a banker may face asset liability mismatches ?

OR

“If the risks faced by a banker in the business of banking are reduced, the asset
liability mismatches would be done away with,” critically appraise.

4. “Technological improvements in provision of banking services have caused
mergers and acquisition in banking sector of India.” Do you agree or disagree ?
lllustrate your answer with examples.

OR

Explain in detail various current tools of Hi-tech banking.

P.T.O.
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5. Write notes on (any two) :

a) RBI guidelines pertaining to the obligations of banks under Prevention of
Money Laundering Act, 2002.

b) Recommendations of the Goiporia Committee.
c) Classification of the Assets and Income Recognition Norms.

d) Creditinformation Bureau of India Limited (CIBIL).
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Seat
No.
M.Com. (Semester — Il) Examination, 2013
ADVANCED BANKING AND FINANCE
Special Paper — IV : Monetary Policy
(Group — G) (2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.

=

i) Explain the objectives of Monetary Policy.

i) Bring out the conflict among the objectives of Monetary Policy.
OR

1) How is Money Supply measured by the Reserve Bank of India ?

i) What is High Powered Money ?

2. 1) What is Monetary Policy ?

i) Explain the recent changes in Monetary Policy of the Reserve Bank of India.
OR

Explain the following :
i) Difference between quantitative and qualitative methods of Credit Control.
i) Reserve Bank of India and Export Credit.

3. Discuss the developmental and promotional role fo Reserve Bank of India.

OR

Explain the working and effectiveness of Bank Rate and Open Market Operations
as instruments of Monetary Policy.

4. Explain the role of the Reserve Bank of India in rural credit.
OR
Discuss the role of Reserve Bank of India in Industrial Finance.

5. Write notes (any two) :
a) Recommendations of the Working Group on Money Supply (1998)
b) Price Stability
c) Variable Reserve Ratio

d) Regional Rural Banks (RRBS).
P.T.O.
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Seat
No.
M.Com. (Semester — II) Examination, 2013
ADVANCED MARKETING (Special Paper — Ill)
Customers Relationship Management and Retailing
(Group — H) (2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions arecompulsory.
2) All questions carry equal marks.

1. Explain the importance of customer relationship management and discuss the
various factors affecting customer relationship management.

OR

1. Discuss the evolution of relationship management in India and explain the
procedure of customer relationship management.

2. What is Relationship Marketing in Mass Markets ?

Discuss the advantages and disadvantages in Relationship Marketing in Mass
markets.

OR

2. Explain the following :
a) Role of Relationship Marketing in services marketing.

b) Customer’s expectations in Relationship Marketing.

3. Explain the role of Information Technology in customer relationship management.
OR

3. What is Internet Marketing ? Explain the dynamics of a website.

P.T.O.
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4. Discuss the steps in selecting site and explain the various factors affecting site
selection.

OR

4. Explain:
a) Importance of CRM in retailing.
b) Features of Retail Supply Chain Management.

5. Write short notes on (any four) :

a) Components of relationship marketing
b) Buyers sellers relationships.

c) Digital marketing.

d) Non-store retailing.

e) Space mix.

f) Electronic data exchanges.
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Seat
No.
M.Com. (Semester — II) Examination, 2013
ADVANCED MARKETING
Special Paper — IV
Services Marketing
(Group-H) (2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions : 1) Allquestions are compulsory.
2) All questions carry equal marks.
3) Figures to the right indicate full marks.

1. Whatis ‘Service Marketing’ ? Explain the main features of service sector in
India.

OR

1. How ‘4 P’s can be used by Marketing Managers in India as an important marketing
tools for boosting marketing activities.

2. “Three Additional P’s (People, Physical Evidence and Process) are inevitable
and which cannot be avoided by Marketing Managers in addition to the traditional
4 P’s to sustain in the Indian Market”. Are you agree with this statement ? Justify.

OR

2. What is service market segmentation ? Explain in detail the problem areas of
market segmentation.

3. You are appointed as Marketing Manager (services) in one of the Insurance
Company. Design the suitable marketing strategy for launching innovative
Insurance productin India.

OR

3. “Keep your customer Happy all the times” Discuss the statement with example
and highlight the role of various add-on services in making your customer happy.

20

20

20

20

20

20

P.T.O.



[4370] - 219 2- O

4. What is Technology Service ? Explain various processes of Technology Service. 20

OR
4. “Retailing has occupied an important role in Indian consumer market”. Explain
the role of Retailing in context of Foreign Direct Investment in Retail sector. 20
5. Write short notes (any four) : 20

a) Importance of service marketing

b) Role of Internet in services distribution

c) Methods used for handling complaints for customer satisfaction
d) Service life cycle

e) Event management services

f) Consultancy services.
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — II) Examination, 2013
202 : RELATIONAL DATABASE MANAGEMENT SYSTEM

Time : 3 Hours Max. Marks : 80

Note : i) All questions arecompulsory.
i) All questions carry equal marks.
i) Figure to the right indicate full marks.

1. Attemptall : (8x2=16)
a) What is database management system ? State applications where databases
are widely used.
b) Define:
1) Candidate key i) Super key

c) Which are built-in types in SQL ?
d) Whatis binary relationship ?
e) What are commit and rollback ?
f) Which are different fields of log record ?
g) Which are two different types of locks on the data item ?
h) What is composite attribute ?
2. Attemptany 4 : (4%x4=16)
a) What is data abstraction ? Explain data abstraction with the help of diagram.

b) Explain following operators with example
1) Set-difference i) Cartesian product

c) What s a constraint ? Explain the NOT NULL and unique constraints.
d) Explain generalization with example.

e) What is multivalued dependencies ? Explain with example.
P.T.O.
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3. Attemptany 4 : (4x4=16)
a) What is serializability ? Explain conflict serializability with example.
b) Write a note on 2-phase locking protocol.

c) What is log based recovery ?

d) Define:
1) Wait-die i) Wait-for-graph
lii) Precedence graph Iv) Wound-wait

e) Explain multiple granularity locking protocol.
4. Attempt the following : (10+6=16)

a) Attempt the following : (1x10=10)
Design a E-R diagram for the following scenario.
Identify entities and relationships.

“Niramay Hospital” consist of many patients where patients may be out-patients
or in-patients. If in-patients they are admitted in rooms. Patients are provided
with all facilities like lab test and medicines. Hospital runs its own lab and
medical stores.

Doctors treat the patient and their complete payroll is computerized.
b) Attemptall : (2x3=6)

a) What is a relation ? Which are different types of relationship between
two entities ?

b) Write a note on Data Access.
5. Attempt the following : (10+6=16)

a) Consider the following Schema : (5%2=10)
Doctor (dno, dname, addr, city)
Patient (p_no, pat_name p_addr, disease)
Doct_patient (dno, pno)

Doctor and patient are related with many-many to relationship.
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Solve the following query using SQL.

1) Find the number of patients visited by “Dr. Pande”.
i) Delete all the patients suffering from “Viral fever”.
lii) Insert a row in doctor table.

Solve the following query using relational algebra :

1) Find the list of doctors from “Pune” city.
i) Find the patient numbers treated by “Dr. Amte”.

b) Attempt all : (2x3=6)
a) Consider the following transactions :

Tl T2 T3

R(A) R(C) R(B)

A=A+50 R(B) R(C)

W(A) W(B) B=B+10

R(B) R(A) W(B)

B=B-50 A=A-C C=C+8B

W(B) W(A) W(C)

Find out a schedule which is serializable to serial schedule <T,, T,, T5>.

b) Consider the following non-serial schedule. Is this schedule serializable to
serial schedule <T, T,>?

Tl T2
R(A)
A=A-N
R(A)
A=A+N
W(A)
R(B)
W(A)
B =B+N
W(B)

B/1/13/1,385
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Seat
No.
M.C.A. (Commerce Faculty) (Semester — Il) Examination, 2013
203 : COST ACCOUNTING AND COST CONTROL TECHNIQUES
Time : 3 Hours Max. Marks : 80
N.B.:1) All questions arecompulsory.
2) All questions carry equal marks.
3) Use of calculator is allowed.
1. A) What do you understand by the term ‘Cost Unit’ ? State the different cost unit

used in industries. 8
B) Explain the limitations of Financial Accounting. 8
Write short notes (any four) : 16

1) Functional Classification of overhead.
2) Under and over absorption of overhead.
3) Advantages of Job Costing.

4) Break Even Point.

5) Machine hour rate.

6) Features of operating costing.

The cost accounts of Ganesh Ltd. Nasik for the year ended 31-03-2012 showed
the following information. 16
Types of Stock Ason1-4-11 Ason 31-3-12
Raw Material 65,000 50,000
Work in Progress 10,000 7,500
Finished stock 15,000 5,000
Rs.
Underwriting commission 10,000
Purchase of Raw materials 2,60,000
Selling overheads 8,000
Drawing office salaries 12,000
Productive labour 1,65,000

P.T.O.
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Audit fees 7,000
Establishment on cost 2,000
Steam, gas and water 1,500
Sales 5,50,000
Rent (factory 2/ , Office }é ) 15,000
Architect’s fees 10,000
Wages outstanding 5,000
Octroi and duty 5,000
Distribution on cost 2,000

Prepare a cost sheet showing.
1) Cost of material consumed
2) Prime cost

3) Works cost

4) Cost of production

5) Total cost

6) Profit.

4. A product ‘X’ passes through three processes A, B and C. 10,000 units were
iIssued to process ‘A’ at cost Rs. 10 per unit. Prepare process account. 16
Particulars Process A Process B Process C
Sundry materials Rs. 10,000 15,000 5,000
Wages Rs. 50,000 80,000 65,000
Direct expenses Rs.15,300 18,100 30,828
Normal scrap % 3% 5% 8%

Value of scrap perunit Rs. 2.50 5.00 8.50
Actual output units 9,500 9,100 8,100

OR
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4. From the following information relating to Royal Transport Co. Nasik. Calculate

the cost per running k.m. 16
Wages to Drivers per month Rs. 5,000
Cost of Diesel per liter Rs. 45
Cost of oil per year Rs. 600
Annual cleaning and servicing Rs. 2,400
Insurance charges per year Rs. 12,000
Yearly Road Tax Rs. 4,800
Repairs & maintenance for year Rs. 12,000
Cost of Tyre, Tubes etc. per year Rs. 6,000
Diesel km per liter km. 15
Cost of vehicle Rs. 10,00,000
Estimated life Year 15
Residual value of vehicle Rs. 1,00,000
Estimated annual run Km. 60,000

5. The expenses budgeted for production of 10,000 units in a factory are furnished

below : 16
Particulars Per Unit (Rs.)

Materials 70

Labour 25

Variable overheads 20

Fixed overheads (Rs. 1,00,000) 10

Variable expenses (Direct) 5

Selling expenses (10% fixed) 13

Distribution expenses (20% fixed)

Administration expenses (fixed)
Rs. 50,000

Total cost per unit Rs. 155

Prepare a Budget for production of
a) 8,000 units and
b) 6,000 units.

OR
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A) From the following find out :

B)

a) P.V.Ratio

b) Break-Even Point

c) Net profit if the sales were Rs. 2,50,000
d) Salesto get a net profit to Rs. 70,000

Position of Rama and Co. Ltd. For the year ending 31-12-2010. 8
Rs.

Sales 2,00,000

Marginal cost 1,50,000

Contribution 50,000

Less fixed cost 15,000

Net profit 35,000

The standard time and rate for Unit Component A are given below.
Standard hours 15

Standard rate Rs. 4 per hour

The Actual data and related information are as under :

Actual production 1000 units
Actual hours 15300 hours
Actual rate Rs. 3.90 per hour

You are required to calculate :

1) Labour cost variance

2) Labour efficiency variance

3) Labour rate variance. 8

B/1/13/1,325
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Seat
No.
M.Com. (Semester — Ill) Examination, 2013
BUSINESS FINANCE
(2008 Pattern) (Compulsory Paper)
Time : 3 Hours Max. Marks : 100

Instructions : 1) Allquestions are compulsory.
2) All questions carry equal marks.

1. What is ‘Business Finance’ ? Explain objectives and importance of business
finance.

OR

1. Define the term ‘Time Value of Money’, and ‘Present Value of Money’. Explain
the importance of Time value of money.

2. What is ‘Strategic Financial Planning’ ? Explain the objectives and limitations of
Strategic Financial Planning.

OR
2. What is over-capitalisation ? State the causes and effects of over capitalisation.

3. What s dividend policy ? Explain the measures of dividend policy.
OR
3. Whatis ‘debenture’ ? State the advantages and disadvantages of debenture.

4. Explain the term ‘short term financing’. Explain advantages and disadvantages
of ‘short term financing'.

OR
4. Explain evaluation of project in respect of following points.
a) Commercial analysis
b) Financial and Managerial analysis.

5. Write short notes on (any four) :
a) Scope of business finance
b) Future value
c) Under capitalisation
d) Importance of project financing
e) Working capital
f) Trade credit.
P.T.O.
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Seat]
No.

M.Com. (Semester — Ill) Examination, 2013
Advanced Accounting and Taxation (Special Paper — VI)
SPECIALISED AUDITING (Group — A)

(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

Explain the provisions of Income Tax Act regarding Compulsory Tax Audit.
OR

. Whatis Internal Audit ? Distinguish between Internal Control and Internal Audit.

Write short notes (any two) :

a) Contents of Form 3 CA

b) Purpose of Internal Audit

c) Audit Reports of Banks

d) Salient features of Bank Audit

State the special features of Audit of Co-operative Societies with special
reference to Maharashtra State Co-operative Societies Act, 1960.

OR
Describe special features of Audit of Charitable Trust.

Give the objectives of Audit of Government Accounts. What are the Role and
Powers of C and AG in relation to the Audit of Government Company ?

OR
State the special features of Audit of Club and Public Sector undertaking.

Write short notes (any two) :

a) Audit of Hotel

b) Audit Reports of Co-operative Societies
c) Audit of Educational Institutions

d) Audit of Local Bodies.

B/1/13/1,625
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Seat
No.
M.Com. (Semester — Ill) Examination, 2013
Group-B : Advanced Cost Accounting and Cost System
Special Paper — V

COST AUDIT

(2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions : a) Attemptall questions.
b) Each question carries 20 marks.
c) Use of non-programmable calculator isallowed.
d) Marks are awarded not to the length, but to the content
of your answer.

1. ‘Cost Audit is efficiency audit’. Discuss the statement in view of the matters
covered under Cost Audit of any manufacturing organization.

OR
1. Explainthe advantages and limitations of Cost Audit.

2. State the legal provisions regarding Appointment, Qualifications, Rights and Duties
of a Statutory Cost Auditor.

OR

2. You have been appointed as a cost auditor of a company. Give a broad outline of
the Cost Audit Programme that you would follow in an industry with which you
are familiar.

3. Enumerate the various types and nature of ‘Audit Evidence’, and explain how the
Cost Auditor can make use of them.

OR

3. Whatis meant by Internal Control System ? Discuss the duties of Cost Auditor in
relation to audit of Inventory of any manufacturing company.

4. Explainin brief the contents of Cost Accounting Report Rules, 2011.
OR

4. What is meant by Cost Record ? Which companies are required to maintain cost
records as per Rule 3(1) of Cost Accounting Record Rules, 2011 ?

P.T.O.
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5. The following figures have been extracted from the Financial Accounts of
Manufacturing Firm for the first year of its operation :

Particulars Amount (Rs.)
Direct Material Consumption 50,00,000
Direct Wages 30,00,000
Factory Overheads 16,00,000
Administrative Overheads 7,00,000
Selling and Distribution Overheads 9,60,000
Bad Debts 80,000
Preliminary Expenses written off 40,000
Legal Charges 10,000
Dividend Received 1,00,000
Interest received on deposits 20,000
Sales (1,20,000 units) 1,20,00,000
Closing Stocks :

Finished Goods (4000 units) 3,20,000
Work-in-Progress 2,40,000

The cost accounts for the same period reveal that the direct material consumption
was Rs. 56,00,000. Factory overhead is recovered at 20% on prime cost.
Administration overhead is recovered at Rs. 6 per unit of production. Selling and
distribution overheads are recovered at Rs. 8 per unit sold.

Prepare :

i) Profitand Loss Account as per Financial Record
i) Profit and Loss Account as per Cost Record
i) Statement of Reconciliation

B/1/13/995
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Seat
No.
M.Com. (Semester — IlIl) Examination, 2013
ADVANCED COST ACCOUNTING AND COST SYSTEM
Special Paper — VI : Management Audit
(Group B) (2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions: 1) Attemptall questions.
2) All questions carry equal marks.
3) Use of calculator isallowed.

1. Define Management Audit. State and explain its nature, scope and objectives.
OR
Explain the relationship of Management Audit with different audits.

2. “Corporate image is an integral part of corporate strategy” discuss.
OR
What is meant by corporate culture ? Explain the elements of corporate culture.
Discuss the evaluation of corporate culture by the management auditor.
3. Define operational audit. Explain the objectives and programme for operational
audit.
OR
As a management auditor chalk out the programme to evaluate the following :
a) Research and development
b) Consumer services.

4. Write short notes (any four) :
A) Essentials of management audit
B) Scope of management audit
C) Preliminaries of management
D) Programme of management audit
E) Social cost benefit analysis
F) Evaluation of corporate image.

P.T.O.
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5. The project complex has given the following information :

Activity Duration (Months)
0-1 2
1-2 8
1-3 10
2-4 6
2-5 5
3-4 3
3-6 7
4-7 5
5-7 2
6-7 8

1) Construct the network diagram.
2) Determine the project duration using CPM. Calculate the total float.

OR

A small projectis composed of seven activities whose time estimates are given
in the following table :

Activity Time Required (days)
Optimistic Most likely Pessimistic

(to) (tm) (tp)
1-2 6 6 24
1-3 6 12 18
1-4 12 12 30
2-5 6 6 6
3-5 12 30 48
4-6 12 30 42
5-6 18 30 54

1) Draw the network diagram.
2) Find the expected duration and variance for each activity.

3) What is the expected project length ?

B/1/13/1,080
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Seat
No.
M.Com. (Semester — Ill) Examination, 2013
Business Practices and Environment
Special Paper — V
ENTREPRENEURIAL BEHAVIOUR
(Group — C)
(2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.

1. What are the qualities of a successful entrepreneur ?
OR

1. a) Narrate the importance of entrepreneurship training.

b) Explain the entrepreneurship training components.

20

10
10

2. What do you mean by achievement motivation ? Explain achievement motivation

as related to entrepreneurship problems, beliefs and attitudes.
OR

2. What are the skills and qualifications of a successful trainer-motivator ?

3. Explain in brief the process of identifying and assessing business opportunity.
OR

3. a) Highlight new trends in the service sector in India.
b) What is the scope for entrepreneurship in the service sector ?

4. Briefly explain the sources of development of achievement-motivation.
OR

4. Write a detailed note on selection of business opportunity.

10

20

10
10
20

20

P.T.O.
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5. Write short notes (any two) : 20

a) Training Methodologies

b) Post Training support
c) Importance of business opportunity guidance

d) Features of entrepreneurship.
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Seat
No.
M.Com. (Semester — Ill) Examination, 2013
BUSINESS PRACTICES AND ENVIRONMENT
Special Paper — VI
Entrepreneurship Development Pattern
(Group—-C) (2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions : i) Allquestions are compulsory.
i) All questions carry equal marks.

1. State the problems in Entrepreneurship Developmentin India.
OR
Explain the role of Government in Entrepreneurship Development.

2. State the role of specialised Institutions in Entrepreneurship Development
Programme.

OR

What is ‘Entrepreneurship within organisation’ ? State the changes in concept of
Entrepreneurship.

3. What is ‘Project Design’ ? State the importance of project design in developing
new business.

OR
Explain the important issues in Project management.

4. What is ‘critical path method’ ? Explain the importance of critical path method in
developing new business.

OR

Explain the effort for Entrepreneurship Development in India.

P.T.O.
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5. Write short notes (any four) :

a) Entrepreneurship, Research and Development.
b) Project Evaluation Review Technique

c) Project Identification

d) Project co-ordination

e) Creativity and innovation

f) Venture capital
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Seat
No.
M.Com. (Semester — Ill) Examination, 2013
BUSINESS ADMINISTRATION
Special Paper — V
Human Resources Management
(Group-D) (2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions : 1) Allquestions are compulsory.
2) All questions carry equal marks.

1. Whatis ‘Human Resource Management’ ? Explain various Functions of Human
Resource Management.
OR

1. Explainin detail “The Future of Human Resource Management in India”.

2. Explain the process of Manpower Planning.
OR
2. Explain various steps involved in the selection process of Employees.

3. Explain various methods of training.
OR
3. Write short notes on :
a) Types of Transfer

b) Promotion.

4. Explain various methods of Job Evaluation.
OR
4. Write short notes on :
a) Ethicsin performance appraisal

b) Quality circles.

5. Write short notes (any four) :
a) Scope of Human Resource Management
b) Social Problems of Female Employees
c) Retirement
d) Retrenchment of Employees
e) Benchmarking
f) Human Resource Outsourcing.
P.T.O.
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Seat
No.

M.Com. (Semester — Ill) Examination, 2013

COMMERCIAL LAWS AND PRACTICES
Special Paper — V
Laws Relating to International Business
(Group — E)
(2008 Pattern)
Time : 3 Hours Max. Marks : 100

=

Instruction : All questions are compulsory and carry equal marks.

State the modern systems of International Law.
OR

Explain International Customs and Modern Sources of International Law.

Explain the duties of Individual in International Law.
OR

Write detailed note on :
a) Racardo’s Theory

b) Classical Approach.

Explain in detail the National Regulation of International Business.
OR

Explain the various diplomatic modes of conflict resolution in International Law.

Explain the Nature and Scope of International Law.
OR

What are the different forms of trade regulation at National Level ?

P.T.O.
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5. Write short note on (any four) :
a) Arbitration
b) F.D.l. in International Trade
c) Neo-factor proportion theory
d) Ohlintheory
e) Rights of Individual in International Law

f) International Law.
TS ®UTR

T : 1) TS T ATTVIE HTe.
2) @& JeT GHIT 0T 3776,
3) TGYIGId] ges 3Tt JeTIHF TETal.

1. ATAWSER AT JMHF Tgdl e F:4.
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1. HATAWSER HRTETT QNI STAWET LRI 0T 3TEeh AT ¥aee .
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D
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ST Tagrd
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d) TRl 3T (classical approach).
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3. AT AN TR 999 (National Regulations) TRt s 3.
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Seat
No.
M.Com. (Semester — Ill) Examination, 2013
COMMERCIAL LAWS AND PRACTICES (Special Paper — VI)
World Trade Organisation — Norms and Practices
(Group — E)
(2008 — Pattern)
Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. Explain the background of multilateral trading system and principles of the WTO
trading system. 20

OR
Explain the structure of World Trade Organisation and their benefits. 20

2. Explain the role of W.T.O. in respect of liberalisation of Trade in Manufacture

and Agricultural Trade. 20
OR

Commenton W.T.O. Agreement’s Effects on least developed countries. 20

3. Explain “An Evolution of UR Agreement. “(Uruguay Round). 20
OR

Explain the following :
a) Principles underlying the Patents Law in India. 10
b) UR Agreement and developing countries. 10

4. What is Anti dumping ? Review critically the ‘Anti-dumping’ measures adopted
by W.T.O. 20

OR

Explain the difference between GATT and W.T.O. 20

P.T.O.
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5.

Write short notes (any four) : 20
a) Mis-understandings about W.T.O.

b) W.T.O. Accession

c) Features of Indian Patents Law

d) Trade Related Investment Measures

e) W.T.O. dispute settlement system.

f) Dumping Investigation.
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T
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Seat
No.
M.Com. (Semester — Ill) Examination, 2013
Group-H : ADVANCED MARKETING
Special Paper — V
International Marketing
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

N.B. : i) Allquestions are compulsory.
i) All questions carry equal marks.

1. What do you mean by International Marketing ? Describe its scope and objectives
in global competition.

OR
1. Write a detail note on ‘Export Documentation’.

2. A) State in brief various functions of World Trade Organisation.

B) Describe challenges and opportunities in International Marketing.
OR
2. A) Explain in brief Import-Export Policies.

B) State various facilities available to Export business.

3. Explain in detail the preliminaries for starting Export business.
OR

3. What do you mean by Export Pricing Policy and Strategy ? State various factors
affecting on pricing decision.

4. A) State procedure of obtaining export credit Insurance.

B) Write a note on ‘Marine Insurance’.
OR

4. A) How would you arrange finance for export ?

B) Describe significance of labelling and packing of goods in International
Marketing.

P.T.O.
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5. Write short notes on (any four) :
a) GATT
b) Role of EXIM Bank.
c) International Market Segment
d) ExportLicence
e) Registration of Exporter

f) Barriers in International Marketing.
S ® TR

geAr ;i) @d JeT TS0 HITTIE T8,
i) & YT G T ST,
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Seat
No.

M.Com. (Semester — Ill) Examination, 2013
Advanced Marketing (Special Paper — VI)
MARKETING RESEARCH (Group — H)

(2008 Pattern)
Time : 3 Hours Max. Marks : 100

Instructions: i) All questions arecompulsory.
i) All questions carry equal marks.
1. What do you mean by Marketing-Research ? Explain the role of Marketing
Research in Marketing.
OR
Define Research-Techniques. Enumerate the qualitative Research-Techniques.
2. Distinguish between Industrial Marketing Research and Consumer Marketing
Research.
OR
What do you know about Market Potential Analysis ? Explain the different methods
of Market Potential Analysis.
3. Define Hypothesis. Explain the characteristics of Good-Hypothesis.
OR
Define Marketing Mix. Explain the Ethics in Marketing Research.
4. Define Research-Design. What points are to be considered, while preparing
Research-Design ? Explain.
OR

Write notes :
A) Limitation of Marketing Research.
B) Methods of Collecting Market-Information.

5. Write short notes (any four) :

a) Advertising Research b) Multi dimensional scaling
c) Web-based Marketing Research d) Cluster Analysis
e) Sales Forecasting f) Viewership survey.

P.T.O.



[4370] — 318 0 0 0 AR O
ST EUTAT
G ;i) G I GISIAV HTTTAH TG,
i) @d T GHIT T 378,
i)y Tewiais! g 3Tt FeTIHHT YT,
1. TouuE-HeeH S . fouHme oo - SRl STHee fHeR T .
ferenn
TR -qeaTe] SAReAT |, TUITcHe ERNeH dcd fomg .
2. 3Trenfires fauom gemem STfor ures fouum Gemied =1 Srameie v wase / faere .
TeRan
T IS TIgeisur 31 e U1 i S0l ¢ G9Te SeRUS faveryom=an
AT fafay ggdt Tose .

3. TEA-qeATEl (TE ITHM) ST AT 7 Ao RId—-qearel (TEid—Tgamr)
Iyt Taee T
fera
oo - fargom=h sme grm. fagoe gy fAdt ac o .
4. FRNEH- AN ST GRT. NG TRRGST TR FAHT HIVEhIUId Jg /HEeh
formTd Srdel SITdTd. d €5 R,

fera

feu fotam
31) frooe - Sem AT 7t
) ASTRUS- A& Hehford HaT=aT Yga.
5. ofieaTa feut fofeT (SRivTeamst =)
SIS IHNGERNIEC] ) wgfay faeqm gadi= wHo
%) 99 FEr /deer e fawm gmen €) wg foweryo
3) farshl-3tes %) raarse qrevh,

B/1/13/535



L [4370] — 361

Seat]
No.

M.C.A. (Commerce Faculty) (Semester — Ill) Examination, 2013
301 : ADVANCED OPERATING SYSTEMS

Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Attemptany four of the following : (4%4=16)
a) Explain the role played by Post Quit Message.
b) What are queued and non-queued messages ?
c) State and explain the fields of PAINTSTRUCT and RECT structure.
d) What is the difference between dialog procedure and window procedure ?
e) Explain super block in unix operating system.
2. State true or false and justify your answer (any 4) : (4%4=16)
a) Windows supports GUI and provides GDI functions.
b) Windows runs on DOS operating system.
c) Common window controls generally send WM-COMMAND message.

d) An application requiring input focus calls create during WM-CREATE
messages.

e) Window is multiuser and multitasking system.
3. Answer the following (any 8) : (2x8=16)
a) Whatis Handle ?
b) What are virtual keys ?
c) Give any four characteristics of child window controls.

d) Define Modal Dialog Box.

P.T.O.
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e) What is memory device context ?

f) What is the use of system calls ?

g) What is logical region in unix ?

h) Give any two disadvantages of buffer cache.
1) What is callback function ?

j) Give the list of menu.

4. Answer the following (any four) : (4x4=16)
a) Write a window procedure to implement following
1) When ‘+’ is pressed — window size increases
i) When '~ is pressed — window size decreases.

b) Write a window procedure so that when mouse left button is clicked (down)
collect the co-ordinates and when left key up join all the co-ordinates.

c) Write awindow procedure to create a dialog box such that when ok button is
pressed student name, gender, address should be displayed.

d) Write a shell script to find armstrong number.
e) Write a shell script to determine if profit was made or lost incurred.

5. Attemptany four of the following : (4%4=16)
a) Explain algorithm sleep and wake up.
b) Explain how you can assign inode to a new file. Give the algorithm.

c) Describe the scenario where the buffer data is already valid in algorithm
bread.

d) Write short note on file system layout.

e) Explain shell commands.

B/1/13/390
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — Ill) Examination, 2013
303 : ENTERPRISE RESOURCE PLANNING AND MANAGEMENT

Time : 3 Hours Max. Marks : 80

Instructions : i) Solve any five questions.
i) All questions carry equal marks.
i) Give illustrations, draw diagrams whenever necessary.

1. Explain ERP implementation life cycle with all its phases.

2. Explain the following :
1) Business modeling
i) Integrated Management Information.

3. What is data mining ? Describe verification vs discovery model.

4. Explain the term vendor and what role he plays for ERP ? How vendor is
distinguishable from End-user ? Explain.

5. Write short notes :
i) ERP and Internet
i) ERP and E-commerce
i) Jd-Edwards
Iv) Oracle application.

6. What is ERP ? Describe benefits and limitations of ERP.
7. What is OLAP ? Describe its rules.

8. What is EDI ? Explain its evolution, benefits and services.

B/1/13/350
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — Ill) Examination, 2013
304 : BUSINESS STRATEGIES

Time : 3 Hours Max. Marks : 80

Instructions: 1) Black figures to the right indicate full marks.
2) All questions carry equal marks.
3) Allquestions are compulsory.

1. Answer the following (any four). 16
a) What do you mean by business strategy ?
b) Discuss the role of customers in business environment.
c) Explain the term “Strategic Alliance”.
d) Explainin short the systematic approach towards formulation of strategy.

e) Describe the essential qualities of strategist.

2. Answer the following (any four). 16
a) State and explain the political and legal environment of business.
b) State any five factors to be considered while designing production policies.
c) Explain the techniques of environmental analysis.
d) What do you mean by decision-making ?

e) State the sources of information for environmental scanning.

3. Answer any two of the following. 16

a) What do you mean by mergers and acquisition ? Explain their types with
proper examples.

b) Discuss the various types of business strategy.

c) What is a ‘Mission Statement” ? State and explain the elements of Mission
statement.

P.T.O.
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4. Answer the following (any four). 16
a) Distinguish between Economic and Social objectives.
b) Give the merits of strategic management.
c) Explain the term, “strategic surveillance”.

d) State and explain the essential features of an effective evaluation and control
system.

e) Explain the financial policies with suitable examples.
5. Write short notes (any four). 16
a) SWOT Analysis.
b) Elements of marketing.
c) Strategy for Launching of New product.
d) Postmerger integration.
e) Strategic planning.

f) Factors influencing competition.

B/1/13/410
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — Ill) Examination, 2013
305 : CYBER LAW AND ETHICS

Time : 3 Hours Max. Marks : 80

Note : i) Allquestions arecompulsory.
i) Figures to the right indicate full marks.
1. Attemptany four of the following : (4%4=16)
a) Explain Evolution of law in cyberspace.
b) Define insurance. Give its advantages.
c) Explain Legal recognition of Electronic records.
d) Explain the Section 16 security procedure.

e) Give the rules for renewal of license.

2. Attemptany four of the following : (4%4=16)

a) Explain the section power to make rule by Central Government in respect of
Digital signature.

b) Explain the Section 30 certifying Authority to follow certain procedure.
c) Explain Section 34 — Disclosure.
d) Define Digital Signature. Explain the Section 15 secure digital signature.

e) Listthe term and condition for Appointment of controller and other officers.

3. Attemptany four of the following : (4x4=16)
a) Explain Encryption with example.
b) Explain in details symmetric or shared key encryption.
c) Listsome alternative to replace DES. Explain any one in detail.
d) Explain details skipjack.
e) Explain with example Asymmetric cryptosystem for confidentiality.

P.T.O.
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4. Attemptany four of the following : (4%4=16)
a) Explain DSA Algorithm.
b) Give some advantages of public key encryption.
c) Explain WWW and E-Mail.
d) Explain contracts by Electronic Data Interchange.
e) Explain UDP Attack in brief.
5. Attemptany four of the following : (4x4=16)
a) Explain Jurisdiction in details.
b) What is Online Harassment ? Explain.
c) Give brief description of Bulletin Board system.
d) Explain the term computer as instrument of crimes.

e) What is computer virus ? Give the types of viruses.

B/1/13/410
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Seat
No.

Time

M.C.A. (Commerce Faculty) (Semester — Ill) Examination, 2013
306 : FINANCIAL AND INVESTMENT ANALYSIS

: 3 Hours Max. Marks : 80
N.B. : All questions are compulsory and carry equal marks.
What is Mutual Fund ? List out in brief the RBI guidelines on Mutual Fund.

OR

What is Financial and Investment Analysis ? Explain the various quantitative
and qualitative aspects of financial analysis.

What do you understand by ‘Derivative Trading’ ? Explain the various categories
of derivative trading.

OR
Explain the various techniques of risk reduction as a ‘Portfolio Manager'.

What do you mean by ‘Technical analysis’ ? Explain the various tools of technical
analysis.

OR

What is Primary and Secondary market ? Explain the important regulations
relating to the Primary Market.

What is Markowitz Model ? Explain the assumptions and parameters of
Markowitz diversification.

OR
What is ‘Company Analysis’ ? Explain in detail how company analysis is made.

Write detailed notes on any two of the following :
a) Charting tools

b) Risk adjustment and performance measurement
c) Stock selection and market timing.

B/1/13/355
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Seat
No.

M.Com. (Semester — IV) (Compulsory Paper) Examination, 2013
CAPITAL MARKETS AND FINANCIAL SERVICES
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions : 1) Allquestions are compulsory.
2) All questions carry equal marks.

1. What do you mean by Capital Market ? State and describe various instruments
in capital market.

OR
1. A) State participants of capital market.
B) Describe in detail the Forward contracts.

2. What is stock market ? Describe in detail the primary market and secondary
market.

OR
2. Write notes on :
A) National Stock Exchange (NSE).
B) OverThe Counter Exchange of India (OTCEI).
3. What is credit rating ? Describe in detail the various credit rating institutions.
OR
3. What is a mutual fund ? Explain in detail various types of mutual funds.
4. What do you mean by SEBI ? Explain in detail the powers and functions of SEBI.
OR
4. What s listing of securities ? Explain the advantages and guidelines of listing of

securities.
P.T.O.
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5. Write short notes on (any four) :
a) Characteristics of capital market.
b) Bombay stock exchange.
c) Portfolio management.
d) External Commercial Borrowing (ECB).
e) Background of SEBI.
f) Services of Merchant Banking.
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Seat
No.

M.Com. (Semester — V) (Compulsory Paper) Examination, 2013
GLOBAL INDUSTRIAL ENVIRONMENT
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.
3) Answer should be precise and to the point.

1. What is Industrial Finance ? Explain in detail the foreign sources of Industrial
Finance.

OR
Explain the India’s Industrial Policy 1991.
2. Write short notes (any two) :
a) Liberalization
b) Information Technology Industry
c) Need of Industrial Finance
d) India’s Import Policy since 1991.

3. State and explain the progress and problems of Iron and Steel Industry in India.
OR

What is privatization ? Explain the methods and impact of privatization on Indian
industries.

4. State the meaning of Multinational Corporations. Explain the advantages and
disadvantages of Multinational Corporations.

OR

State and explain the main features and problems of Industrial Labour in India.

P.T.O.
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5. Write short notes (any two) :
a) Contract Labour
b) Role of foreign capital
c) Sericulture

d) Effects of Globalisation on Indian Industry.
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Seat
No.
M.Com. (Semester — IV) Examination, 2013
OPERATIONS RESEARCH
(2008 Pattern) (Compulsory Paper)
Time : 3 Hours Max. Marks : 100
N.B.: 1) All questions arecompulsory.
2) Figures to the right indicate full marks.
3) Use of statistical tables and calculator is allowed.
4) Symbols have their usual meanings.
1. Attemptany four of the following : 20

a) Write note on:
1) Saddle Point
i) Value of game
i) Fairgame
Iv) Maximin criterion

v) Laplace criterion.

b) While using simplex method, when are the following special cases identified :
1) Degeneracy
i) Multiple optimal solution
lii) Unbounded solution
Iv) Infeasible solution.

c) Verify that the dual of dual problem of the following L.P.P. is itself.
Maximize Z = 2X, + 3X,
Subjected to constraints:
-X, +2X,< 4
X, +X,<6
X+3X,<9

X, X, =20
v P.T.O.
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d) Solve the following game :

Player B
3 8 -4

Player A |10 11 13].
12 14 8

e) Explain how will you obtain optimal solution to minimize transportation problem
using U-V method.

f) Determine the shortest route from node 1 to node 6 in the following network
where the distances are shown in kilometer.

I
|
&

30 400 /;ﬁ/®l o0

2. Attempt any four of the following : 20

a) Describe maximum flow network model with suitable example. Define cut and
capacity of cut in this model.

b) A florist in order to satisfy the need of regular customers stocks highly
perishable flowers. A dozen flower costs Rs. 3/- and sells at Rs. 10/-. Any
flower not sold on the day are worthless. Demand distribution in dozen of
flowers is as follows :

Demand 1 2 3 4

Probability | 0.2 0.3 0.3 0.2

How many flowers should he order daily using EMV criterion ?
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c) Manufacturing company has to select one of the two products A and B for
manufacturing. Product A requires investment of Rs. 20,000 and product
B requires investment of Rs. 40,000. Market research survey shows high
medium and low demand with corresponding probabilities and return from
sales (in Rs. 000/-) for the two product in the following table :

gﬁnr:ig Probability Returns from sales
A B A B
High 0.4 0.3 50 80
Medium 0.3 0.5 30 60
Low 0.3 0.2 10 50

Construct an appropriate decision tree. What decision company should take ?

d) Find Minimum Cost Spanning Tree for following Network V :

e) Define Network. Explain what do you mean by directed and undirected Network ?

Also explain the terms Node and Arc.
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f) Obtain initial basic feasible solution using North West Corner method for

following transportation problem.

Markets =
Sourcesid D, D, D3 D, Supply
15 0 20 10
Ol 50
12 8 11 20
O, 50
0 16 14 18
O 100
3
Demand 30 40 60 70 200

Also find the corresponding transportation cost.

3. Attemptany four of the following :

20

a) Pay-Offs of three acts A, B and C and states of nature X, Y and Z are given

below.

Acts =

States of Nature {4 A B ¢
X -20 -50 200
Y 200 -100 -50
Z 400 600 300

The Probabilities of states of nature are 0.3, 0.4 and 0.3. Calculate the expected
monetary value (EMV) for the above data and select the best act.
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b) Describe T.P. as particular case of L.P.P.

c) Obtain initial basic feasible solution using Matrix Minima method for following
transportation problem.

Markets =
Sources{ Dl D2 D3 Supply
10 13 6 10
Ol
16 7 13 12
OZ
8 22 2 8
03
Demand 6 11 13 30

Also find the corresponding transportation cost.
d) What is the difference between Slack, Surplus and Artificial variable ?

e) Consider the following game

Player B

4 4 -5 6
-3 -4 -5 -2
6 7 -8 -9
7 9 -9 5

Player A

Obtain saddle point. Also state optimal strategy for Player A and Player B.
State value of the game.

f) Explain how will you get regret table. Also explain the procedure of minimax
regret criterion.
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4. Attemptany two of the following : 20

a) Testwhetherthe solution given in the following transportation matrix is optimal ?

If not, find optimal solution. Also find corresponding transportation cost.

Stockl_sts—) D D D Capacity
Factories{ L 2 3
2 6 6
@ @ -
14 22 14
6 14 22
; @ g
3
Demand 72 102 41 215

b) Solve the following LPP using simplex method,
Maximize Z = 35X, + 50X,
Subject to : 4X,+6X,<120
X +X,<20
2X, + 3X,< 40

X, X, > O.

c) i) Explain minimum cost capacitated network.

i) State Dominance principle in game theory.



N YO 7- [4370] — 403

5. Attemptany two of the following : 20

a) From the following pay off table(of profit) determine optimal strategy using
maximax, Laplace, Hurwicz and minimax regret criterion.

t -
2t?:1(ta§gies ) A A, Ay A
S, 0 80 160 240
S, 30 0 80 160
S, 60 30 0 80
S, 90 60 30 0
(Take a = 0.7)

b) Obtain initial basic feasible solution using Vogel’s approximation method for
following transportation problem.

Markets - 5 b b D Supply
Sources 1 1 2 3 4
8 10 7 6
Ol 50
12 9 4 7
O2 40
o, 9 11 10 8 30
Demand 25 32 40 23 120

Also find the corresponding transportation cost.

c) Using Big M method solve the following L.P.P.
Minimize Z = 2X, + X,
Subjected to constraints :
3X, +X,=3
4X,+3X,>6
X, +2X,<3
X, X,>20

B/1/13/1,025
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Seat
No.

M.Com. (Semester — IV) Examination, 2013
Group — A : ADVANCED ACCOUNTING AND TAXATION
(Special Paper — VIiI)
Case Studies in Advanced Accounting — Taxation & Auditing
(New) (2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions : 1) Attempt question No. 1 iscompulsory and any three
from the remaining.
2) Figures to the right indicate full marks.
3) Use of non-programmable calculator isallowed.

1. State with reasons, whether the following expenses are admissible as a deduction
while computing income from business or profession. 25

a) Loss of%. 10 lakhs incurred by sugar manufacturing company by foregoing
advance made to sugarcane growers who used to sell sugarcane crop
exclusively to the company.

b) FeeX. 25,000 paid for increase of Authorised Capital of ‘Sundaram Co. Ltd'.

c) Legal expenses of . 48,000 incurred in altering the Articles of Association,
S0 as to bring it in confirmity with the changes brought about in the Companies
Act.

d) Expenditure of . 50,000 incurred by the assessee on plantations in factory
premises and residential quarters of company, with a view to making
atmosphere pollution free.

e) Paymentof Rs. 70,000 made for acquisition of goodwill. 5T 0
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2. Comment on the following cases, referring necessary Sections of relevant law,
case laws and any other supporting evidence and calculations, if any.

a)

b)

Wills Co. Ltd. a resident Co. having a branch in U.K. earned profits outside
India. When the profits were subsequently remitted to India, it incurred loss
due to exchange fluctuations, which was claimed as a trading loss. Give your
advise.

An assessee is aggrieved by the order of the Assessing Officer. What are the
remedies available to him under the law ? Can he pursue more than one
remedy simultaneously ?

The expenditure incurred solely for repairs and modernising the hotel and
replacing the existing components of the building, furniture and fitting, with a
view to create a conductive and beautiful atmosphere for the purpose of
running of the business of a hotel. Is it admissible revenue expenses ?
Comment.

3. Discuss the following cases :

a)

b)

Cost of production of product A is given below :

Raw-Material per unit . 150

Wages per unit %.50
Overhead per unit %.50
%. 250

As on the balance sheet date the replacement cost of raw-material isX. 110
per unit. There are 100 units of raw-materials on 31-3-2012.

Calculate the closing stock of raw materials, if finished product is sold at
%. 275 per unit.

Z Ltd. purchased a machine costing<. 5 lakhs for its manufacturing operations
and paid transportation cost . 80,000. Z Ltd. spent an additional amount of
%. 50,000 for testing and preparing the machine for use. What amount should
Z Ltd. record as the cost of the machine ?

There is an income tax demand of%. 2.5 lakhs against the company relating
to prior years against which the company has gone on appeal to the appellate
authority in the department. The ground of appeal deals the points covering
. 1.80 lakhs of the demand. State how the matter will have to be dealt within
the financial account for the year ?

25

25
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4. A company’s capital structure consists of the following : 25

z.
Equity shares ofZ. 100 each 20 Lakhs

Retained Earnings 10 Lakhs
9% Pref. shares 12 Lakhs
7% Debentures 8 Lakhs

The company earns 12% on Capital. The income tax rate is 50%. The Company
requires a sum of%. 25 lakhs to finance expansion programme for which following
alternatives are available to it.

i) Issue of 20,000 Equity shares at a premium of X. 25 per share
i) Issue of 10% Preference shares
i) Issue of 8% Debentures

It is estimated that P/E ratio in the cases of equity, preference and debentures
financing would be 21.4, 17 and 15.7 respectively. Which of the three financing
alternative would you recommend and why ?

5. XLtd. purchased an existing bottling unit. The method of charging the Depreciation
on Machinery of the acquired unit was different than that of followed by the
company in other units. The company wants to continue to charge the Depreciation
for the acquired unit, in the method followed earlier by them and which was not
consistent with their own method. As an Auditor, state your views in the said
situation.

B/1/13/2,115
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Seat
No.

M.Com. (Semester — IV) Examination, 2013

Group — B : ADVANCED COST ACCOUNTING AND COST SYSTEM

(Special Paper — VII) (2008 Pattern)
Recent Advances in Cost Accounting and Cost Systems

Time : 3 Hours Max. Marks : 100

1. A)

N.B.: 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

Define the following terms in one sentence as per ‘CAS’. (any five). 10
1) Marginal cost
2) Indirect Labour
3) Costunit
4) Waste
5) Direct Expenses
6) Sunk cost
7) Overheads.

B) Write short notes on the following as per ‘CAS’ (any two) : 10

2. A)

1) Absorption of overheads
2) Standard costing

3) Cost center

4) Fixed cost.

Explain the nature and scope of ‘VAT’ audit. 10

B) What do you understand by “Productivity Audit” ? How do you overcome the

problems of Conducting Productivity Audit ? 10

3. Explain the concept of ‘Six Sigma’ as a technique of cost control. Also, explain
‘DMAIC’ and ‘DMADV’ as methods of six sigma. 20

P.T.O.
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4. A) Describe Five ‘'S’ and its utility. 10
B) State and explain the nature and scope of Excise Audit. 10

5. A) Commenton the article published in the journal “The Management Accountant”
on the “Performance Management and Growth of MSME sector in India”
Aug - 2012. by Dr. Susanta Kanrar and Nitu Roy. 10

B) Objectives of CAS. 10

B/1/13/2,255
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Seat
No.

M.Com. (Semester — IV) Examination, 2013

BUSINESS PRACTICES AND ENVIRONMENT
(Special Paper — VII) (Group — C)
Recent Advances in Business Practices and Environment
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.

1. Critically evaluate vision, objectives and thrust areas as mentioned in the
Infrastructure Development Policy of Maharashtra Government.

OR
1. Explain draft contents of Agro Industrial Policy, 2010 of Maharashtra Government.

2. Explain the contribution of Service Training Institute in the development of
Maharashtra.

OR

2. Explain the role of Rajeev Gandhi UdyamiMitra Scheme in the industrial
development ?

3. What do you mean Self Help Group ? A group of women from nearby slums has
approached with a proposal to form a Self Help Group. They want your help in
formation of Self Help Group. Write in detail the modus operandi of formation of
Self Help Group from ‘Concept to Commissioning’.

OR

3. “Statutory provisions relating to environmental audit have been proved to be
mere compliance”. Do you support this statement ? In view of this, explain rationale
behind “environmental audit”. You may quote examples from the corporate world.

P.T.O.
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4. “Corporate Governance” and “Disclosure in the Accounting Statement” are
interlinked with each other”. Explain this statement and evaluate the role of
“Disclosure Practices” from shareholders’ point of view.

OR

4. What is corporate governance ? Explain the objectives and importance of corporate
governance.

5. Write short notes (any two) :
a) Labour Market Information Cell
b) Corporate disclosure
c) Nature and scope of BPL

d) Types of environment audit.
ST EUTAT

T : 9) TF JvT GiSlav ATTTAE 37T,
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3. Aol STehEUITIA hRIQ TEJEl AT haes ShTaT= qdl shuamRiae Jied
a3 faemTel v wEud SMETd F 7 AT UNEYHieR wiaRufi sehafun
THT TR IaTeN=AT T-T .

¥, ‘‘THecE FEEu 9 @ T YR IR § TEEst Rd . a1 faammE ==t
- ATHETAT TSR TIal TeheIohuTTe fHehT TR A
feRan

¥. e T weusl v ? YW HeEe SEne) 9 Aecd TR .
) TR fauum arfEdt g

¥) THSST Tehd 1]
%) TTiEeT W@l I eohodd T6Y g S|
T) YTl STheu K.

B/1/13/495
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Seat
No.
M.Com. (Semester — IV) Examination, 2013
Group — C : BUSINESS PRACTICES AND ENVIRONMENT
(Special Paper — VIII)
Case Studies in Business Practices and Environment
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Explain in detail the features and limitations of the case study method.
OR

Write a detailed note on analysis of case study method. 15

2. Write a detailed note on approaches to the case study method.
OR

State and explain importance of case study method in the context of decision
making by the management. 10

3. Philips Electronics Company (PEC) has an excellent National and International
reputation and its employees are proud to work for the firm, but the company
demands total loyalty from the employees and even tries to influence their
behaviour and appearance after work.

Mariya a bright young woman working for PEC for over 10 years was highly
respected by the colleagues and did a fine job as a ‘Divisional Sales Manager'. It
was generally agreed that she had excellent potential for advertisement for
6 years and Mariya had potential to increase the sales and to achieve the given
target given by the superiors.

But from last 6 months her performance was not satisfactory. So management
had taken decision and Mariya was transferred to the non management job
without any loss in pay as a result she quit her job.

P.T.O.
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1) Can a company demand loyalty to the required extent in the above case ?

2) What would be the Mariya’s position ? (In the context of Designation and
Service).

3) What you would have done in the position of superiors ? 25

4. Bharat manufacturing is a medium size firm making arc welding equipment,
electric motors and the generators. The plant design is a typical assembly line
layout. Each worker is assigned to a work station along the assembly line and
performs a specific task on the item at his station. The tasks are extremely
repetitive.

The manufacturing facility itself is too large, noisy and poorly ventilated. There
is a little interaction among the employees or supervisors during the day. The
style of management is authoritarian. There is no employee’s representation in
management. Product quality is a problem. Return from distributor and complaint
from customers are very high. The productivity of the workers is below industry
standards. Absenteeism and labour turnover is very high. The plant was recently
purchased by an established group as the owner felt it is a good decision to sell
it out.

Analyse this case and suggest various measures to be undertaken to establish
better business practice and to achieve objectives. 25

5. Sunil was an industrialist who started New Business of Hotel in Aurangabad. He
invested Rs. 2 crore in the business as a capital. He appointed fresh as well as
experienced staff to look after his business. The staff was loyal and hard working.
The hotel business flourished in the initial three years only. He then decided to
open the branch in industrial estate of Aurangabad near Walunj, where he again
invested Rs.2 crore. He transferred his experienced staff from the 1% place to
Walunj and appointed Mr. Rakesh Mehta as a manager. But then in his initial
venture there was a shortage of experienced personnel and the hotel was running
towards the lower profits. Sunil was worried and was thinking to come up with
new solution.

1) Analyse the case.

2) Suggest the measures to be taken by Mr. Sunil to improve the situation.

3) Comment on managerial policies to be adopted by Sunil. 25
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Seat
No.

M.Com. (Semester — IV) Examination, 2013
Gr.D : BUSINESS ADMINISTRATION
Spl. Paper — VII : Recent Advances in Business Administration
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.

1. ‘Change without pain is possible’. — Discuss this statement with reference to
management of change.

OR

1. What do you mean by management of change ? Explain the different types of
change and need for change in business organisation.

2. Explain the term ERP and discuss its evolution.
OR

2. Discuss various tools of ERP.

3. Explain the concept, merits and elements of Kaizen.
OR

3. What do you mean by ‘quality control’ ? State its objectives and discuss how it
can be implemented in an organisation.

4. ‘Culture is an iceberg’, discuss this statement with reference to importance of
understanding of culture in global business environment.

OR

4. What do you mean by turn-around management ? Explain the steps involved in
turn-around management.

P.T.O.
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5. Write notes (two) :
A) Cross cultural risk
B) Current trends in mergers
C) Take-over
D) Global Management System — concept

E) Six Sigma Technique — features.
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Seat
No.

M.Com. (Semester — IV) Examination, 2013

(Group — D) BUSINESS ADMINISTRATION

(Special Paper — VIII)
Case Studies in Business Administration
(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.

1. What do you mean by Case Study Approach ? Justify the importance of case
study approach in solving the various managerial problems. Also discuss the
limitations of case study approach.

OR
1. Describe the objectives and scope of case study in modern organization.

2. ‘Case study play vital role in managerial decision’ — Explain in detail.
OR

2. Which are the approaches to case study method ? 20

3. Ainternational company specialized in cloth processing has been operating in
India for about 2 decades. The company has recently decided to expand its
production. It was decided to shift the factory to a new location about 25 km
away from its present site. For want of experienced hands some of the workers
were transferred to the new site. They were offered on additional transport
allowance of 500 per month. The union of workers were firm to receive Rs. 1,000
as additional transport allowance against Rs. 500 offered by management.

When the plant was being shifted to the new site, negotiations went on uninterrupted
between the management and the union on this issue. However, both the parties
were firm on their stand and no solution could arrive at.

P.T.O.
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After three rounds of discussion management was firm as to its offer, however,
union indicated some flexibility which was not accepted by management. Hence,
union decided to adopt ‘go slow’ policy. The production went down drastically.
The management issued charge sheet to the employees who indulged into go
slow.

Analyse the case and elucidate the problem and possible solutions.
OR

3. Your company is facing tough competition in view of the price war strategies
adopted by your competitors. The only option left to face this challenge is to
seriously design a cost reduction drive through identifying areas of waste and
improve the cost function. As CEO of the organization make a note to be circulated
to all the line managers suggesting in it the functional areas where cost reduction
is possible.

4. Your company has been handsome profits for last six years. Itis a listed company.
It is company with tract record of dividend. However, in the 2011-12 your BOD
has decided to undertake massive expansion plan which necessitates to adopt a
conservative policy as regards dividend. Your BOD has asked you as Company
Secretary to prepare a note justifying the stand of the company. This note shall
be useful in the ensuing AGM of the company, where shareholders are likely to
press their demand for high dividend. Your note should include all the factors
normally considered in framing the dividend policy of an organization, whichis a
listed public company.

OR

4. In 1980 an Indian manufacturer, Amul Milk Products Limited, planned to
manufacture a baby food based mainly on milk. The company had been making
certain milk products at its daily for some time and had established a brand
name-Amul. The company realized, however, that the consumer public generally
associated their name with products such as condensed milk, cheese, and butter,
but not with products meant primarily for babies. Amul was convinced of its
ability to produce a baby food of the highest quality. It also had an efficient
distribution organization of its own that covered the whole country. It was decided
to appoint a leading advertising agency to assist in the formulation of a marketing
strategy.

As a marketing manager of Amul milk, design the marketing strategy for launching
this new product in the Indian Market.
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Seat
No.

M.Com. (Semester — IV) Examination, 2013
Group-E : COMMERCIAL LAWS AND PRACTICES
(Special Paper — VII)

Recent Advances in Commercial Laws and Practices
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 100

Instructions : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. A) What are the main objects of Information Technology Act 2002 ? 10

B) Explain the penalties and adjudication under cyber regulation. 10
OR

1. Explain the following terms in detail, which fall under Right to Information Act. 20
A) Appellate Authorities.
B) Powers of Information Commissioner.
C) Duties of Public Information Officer.

2. Explain the following terms covered under Companies Act ? 20
A) Listing Agreement
B) Deposit of Wills

C) Legal documents.

OR
2. A) State the objects of Debt Recovery Act, 1993. 10
B) Explain the procedure of Tribunals under Debt Recovery Act, 1993. 10

P.T.O.
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3. A) Write a note on Audit of Securities and Exchange Board of India. 10

B) What are the objects of the Securities and Exchange Board of India Act 1992. 10

OR
3. A) Explain the importance of Securitization Act 2002. 10
B) Write detail note on Enforcement of Security Interest Act 2002. 10
4. What are the penalties for failure and default in inside trading and Non-disclosure
of Acquisition of shares ? 20
OR
4. Explain procedure and the various legal documents required for registration of
Public Ltd. Company under Companies Act. 20
5. Write short notes (any four) : 20

a) Certifying Authority

b) Cyber Regulation

c) Compulsory Registration
d) Retention of Information

e) E-Governance.

B/1/13/550
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COMMERCIAL LAWS AND PRACTICES (Gr.E) (Special Paper — VIII)

Case Studies in Commercial Laws and Practices
(2008 Pattern)

Time : 3 Hours Max. Marks :

1.

*

Instructions: 1) Attemptany 4 cases.
2) All questions carry equal marks.

In E-Trade agreement, signature is based exclusively on asymmetric methods
or techniques. It has been described as a special door, which can be opened
with four keys lock. The two keys are on every side of the door, and each of
these two keys belongs to a single party, both the parties stand respectively on
each side of the door and both of them have different keys. One of them is
co-incidental with the key possessed by the other party, since they have agreed
on the shape and notches in the key (public key). However, the other party is
not, and none of the parties knows exactly, what kind of notches the other key
will have. One thing is sure that the door can only be opened when the four keys
are in it. Once both the parties have locked the keys into the door it is possible
to open it and for the parties to be sure that, they can negotiate through that
open door safely without fear that an outsider might interfere in their business.

Discuss with reference to the authentication of electronic records using digital
signatures.

Mr. P.M. Desai is a doctor in All India Institute of Medical Sciences invents a
machine which can deliver glucose to a patient through the skin by causing the
pores of the skin to absorb glucose and deliver it to the blood stream. The claim
of the doctor of such an invention is rebuked by medical community is being
highly improvable and useless in invention. However, when the invention is put
to demonstration it is found to be indeed effective. It is claimed by the doctors
that it is to be highly useful method of treatment to diabetes by regulating the
amount of glucose supply to the blood. Now that invention has been strongly
welcomed by medical community, as being a newly useful and non-obvious
method of treatment.

Discuss legal provisions in relation to Patent Law with reference to the above
case.

Can Doctor claim invention under the Law ?

100

P.T.O.
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3. Mr. Ratnakar installed a new channel named ‘Hallo Pune”. This had a
resemblance with another renowned channel “Modern Pune”. Services rendered
by Ratnakar were similar to the services rendered by Modern Pune.

Bhutkar and company having the ownership of ‘Modern Pune’ claimed that they
are having global access. These are services rendered by Network of
Telecasting, India since 2005. The channel did not receive any registration till
date.

Bhutkar and company claimed that they are first in this field. Mr.Ratnakar adopted
similar services rendered by the Bhutkar and company. So Bhutkar and company
claimed that Mr. Ratnakar is dishonest and the case is related to violation of
copyright and patent, and laws related to Information Technology. Discuss the
case in detail taking into consideration the provisions related to the relevant
Act, and legal rights of both the parties.

4. Arvindis an Industrialist engaged in a manufacturing of a furniture from plywood.
These has been persistent complaint from the customers that furniture
manufactured by him, have a low quality and is not useful for the office work.
The Market and scientific research was carried out and a new model of furniture
was prepared having better quality and multiple use. Arvind applied for the
patent of this new quality furniture and got it. He continued production for
6 years and because of low demand stopped the production. Subsequently the
friend of Arvind, Mr. Balaram manufactured the furniture as per the same
specification as laid down by Mr. Arvind. He applied for patent which was
objected by Arvind.

* Discuss in detail the rights of Arvind and Balaram as per the provisions of
Patent Act 1970.

* |s the product developed by Balaram is Innovation OR limitation.

5. Shri Anand Raj Anand started using the mark “container” as a trade mark for his
freight containers. He spent huge amount on the advertisement of such freight
containers. So that they became very popular in the market. After ten years, he
applied for registration on the ground that his freight containers acquired 100%
distinctiveness. The registrar refused registration of the trade mark objecting
that the trade mark was descriptive word directly indicating the nature and
character of the goods of the trader.

Discuss this case with reference to the relevent provisions necessary for the
registration of trade mark and advice Shri Anand Raj Anand to defend registrar’s
objection.
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6. M/S Shah Shabbir Mulani is a manufacturer of Himru Shawl, at Aurangabad.
There are more than 1000 employees including export artisans who are paid
monthly wages and additional incentives. Regular employees look after the
marketing of the company. The salary pattern and employee behaviour is
satisfactory.

With the change in the era and introduction of new machinery the son of owner,
‘Vinod’ joined the company and introduced mechanisation. The employees are
not satisfactory with the behaviour of the Vinod, they complain that he is rude
and arrogant. He was not treating employees properly. The personal relation
slowly were given secondary importance. But because of Mechanisation
production was increased and the profit was increased proportionately.

1) What problems can you identify in the above case ?

2) What behavioral changes you expect from Mr. Vinod ?
TS ®UTH

AT ;) FURTE ¥ FAG GISa.
?) @d FEIT GHA 0T TR,

9. 3-SR FASATG et & %o TH0EE, TGl fohdl qolar STl T8, Fat
Tarerd) & TRy RaTS Tevd TS HuATd SATell ST 1 LTS =R STeATATgR
ST ST, ITehdll. AT SATSATAT AIE! SIS Scieh! S =ITedl TRTATd SATOT &1 &
TTATIh! Teh T TehT T&T=AT HTcTehi=! T8d. SETSIT=IT Ycieh SS[ell Qe qef
i forg STeaTEied M 39 TRATd. S YeTTehl TehT UeIr=al dredTd ANTR—INTH
=T U= T Be Wk, i SAT GR O T AT SATHRR AT Wret deefa
AT STRd 3T AT hdTd. T gO1 TR 3T FIVCTE] JefTel o= =raia
ST ThT=AT W= AR © HITed T8d. qUT, ® A1 (=i 1R s, S o a1
T TR AT AT FIATE Aaedl SR AT, a1 T=d SarsT 3uSal SR
AT, TRET T UE AT =] SETSATAT HIITA AT al STSAT SIS
T YA qRifadTd, HaX o ETS gUad ST hiveTe] WaTRET IuSudT

Gerefieh Sierd! SHdTd, o1 IRl I SIevi=aT STaHRITd sTeel eIl 8&aad
T AgA.

AT U Jfehad=aT GedH TIuTeh A== SAdeie & == .




[4370] — 413 4 N VYO AT

. #ft. umeEE R m‘s”%méaﬁwmmwﬁawmﬁ T T IR
o1 BISTER Tehis] Algd =1 16 JaTeTd Tl ToleiIHTehtuT Shidl g ITohcd
318 I M FIGel. S, T8 AT AT GG TTeATeTeh FiqaeHed BR 3
o7 aRoTeReh STEvaTe firg ool TR, SaelE STET SET IR A, § GENEd
HEWE T YRS AT TehisTa GRaal FHaefia Fuamand s Br Sued
gt IR, IMREW, o Toh IT=RE! AfeH Tgdt 3. S Iug STHuTe Jehi
S A ohed 3R, d AT 7T THENIUIH ST shild 3R,

Gferea® == .
%) I FHEA] Ha9H U2 HRRTIHR HRIGIR aqdl.
R) ST AT YN STaT I FHIFATSAG e IhdTd FHE ¢

3. off TR I T T el IHa AU & ol A1 et AT T
TSIl Aied qo AT I-erRil 9 Bid. TR AT 39 sholedl HaT Hied ol

=T YATIHO Bl

off. Vot I U Wied QU1 < HIcTeh ST 1 ST GMET hedl hl QT STATICeh
THR T AR, AT AT FHTHG HOATAT AT 004 TR AT §Feh ATg. S-etall
HIATIRY SHIVIAE! QU ST AT,

VoL I ShUHIH STET Shell i o AT &1 JoH Ted. 2t TETeRt I STT9e SHIE
T 9 hodT HTed. FeVH ot U= STHT 3Ta ohell shi #ff. TRt 7 ST
31T & KT FIAEE FIIGET T FOM AR, TH TTfed! qaH FHrRIGr=n &
T FOMRT TR,

T 8 Flowat =l hll. Feeha HRET=T TG TISCRU U 9 el G&TT

STl == .

¥, off 39T ¥ igE BiHER TUR UM SREHER 3. TTEshihed 3T Aae™
TR I Bl i, RIS IM=A1 R IR BiHetal G5l HH! T H TR
SHTHHTSITETS] o S HTe1. STSRUS o I GINEATEI 11 ATd G SFH0IT=T1
IEIMH AT A ISR ST . AT Ao ScaTeTa st <IHTel STgT agiad STt
IR, mﬁaﬁmmwﬁaﬁﬁzwﬁ T & T § ITUTE Tl 9 AW
! AT IcaTe EF;’ °hc’1 chd{ rfere=an firm o e ?JFﬁ T B
FIE=AT TISAYHTU & ohel. WM (IR IHT) Y22 H3! T6T S@e hedl.

o IfAE AT ITYFR T TIE . qOT Jld T TR T H.
(U2e FHIET $R 6o =T TR

o SO It forsheiia shetet IcaTe SNy 311 foh, AT 3TE.



N E Y AR 5 [4370] — 413

Y. ot ST STHT I SIS AT heAHATS! shedd TGN + TR e hell. I
T TG AR T=€ T kel T d TSRUST 3Tedd AR 3. %0
IR I TIGUIETS! 371 SIS hell. FHRUT AT ATEGeh e 200 % H=IT T
Fell IR, SRR HeX Hiuft Trehrell ST g 81 Yo AUHTHS IR, AR
TIETI0 ST WA T8y g ATy T 8.

< HTeh=AT QU= gl T 4. (S hE=a1 IMYR) T8 AME TS A

€. U. YME Yool GeAfl ST il fer® wieiiel Icureeh 3fed. Looo & e
FHAT AT HRETAT hIH FHATd. T R HRR 9 HHART AT THIER AT
S & HET oI fHesd o Al o g foer 1. i = fovorer s

qredTd. Aa-H J FHATITE Jd9 THIYHRRh 372,

G FHIBTIEY & a1 I3 AT AT AT el qaTal Ao e ST HIeTehren
I fo1g Shu1d &S] ST, 3 eIl Fa - Ui Il & hall. T HHEaR]
forTe = ardupeh! foweft s aee Teed. eIl A foHiE Td 34
g Tfle IaF HATd. d HHETIHT 9 JRTEd 994, daeiieh 9o 3 W odl
SITd 378, W I3 GIAA1 aTHes e T8I 9 G911 JTea d HEER! Jredl.

%) ot | Tefier gHET v ?

R) ToMIg g IV YehR S JERUM/Iea TUfEd o1 ?

B/1/13/490






VYO T [4370] — 414

Seat
No.
M.Com. (Semester — IV) Examination, 2013
Group-F : CO-OPERATION AND RURAL DEVELOPMENT
(2008 Pattern) (New)
Recent Advances in Co-Operation and Rural Development
Special Paper — VI
Time : 3 Hours Max. Marks : 100

Instructions : 1) Allquestions are compulsory.
2) All questions carry equal marks.
1. Discuss the causes of sickness in co-operative units.
OR
State the importance of co-operative leadership in global era.

2. What has been the impact of globalisation on co-operative institutions ?
OR
What strategy should be adopted by the co-operatives for meeting global
challenges ?
3. Discuss the formation and organization of self help groups.
OR
Discuss the role of self help groups in rural development.

4. Describe the various reasons behind suicides amongst Indian farmers.
OR

Discuss the measures adopted by the government for mitigating the problem of
farmer’s suicides.

5. Write short notes (any two) :
a) Economic viability of co-operative institutions.
b) Six Sigma techniques.
c) Self help groups and empowerment of women.

d) Self-sustaining rural development.
P.T.O.
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Seat
No.
M.Com. (Semester — IV) Examination, 2013
CO-OPERATION AND RURAL DEVELOPMENT
Special Paper — VIlI
Case Studies In Co-operation and Rural Development
(Group — F) (2008 Pattern)
Time : 3 Hours Total Marks : 100

Instructions: 1) All questions arecompulsory.
2) All questions carry equal marks.

1. The Jai-Bharat Co-operative sugar factory, Pune is established in 1975. The
factory was started with, 500 workers, 35 technicians and 15 technical officers.
At present, total strength has gone to total of 3000 workers, 150 technicians and
30 officers. The crushing capacity per day increased from 1250 Metric tonne to
7500 M.T. There exist two trade unions, Viz-Majdoor Sabha and Socialist Workers'’
Union, the relations of the Co-operative sugar factory with both the unions are
generally cordial and the factory has had a long spell of industrial piece.

In the Jai-Bharat Co-operative sugar factory, Mr. Hari Deoram Chaudhari has
been working for the last 15 years. He is found to be very skillful, sincere and
honest. He is intelligent and helpful too. Last year, he suggested an improvement
in the working of machines hence crushing capacity was increased by 300 M.tonnes
per day. Chairman of the sugar factory, declared reward to Mr. Chaudhari. Because
of his helpful attitude he is liked by all other workers and he is in a popular figure
in the factory. He is a member of the Majdoor Sabha. Though he is not an active
member, he follows the directives of the Sabha.

Mr. Kisan Gundappa Devare has been working in Jai-Bharat sugar factory for
the last 9 years. He is found to be of average skill and intelligence. He is regular
in his duties and honest too. Though he is not popular in the factory, he maintains
sound relations with his colleagues and apparently has no enemies. Of course,
he is an active member of the Socialist Workers’ Union and participates in all
activities of the Union.

Mr. Mahadeo Jagan Pawar has been working in Jai-Bharat Co-operative sugar
factory for the last 7 years. He is found to be average in skill and intelligence.
Though he has polite manners, he is not dependable and is also irregular in his
work. He is also a member of the Socialist Workers’ Union and participates in all

activities of the Union. PTO.
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On the basis of superior job performance report in favour of Mr. Hari Deoram
Chaudhari is given by all the superiors and note prepared by the Assistant
Personnel Officer, a decision to promote Mr. Hari Deoram Chaudhari, superseding
Mr. Kisan Gundappa Devare and Mr. Mahadeo Jagan Pawar was taken by the
management and the necessary communication was sent.

The secretary of the Socialist Workers’ Union has taken the issue to the General
Manager and asked for the withdrawal of the promotion order issued to Hari
Deoram Chaudhari.

Questions:

a) Inyour capacity as the personnel manager, Place your arguments before the
Board and justify the promotion order issued to Mr. Hari Deoram Chaudhari.

b) Asthe secretary of the Socialist Workers’ Union, submit your arguments and
explain how the promotion order issued to Mr. Hari Deoram Chaudhari is
Unjust.

c) Explainthe behaviour and attitude of Mr. Devare and Mr. Pawar.

2. Inthe Co-operative Marketing Federation, Mumbai, new General Manager joined
recently. He observed that annual increments are given subjective consideration.
There did not exists any system of performance appraisal. The new General
Manager evolved a scientific system of performance appraisal and also designed
new pay-scales and grades.

The policy was welcomed by all. When the increments were declared, general
opinion of the employees was good about the new system and rewards. However,
office bearers of the internal union were unhappy. In the past, due weightage was
given to them being Union members. But under new system, no such differentiation
was made. They approached the chairman of Co-operative Marketing Federation
and reminding him the Co-operation they extended during the past and especially
in the strike recently withdrawn. The chairman declared special increments to 10
such office bearers of the Union. It resulted disparity in the juniors and seniors.
The complaints were received by the M.D., who forwarded them to the chairman,
who refused to entertain. The senior employees, getting lesser increments decided
to leave the federation in group. The threat was disregarded by the federation/
institution. The ultimate result was the mass resignation of over 25 senior
employees, crucially playing role in the technical areas. Analyse the case and
answer the following questions with proper justification.
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Questions:

a) Analyse the role of chairman in granting special increments to the union
office bearers.

b) Could the incidence of mass-resignations have been averted due to individual
counselling ? Who should have done that job ?

c) What would be the ideal solution in such situation whereby both parties are
satisfied ?

3. Shri Godbole is working in a Sadhu Co-operative sugar factory for the last 20
years, looking after a sugarcane department of 25 employees. He is not technically
qualified man, but is a practical man having good practical experience in a
sugarcane field.

He is very good knowledge about variety of sugarcane. However he is very
irregular in attendance. Sometimes remaining absent for about 6 to 7 days in a
month. He gives various excuses such as : (1) He has to see the co-operative
authorities. (2) Attend the advocate for discussing co-operative issues.
(3) Sickness — his own or of his wife, etc.

Due to his absenteeism, he does not get full salary of the month and time, which
leads to borrowing money from his assistance, and this money generally not
returned. This has resulted in loss of work, if his senior officer had not taken
care of the same from time to time. The problem is how to tackle this man so that
he will be useful and contribute to the betterment of the co-operative sugar factory.
He was warned twice for his irregular attendance. His increment was withheld
for one year for the same reason by the M.D. of the factory. Analyse the case
and express your views about following issues.

a) Is Shri Godbole a good and skilled workman or a good supervisor ?

b) Are his experience and talent used to best advantage by keeping him as a
poor supervisor ?

c) Is his boss keen to :
i) Improve Shri Godbole and

i) Avoid his ill effects from affecting other workman.

d) What action can be taken to improve Shri Godbole ?
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4. Naresh Co-operative chemical factory established in 1995. It is situated in
Thane-Belapur industrial area. Total 350 employees are working in the factory. It
was originally started with 10 employees and when additional employees were
necessary, the management used to tell the existing employees to bring new
workers either their relative or friends and they were appointed. During the period
of 16 years the company prospered and also expanded. The management of
co-operative chemical factory wanted to prescribe certain qualifications for each
category of workman and make recruitment either though employment exchange
on by means of Newspaper advertisement. The workers resisted this move and
demanded that recruitment should be made as per the existing practice and
usage. They also not agreed with settlement recruited between the parts wherein
the management has agreed to continue new existing practice and usage’s in
case of recruitment exchange and the workers resorted to go slow tacties in the
work. The management suffers heavy losses, as export orders could not be
fulfilled. The management approached conciliation officers and suggested a
recruitment policy wherein the workers direct dependent or family members should
be given preference if they have necessary qualifications. He also suggested
that out of 5 vacancies in each category our should be reserved for workers
direct dependents and relations. The management was agreeable to this
suggestion but the workers insisted that the earlier existing practice should be
continued and hence go slow continued which resulted in lock-out declared by
the management.

Questions:

a) Whether the management’s old policy of making recruitment though workers
was correct ?

b) Whether the management was justified is not prescribing minimum qualification
in the beginning ?

c) Whether the management’s action in prescribing qualification was justified ?

d) Whether the management’s above action amounts to a change in custom
usage’s and practice ?
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ST, RN HaTcRehe WTNE! TRRT ol d QHT T8 Tl <SR ITeqd
Tocan. Wy dehri= TEe T Bac ATl T3 HHATAH] FHl aa-are! eI e
T T TEAT Higd o™ Slfael. W Ihe T8 A el (€A A1
geAdl 3@ Hde! A1), WS Y ANES FHETIM] % S Ik &d Hecare
fHeRT A Tid, T d) (M) TSIHM T A& shel. ohee Toweiso
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SATIOT I sHRonEfed geA= I3 .

) FEeA=AT TR W JaaTe! A9l T o SRaT=a1 qiehd fargerso

H.
) TR ] e AT(Eeh TSIHTH TeadT AT ST Bl 1 7 8 HTH HIU HT0]
AT B 7

) 1 TRf e S Ui FETHTeRReh e 318 TTREl 3 (Tt hivid TR ¢

3. ot Mead § 1Y HEhR! B SREITT el R0 JETIRd R 3Tgd 4 HHAR
I HY I yqE A1Rd. d aiees fifaa Tuet 9 9 g T
el 9 AR ST e ATRd. SHarel fafay Srdieed @ e
AR, 3 Fu T iy gy TeaamErsa #f Mede 3TeA 3. FEl 324
AiE=ITqE & O b fegm o Tesk Tedra. q8e TREsRisTed eIyl 37eh 0l odTd,
31, (2) TN IHIGEMT 920, () UghRIdIe YIS JehicAT= ol Sof

g == . (3) Ta: oA aede TSR,
T Faael Esiges 1 YUl Afg=amen TR fied 79, W= o 3atsed,

T TERIATREST I SRS oot Hd 3THd. T T el Gedl Wd Hid 4.
AT e TEHR] d FHATATSR A TaIoh TEee HH! AT, T 3 AR SIfTed

TG RITeRTST ShHT FTel T =T ANESHT ATeITeId FIGIRT ohel HTal.

JATAT ST I I ST 3712 <hl, #ff Mesllel I @A forehmamendt s
IYINT e BT 5 I Wehed TRIEIT el BTdTesdl I, 2 Meaiel I TRgSIIeTed
T A GHS ST ATA]. TED FRIFRT GIATARHIRT A<l Toh IS TRATE
fIUATd ST, here TIveT=Ivr e A Wa TIe .

Y

31) ft Meallel B AT qF FHAN IR hl 390 Tdereh .

) AT TeTeh g7 AT FgHaal STl TANT shefcll 3118 1 ?

%) AT 3 G T e Iehdld 1 7
i) =it Tieeel Jr=amHEl UROT TEaqd A0,
ii) A FTITERIA aTse gy 2redr Aol.
T) #fi TTedIcl Ar=AHE URON SUETS! hivId! Fdl ASHT HaaTd g ?
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¥, JTU-FAT ST AT T 3] 4 HEd TR TEehR] Tk @I ST
T, THUT 340 FHRR HRAG 3Ted. HRETITT T do58 B L0 FHITTR
BId, S-S0 93T A1k HHTHIET TRl Bldl, AR TEITAT I
Tl STd Bl hl el ATdaTse fohal TS AT ShHTER Eed ITd § ITIHTO! HUEhH
hedT ST BIcT. & ANiHed Hu-l= FUUE Felt 9 faedidl Fimer. I ggshrl
TR FRETATT SFIEITIHTAT Ad e a1 HIETRIETE! Sail & et
aral ffeea e U fafmerehs, 98 aaamuamel S1fetd d9d s fHae
A, T ST AT T €NR0TE fofier hell o e ATdTd SeiedT
TSI TR farg el 273ft arToft sheft oo s fae el (A
F ) TEAH FOATE AT T IS AT . SAqEATH AT T Ugd] & SavmE
A=A foelt, W SHTR=aT et SeHmEed @t 99 T hH shvare g
e, fata s1it 9 debd | Tearges (Rt qdar 7 smearge) wudl= ore

JREH FTel. FO FEEATOH THTEAISH STRThe eh |1ee, &I gt
T, SHTRIGR THETI0] ST STV Torall =T FgaTd el saeiiehe STTavash
AT SHA W A e el & e gafaa i, gern 4 fea S
FIGRISHTUT SIS SR ST, (HHTNEK ST SR fohal &=l
ATdaTEeR ). SHAEATM A1 I A=Al el Wy AR AW el i, gt
T TEcie] HATR e Tgd =Ta Jare, g SHaeo T I’ |

fecaTe WeNTd A T AT Sacl. ST GO FeUrSl GEATIH 2Tesaid! SIS shadl.

q9qd

31) TR Tl FETRE fHae FHoar e S gRel sfisk 2d & 7

§) G R 9Tt 7 ST e g a9 oTTE w7

%) wHmER et fram Refire gmar stavae sgaamaTr e auedH
AR 1 7

T) LA fHehHes ST ATeAid!, Jaadt & IuAIial JHed Jad e
TR 1 7
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Seat
No.

M.Com. (Semester — IV) Examination, 2013
Gr.G : ADVANCED BANKING AND FINANCE
Special-Paper — VIl : Recent Advances in Banking and Finance
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 100

Instructions : 1) Allquestions are compulsory.
2) All questions carry equal marks.

1. Explain in detail the meaning of Banking Ombudsman. Spell out some of the
provisions of the Banking Ombudsman Scheme, 2006.

OR
1. What does ‘CAMELS’ stand for ? Explain in detail each of these components.
2. Explain the technological developments in banking with reference to :
a) SWIFT

b) Anywhere banking
OR

2. What do you understand by ‘Opening up of Insurance Sector’ ? What have been
the conditions with respect to which the insurance sector was opened in India ?

3. What do you understand by ‘Reinsurance’ ? Explain the same with reference to
its types and structure.

OR
3. Explain the recent developments in Indian money market with reference to :
a) Collateralised Borrowing and Lending Obligation

b) Factoring

P.T.O.
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4. Explain the derivatives in the capital market with reference to :
a) Options
b) Futures.
OR

4. What does merger and acquisition mean ? Spell out some of the recent cases of
mergers and acquisition in banks in India.

5. Write notes on (any two) :
a) Tele and Mobile Banking
b) Inter connected stock exchanges of India
c) Repo and Reverse Repo
d) Need for merger and acquisition.

WET TR

AT : ¢) TF T Gl SHAFTH TG,
?) G T A 0T S84,
3) Gayianst g st 99 giEF TErE.

%, STl ‘STHEGHAA =1 7Y HloEdt T2 . HAfh FHIGEHH ASHT, 008 HEfid
shlal dLqal T8 .

fera

9. ‘CAMELS' < Ui &9 %1 3ATg ¢ ATciicl Td =k T A

R. SRt Befiel Tt e @Tefial STl STqaE ¥ .
3) (SWIFT) feae

¥) TfeR3w sfehT (Anywhere Banking)
feRan

2. o &ETel Gorshtol I FeTall i ALY BIAT ¢ WRAT [oHT&T GeTehiol ShivTeT
AT ST AT 3T 7
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3. QAT I TR i AU Tl ? GAGRT TR F o1 Hio T .
Toran
3. YR AESR AfcTeheiel ShIaTdiet s Wiefiet SefiT STTaE T 3.

1) e s 30130 e

q) IS

o

¥, AR iedd sSHdie S (Sfeed

[aY

o8l ) Wil STl ITTEEA T .

3) ATWHEH (Options)

9) ®I=H (Futures)
feRan

¥. Tafederr s1ifor gureq = @ ? yrd st qeiia fafersror smfor gurear=h

AT BT IETeL0] TYE .
4. 21 feteT (Tl gm) ¢

1) 2fer amfor Aremser it

) IR WER Sigaddl T N7

%) Tar i fegd T

g) faferfertor amfor uter=h T
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — IV) Examination, 2013
401 : ADVANCED DATABASE MANAGEMENT SYSTEM

Time : 3 Hours Max. Marks : 80

Instructions: i) All questions arecompulsory.
i) All questions carry equal marks.
i) Figures to the right indicate full marks.

1. Write a note on (any 4): (4x4=16)
a) Mobile databases
b) R-Trees
c) CRM
d) Path Expression
e) Extended E-R Model.

2. Attemptany four : (4%4=16)
a) What are the different types of queries that arise over spatial data ?
b) What is data transparency ? Which are the forms of data transparency ?
c) Write a note on Range-Partitioning Sort.
d) Write a note on C/S architecture.

e) What are similarities between OODBMS and ORDBMS ?

3. Attemptany four : (4%4=16)
a) Whatisdata warehouse ? Which are different components of data warehouse ?
b) Which are different components of DSS ?
c) What is XML ? Differentiate between XML & HTML.
d) Write a note on 2 phase commit protocol.

e) Differentiate between object identity Vs Foreign key.

P.T.O.
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4. Attemptany four : (4%4=16)

a) Write a note on Data Minining.
b) Define:
1) Authority Page

i) Hub Page

iii) Precision

Iv) Inverse Document Frequency.
c) How to use inverted index ?
d) What s I/O parallelism ? Explain Interquery and Intraquery parallelism.
e) Differentiate between centralized, primary copy and fully distributed system.

5. Attemptany four : (4x4=16)

a) Write a note on object.
b) Define:

1) Spatial data

i) Pointdata

lii) Point

iv) Object Id.

c) Consider the following relation
wholesaler (wno, wname, addr, city)
Perform horizontal fragmentation of above relation using following predicates

P, : Ogy = “Pune”
P,: Ogy = “Mumbai”

P, : Ggy = “Delhi".
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d) Consider the following documents prepare a vector space model for it.

docid document
1 Computer Networks
2 Advanced Networking
3 Data Everywhere
4 Advanced Database Management System
5 Relational Database Management System

e) Perform a vertical fragmentation of the project relation.
Project (pno, pname, budget, location, duration) according to following
requirements.
1) Site A requires information about pno, pname, budget of project
if) Site B requires information about location and duration of project.

B/1/13/1,355
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — IV) Examination, 2013
403 : WEB ENABLING SYSTEMS AND BUSINESS APPLICATIONS

Time : 3 Hours Max. Marks : 80

Instructions : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.
3) All questions carry equal marks.
4) Assume suitable data ifnecessary.
1. Attemptany four :
a) Give difference between 2-tier and n-tier architecture.
b) Explain J2EE architecture.

c) Whatis the role of bean developing web based application ?

d) Is XML used as a data storage medium (Y/N) ? Justify your answer.

e) Explain custom action.

2. Attemptany four :
a) What is Design Pattern ? How it is used in E-business ?
b) Explain role of XML in web application development.
c) Write steps for client server communication using servlet.
d) How Model View Controller (MVC) is participation in e-business ?
e) Explain use of factory pattern in web development.

3. Attemptany four :
a) Whatis JSP ? Explain its features.
b) What is Session ? Explain its use in Servlet.
c) How Database Connection is achieved in Java ?
d) Explain current limitations of XML.
e) How Mediator pattern is used for security purpose ?

(4x4=16)

(4x4=16)

(4x4=16)

P.T.O.
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4. Attempt any four : (4%4=16)
a) Write a note on scripting elements.
b) Explain servelt life cycle.
c) Why thread and integrity property is important in web application ?
d) “JavaBean is a bundle of data and logic” justify.
e) Listand explain JDBC Components.
5. Attempt any four : (4%4=16)

a) Write a JDBC Program to accept percentage of student as a command line
argument and display records less than the given percentage.

b) Write HTML page to accept login information from user and check for invalid
user using servlet.

c) Write a program using jsp to display Fibonacci series of a given number.
d) Create a XML Document that stores information of Employee.

e) Write a JDBC program to select the students who got less than 40 percentage
from student table(rno, name, per) and store those records in Backlog
(rno, name, per) table.

B/1/13/1,520
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Seat
No.

M.C.A. (Commerce Faculty) (Semester — IV) Examination, 2013
405 : CLIENT/SERVER TECHNOLOGY

Time : 3 Hours Max. Marks : 80

1. Attemptany four: (4x4=16)
a) What are the different types of server ? Explain.
b) Explain the advantages and disadvantages of LAN and WAN.
c) Write a short note on Document Object Model (DOM).
d) Give the advantages and disadvantages of personal web server.
e) What is ASP ? Explain the advantages of ASP.

2. Attempt any four : (4x4=16)
a) Explain client/server for small shops and departments.
b) Explain Blue Tooth Architecture.
c) Write a short note on 3-tier architecture. Explain with example.
d) Explain middle ware building block.
e) Difference between client-side scripting and server side scripting.

3. Attemptany four : (4%4=16)
a) Write a Java script to find perfect number for n terms (using recursive function).
b) Write a program using ASP to display following output :
1
2 2
3 3 3 3
4 4 4 4 4 4

P.T.O.
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c) Write a Java script to sort the names in alphabetical order.

d) Write using ASP script to display following using POST method.

vsey TnFtormotorn

Nawme : - |
Me o - | f
Gender ) - ® male

& Felnale

et ]

—

e) Write a Java script program to calculate max, min, sum and avg. of number

in an array.

4. Attempt any four :

a) What are the different Global. as a event ? Explain.
b) Write a short note on ADO (Active X. Data Object).
¢) Explain string library functions in Java Script.

d) Write a short note on virtual circuits.

e) What do you mean by protocol match maker ?

5. Attemptany four :

a) Explain characteristic of client/server system.

b) What is Bridge ? Explain advantages and disadvantages.

c) Write a short note on stack sandwich.

d) Explain fat server and fat clients.

(4x4=16)

(4x4=16)

B/1/13/1,505
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